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     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.
CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.
D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.
IŠL S\Lh|°¥¨OU D¾qU IuOfeU.
KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk
S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.
We V̈  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤¾RÐ
DºLp]q]¨eU.
Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.
S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.
SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Write the names of any four

devices used in various fields of

application of electronics.

2. A resistance is given with the

following colour code.

Yellow, Violet, Orange and

Gold.

a) Find its value.

b) What is the range in which

its resistance varies?

3. a) Discuss the difference

between ideal and practical

voltage sources.

b) The internal resistance of an

ideal voltage source is .........

i) 0

ii) ∞

iii) 1Ω

iv) 1000Ω

4. A sine wave is represented by

the equation

( )3 05 628 10 30Sin tυ = × + . Find

the peak voltage, r.m.s. voltage,

time period and phase of this

signal.

1. CsWVSNaLe]WVy]Rs v|f|yVf

SoXsWt]¤ DkSpLY]¨OÐ

JRfË]sOU jLsV DkWqe°tORa

SkRquOfOW.

2. fLRu fÐ]q]¨OÐ Wt¡ SWLScLaO

WPa]p ry]ð¢yORºÐV WqOfOW.

o´, vpsãV, KLrµV, SYL¥cV.

a) Af]R£ vLs|O WºOk]a]¨OW.

b) CT ry]ð¢y]Rs vLs|O oLrL¢

yLi|fpOtt kq]i] INf?

3. a) RIc]p¤ SvL¥SŸ^V SyLuVyOU

NkLWVa]¨¤ SvL¥SŸ V̂ SyLuVyOU

fÚ]sOtt v|f|Ly°¥

IuOfOW.

b) KqO RIc]p¤ SvL¥SŸ^V

SyLuVy]R£ CS£e¤

ry]ð¢yV .................... BeV.

i) 0

ii) ∞

iii) 1Ω

iv) 1000Ω

4. KqO RRy¢ Svv]Rj

( )3 05 628 10 30Sin tυ = × +  IÐ

yovLW|U RWLºV Nkf]j]i}Wq]\ÿ]

q]¨OÐO. Cf]R£ k}¨V SvL¥SŸ^V,

r.m.s SvL¥SŸ^V, RRaU k}q]pcV,

SlyV IÐ]v WºOk]a]¨OW.

(2)

(1)

(2)

(2)

(2)

(4)

(2)

(1)

(2)

(2)

(2)

(4)
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5. The concept of energy band is
used to classify materials.

a) What is the bandgap energy
of insulators?

b) Draw the energy band
diagram of metals.

c) Free electrons are found in
.......... band.

6. Give the names of two p-type

dopants.

7. When a PN junction is forward

biased, the barrier potential

decides the voltage at which

junction conducts.

a) Write the values of barrier

potential for silicon and

germanium diodes.

b) What is the barrier potential

of an ideal diode?

8. In the following circuit, find the

voltage drop accross the resistor

R.

5. Ij¡^] mL¢cV IÐ BwpU

DkSpLY]\ÿV Roã}q]psOWRt fqU

f]q]¨LU?

a) C¢yOSsã¡y]R£ mL¢cV Y|LkV

Ij¡^] INf?

b) Roã¤y]R£ Ij¡^] mL¢cV

cpNYU vq¨OW.

c) Nl} CsWVSNaLeOW¥.............

mL¢c]¤ WLeRÕaOÐO.

6. qºV k]&RRaÕV ScLÕ£OWtORa

SkRquOfOW.

7. KqO PN ^UYVx¢ SlL¡SvcV mpyV

R\pVfL¤ INf SvL¥SŸ^]¤ Wr£V

WºWVaV R\áeRoÐV

f}qOoLj]¨OÐfV mLq]p¡

RkLŸ¢x|¤ BeV.

a) y]s]¨¦, R^¡SÚj]pU

cSpLcOWtORa mLq]p¡

RkLŸ¢x|¤ INf?

b) KqO RIc]p¤ cSpLc]R£

mLq]p¡ RkLŸ¢x|¤ INf?

8. fLRu RWLaO¾]q]¨OÐ y¡¨|PŸ]¤

R IÐ Rry]ðr]Rs SvL¥SŸ^V

SNcLÕV WºOk]a]¨OW.(2)

(1)

(1)

(1)

(1)

(1)

(1)

(2)

(1)

(1)

(1)

(1)

(1)

(1)
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9. Draw the forward and reverse

characteristic of an ideal diode.

10. A transistor is a special

electronic component used in

various applications.

a) Name the three regions of a

transistor.

b) Which region is doped

maximum?

c) Which region is largest in

size?

d) Write two applications of a

transistor.

11. Among the three configurations

of a transistor. CE configuration

is preferred for amplification.

Why?

12. Draw the symbols of the

following components.

a) NPN transistor

b) FET

c) LDR

d) SCR

(1)

(2)

9. KqO RIc]p¤ cSpLc]R£

SlL¡SvcV, r]SvuVyV

W|LqWVar]ð]¨OW¥ vq¨OW.

10. CsWVSNaLe]WVy]Rs v]v]i

Bvw|°¥¨Lp] NaL¢y]ð¡

DkSpLY]¨OÐO.

a) KqO NaL¢y]ðr]R£ oPÐV

nLY°¥ Jv?

b) JãvOU WPaOfsLp] ScLÕV

R\áRÕŸ nLYU JfV?

c) JãvOU vsOÕU WPa]p nLYU

JfV?

d) NaL¢y]ðr]R£ qºV

DkSpLY°¥ IuOfOW.

11. NaL¢y]ðr]R£ oPÐV

SWL¦l]YSrxjOWt]¤ v\ÿV, CE

SWL¦l]YSrxjLeV BUkæ]l]S¨&

xjO Svº] DkSpLY]¨OÐfV. IÍV

RWLºV?

12. fLRu RWLaO¾]ŸOttvpORa y]Um¤

vq¨OW.

a) NPN transistor

b) FET

c) LDR

d) SCR

(1)

(1)

(1)

(2)

(2)

(1)

(2)

(1)

(1)

(1)

(2)

(2)
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13. Match the following.

Device Application

TRIAC Light Detection

LDR Temperature measuring

LED Motor speed control

Thermistor Electricity to light
conversion

14. A rectifier circuit is used to

convert AC to DC.

a) Which component is the

main part of a rectifier?

b) Why a step down

transformer is used in

rectifier circuits?

c) A large value capacitor is

connected at the output of a

rectifier. Why?

15. The maximum efficiency of a full

wave rectifier is ...........

a) 40.6%

b) 81.2%

c) 50%

d) 100%

(1)

13. S\qOUka] S\¡¨OW.

DkWqeU DkSpLYU

TRIAC RRsãV c]ãWVx¢

LDR fLkU At¨¤

LED SoLSŸL¡ yVk}cV W¦SNaL¥

Rf¡o]ð¡ CsWVNa]y]ã]Rp RRsãL¨]

oLã¤

14. AC Rp DC pL¨OÐf]jLp]

RrWVa]lp¡ y¡W|PŸV

DkSpLY]¨OÐO.

a) RrWVa]lpr]Rs NkiLjRÕŸ

WSÒLe£V JfLeV?

b) KqO RrWVa]lpr]¤ RðÕV cT¦

NaL¢yVSlL¡o¡ DkSpLY]¨O

ÐfV IÍ]jV?

c) RrWVa]lpr]R£ KTŸVkOŸ]¤

vs]p vLs|P Dtt WÕLy]ã¡

WeWVaV R\áOÐRfÍ]jV?

15. KqO lO¥SvvV RrWVa]lpr]R£

JãvOU WPa]p Il]x|¢y] ...............

BeV.

a) 40.6%

b) 81.2%

c) 50%

d) 100%
(1)

(2)

(2)

(2)

(1)

(1)

(2)

(2)

(2)
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16. Amplifier is used to increase the

signal level to a desired value.

a) Define the gain of an

amplifier.

b) A signal 2 100Sin tπ is given

to the input of an amplifier

with gain 50. Write the

equation of the output signal.

c) If two amplifiers of gain 30

and 20 are cascaded, what is

the overall gain?

17. Which component in the
amplifier circuit prevents
thermal runaway?

a) EC b) CC

c) ER d) CR

18. Oscillator circuits are used to

generate carrier signals in

transmitters.

a) Give two examples for

transmitters where

oscillators are used.

b) Draw the waveforms of

damped and undamped

oscillations.

c) What is the reason for

damped oscillations?

(1)

(2)

(1)

16. KqO y]YVjs]R£ AtvV

AjOSpL^|oLp vLs|Ov]Ss¨V

Dp¡¾OÐf]jLeV BUkæ]lp¡

DkSpLY]¨OÐfV.

a) KqO BUkæ]lpr]R£ RYp]¢

IÐL¤ IÍV?

b) RYp]¤ 50 Dtt KqO

BUkæ]lpr]R£ C¢kOŸ]¤

2 100Sin tπ  IÐ y]YVj¤

RWLaO¾L¤ KTŸVkOŸ]¤ W]ŸOÐ

y]YVjs]R£ yovLW|U IÍV?

c) 30, 20 IÐ]°Rj RYp]jOtt

qºV BUkæ]lprOW¥ S\¡¾O

v\ÿL¤ BRW RYp]¢ INf?

17. KqO BUkæ]lp¡ y¡¨|PŸ]¤ Rf¡o¤

r¦ISv fapOÐ WSÒLe£V JfV?

a) EC b) CC

c) ER d) CR

18. NaL¢yVo]ãrOWt]¤ WLq]p¡ y]YVj¤

DºL¨OÐf]jLp] KLy]Ssã¡

DkSpLY]¨LrOºV.

a) KLy]Ssã¡ DkSpLYRÕaO¾OÐ

NaL¢yVo]ãrOW¥¨V qºV

DhLzqeRouOfOW.

b) cLÒVcV, A¦cLÒVcV

KLy]Ssx¢y]R£ SvvVSlLUyV

vq¨OW.

c) cLÒVcV KLy]Ssx¢

DºLWOÐf]R£ WLqeRoÍV?

(1)

(2)

(1)

(1)

(1)

(2)

(1)

(1)

(2)

(1)

(1)
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19. An oscillator uses ......... feedback.

20. For an oscillator, phase shift

around the loop is ............

a) 900

b) 1800

c) 3600

d) 2700

21. Every number system has a

particular base.

a) What is the base of

hexadecimal number system?

b) Find the decimal value of

(231)4.

(Hint : Assume there is a

number system with base 4)

22. Do the following number

conversion.

a) (34)10 = (...........)2

b) (10110)2 = (.........)10

(1)

(2)

(1)

19. KqO KLy]Ssã¡ ................ l}cVmL V̈

DkSpLY]¨OÐO.

20. KqO KLy]Ssãr]R£ sPÕ]R£ BRW

SlyV x]lVaV ............... BeV.

a) 900

b) 1800

c) 3600

d) 2700

21. IsæL jÒ¡ y]ð°¥¨OU KqO SmyV

DºLp]q]¨OU.

a) RzWVyLRcy]o¤ jÒ¡

y]ð¾]R£ SmyV INf?

b) (231)4 IÐ jÒr]R£ Rcy]o¤

vLs|O INf?

(yP\j : 4 SmyOtt jÒ¡

y]ðU DRºÐV WqOfOW.)

22. fLRu RWLaO¾]q]¨OÐ jÒ¡

W¦Sv¡x¢ R\áOW.

a) (34)10 = (...........)2

b) (10110)2 = (.........)10

(1)

(2)

(2)

(1)

(2)

(1)

(1)

(2)

(2)
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23. fLRu RWLaO¾]ŸOttvp]¤ JfV

DkWqeoLeV KqO y]YVjs]R£ SlyV

At¨L¢ DkSpLY]¨OÐfV?

a) SvL¥ŸVo}ã¡

b) AÚ}ã¡

c) o¥Ÿ]o}ã¡

d) CRO

24. KqO y]YVjs]R£ v|f|yVf AtvOW¥

WºOk]a]¨L¢ CRO

DkSpLY]¨LvOÐfLeV. Af]¤

Nl}W~¢y] WºOk]a]¨OÐRf°Rj?

23. Which one of the following

instruments is used to measure

the phase of a signal?

a) Voltmeter

b) Ammeter

c) Multimeter

d) CRO

24. CRO can be used to measure the

various quantities of a signal.

How can frequency be

measured?

(1)

(2)

(1)

(2)
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1. Draw the symbols of photodiode,

N channel DEMOSFET, DIAC

and padder.

2. Find R in the following circuit.

3. a) Forbidden energy gap of ge

is ............

i) 1.12 eV

ii) 0.72 eV

iii) 0.63 eV

iv) 1.30 eV

b) Draw the representation of

an ideal current source. Give

the value of its internal

resistance.

4. Find the value of I from the

following figure.

1. SlLSŸLcSpLcV, I¢ \Lj¤ c].C.

SoLyV IlV.C.ã], cpLWV, kLc¡

CvpORa y]ÒsOW¥ vq¨OW.

2. fLRu RWLaO¾]q]¨OÐ y¡W|PŸ]Rs

R INfRpÐV WRº¾OW.

3. a) ge pORa SlL¡m]c¢ Ij¡^]

YLkV .................. BeV.

i) 1.12 eV

ii) 0.72eV

iii) 0.63 eV

iv) 1.30 eV

b) KqO RIc]p¤ Wr£V SyLuVyV

vq¨OW. Cf]R£ CS£e¤

Rry]ð¢y]R£ vLs|P IuOfOW.

4. fÐ]q]¨OÐ \]Nf¾]Rs I–pORa

vLs|P WºOk]a]¨OW.

(2)

(1)

(2)

(2)

(2)

(2)

(1)

(2)

(2)

(2)



Turn OverK-842 3

624

5. A 15 kHz sine wave signal is

mixing with a 120 MHz signal.

After mixing, the frequency is

developed as 119.7 MHz to

120.3 MHz. Identify the type of

modulation and find the

modulation index.

6. a) Draw the structure of

P-channel JFET.

b) Give one application of LED,

zener diode, photo diode and

TRIAC.

7. a) Draw the output

characteristics of NPN

transistor in CB

configuration and mark the

important regions of

operation.

b) β  of a transistor is ............

i) C

B

I
I ii) B

C

I
I

iii) E

C

I
I iv)

C

E

I
I (1)

5. 15 kHz  RRy¢SvvV y]YVjsOU 120

MHz y]YVjsOoLp] o]WVyO

R\pVf]q]¨OÐO. o]WVy]UYV

Wu]´SÕL¥ Nl}W~¢y]

119.7 MHz oOf¤ 120.3 MHz

vRqpLp] oLr]. SoLcOSsx¢ JfO

fq¾]sOttfLReÐOU SoLcOSsx¢

C¢cWVyV INfRpÐOU IuOfOW.

6. a) k].\Lj¤ R^.IlV.C.a]. pORa

yVNaWV\¡ vq¨OW.

b) I¤.C.c]. y]j¡ cSpLcV,

SlLSŸL cSpLcV, NapLWV

CvpORa KLSqL DkSpLYU v}fU

IuOfOW.

7. a) y].m] SWL¦l]YSrxj]¤

Za]Õ]\ÿ]q]¨OÐ KqO

I¢.k].I¢ NaL¢y]ðr]R£

KTŸVkOŸV W|LqWVar]ð]WVyV vq\ÿV

Af]¤ NkiLjRÕŸ KLÕSrx¢

r}^]pjOW¥ AapLtRÕaO¾OW.

b) KqO NaL¢y]ðr]R£ β  ................

BeV.

i) C

B

I
I ii)

B

C

I
I

iii) E

C

I
I iv)

C

E

I
I

(2)

(2)

(2)

(2)

(1)

(2)

(2)

(2)

(2)
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b) Pick up the passive

component from the given

list.

i) LED

ii) SCR

iii) MOSFET

iv) Preset

10. Explain the need for

modulation.

8. Match the following table.

Brown, Black, Gold 39 MΩ

Violet, Green, Red 10Ω

Orange, White, Blue 7.5KΩ

9. a) Give the effective values of

each circuit given below.

8. fLRu RWLaO¾]q]¨OÐ Sãm]t]Rj

S\qOUka] S\¡¨OW.

Brown, Black, Gold 39 MΩ

Violet, Green, Red 10Ω

Orange, White, Blue 7.5KΩ

9. a) fLRu RWLaO¾]q]¨OÐ

y¡W|PŸOWtORa KLSqLÐ]R£pOU

IlWVa}vV vLs|PyV IuOfOW.

(3)

(1)

b) fLRu RWLaO¾]q]¨OÐ s]ð]¤

j]ÐOU kLô}vV WSÒLe£V

f]qR´aO¨OW.

i) I¤.C.c]

ii) IyV.y].B¡

iii) SoLyV IlV.C.ã]

iv) Nk}RyãV

10. SoLcOSsxR£ Bvw|Wf

v]vq]¨OW.

(3)

(3)

(3)

(1)

(3)

(3)

(a) (b) (c)
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11. a) In a CRT .......... produces

electron beam.

 i) electron gun

ii) screen

iii) accelerating anode

iv) focusing anode

b) Draw the block diagram of a

CRO.

12. Give the difference between

zener break down and avelanche

break down.

13. a) The process of raising the

strength of a weak signal

without any change in the

signal shape is known as ....

i) Rectification

ii) Oscillation

iii) Amplification

iv) Regulation

b) Draw such a circuit to raise

the 1V, 1kHz sine wave

signal to 10V, 1kHz  sine

wave signal.

11. a) KqO y].B¡.a]. p]¤ CsWVSNaL¦

m]U DºL¨OÐfV ............... BeV.

 i) electron gun

ii) screen

iii) accelerating anode

iv) focusing anode

b) KqO y].B¡.KL pORa SmæL¨V

cpNYU vq¨OW.

12. y]j¡ RNmp]WV cTe]R£pOU

AvsLµV RNmp]WV cTe]R£pOU

v|f|Ly°¥ IuOfOW.

13. a) y]YVjs]R£ BWQf]¨O

v|f|LyU vqO¾LRf KqO

R\r]p y]YVjs]R£ wWVf]

v¡È]Õ]¨OvL¢ Dtt

Nkv¡¾joLeV .....................

i) RrWVa]l]S¨x¢

ii) KLy]Ssx¢

iii) BUkæ]l]S¨x¢

iv) RrYOSsx¢

b) 1V, 1kHz RRy¢SvvV, 10V,

1kHz RRy¢ SvvV B¨]

oLãLjOtt KqO y¡W|PŸV vq¨OW.(3)

(1)

(3)

(3)

(1)

(3)

(1)

(3)

(3)

(1)
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14. Draw the tank circuit of the

following oscillators.

a) RC phase shift

b) Colpitts

c) Hartley

15. An ammeter has full scale

deflection current 1mA and

internal resistance 100Ω . How

can you use this meter to

measure 100mA and 1A?

OR

Draw the block diagram of a

digital multimeter.

16. Compare the different rectifier

circuits.

OR

Draw the circuit diagram of a

centre tapped full wave rectifier

and explain its working.

17. Explain a forward biased PN

junction with necessary

diagrams.

14. fLRu krpOÐ KLy]SsãrOWtORa

ãLËV y¡W|PŸOW¥ vq¨OW.

a) B¡.y]. Rlp]yV x]lVãV

b) SWL¥k]ãVyV

c) zL¡ŸVs]

15. KqO AÚ}ãr]jV lO¥ yVRWp]¤

c]lVtWVx¢ Wr£V 1mA pOU

CS£e¤ ry]ð¢yV 100Ω  DU BeV.

CT o}ãr]Rj 100mA pOU 1A pOU

At¨LjLp] I°Rj

DkSpLY]¨LU?

ARsæË]¤

KqO c]^]ã¤ o¥Ÿ]o}ãr]R£ SmæL¨V

cpNYU vq¨OW.

16. ksfqU RrWVa]lp¡ y¡W|PŸOWRt

fLqfo|U R\áOW.

ARsæË]¤

KqO Ry£¡ ãLkVcV lO¥ SvvV

RrWVa]lp¡ y¡W|PŸV vq¨OWpOU

Af]R£ Nkv¡¾jU v]vq]¨OWpOU

R\áOW.

17. KqO SlL¡SvcV mpLyVcV k].I¢

^UYVxR£ Nkv¡¾jU Bvw|oOtt

\]Nf°¥ yz]fU v]vq]¨OW.

(3)

(4)

(4)

(4)

(5)

(4)

(3)

(4)

(4)

(4)

(5)

(4)
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18. a) The unregulated input

voltage to a 7812 IC should

be at least ........

i) 10V

ii) 12V

iii) 6V

iv) 14V

b) The circuit given below is .....

i) π filter

ii) series inductor filter

iii) half wave rectifier

iv) power supply

19. Point out the features of a

class-B power amplifier.

18. a) KqO 7812 IC pORa A¦

RrYOSsãcV C¢kOŸV SvL¥SŸ^V

.................... IË]sOU Bp]q]¨eU.

i) 10V

ii) 12V

iii) 6V

iv) 14V

b) fLRu WLe]\ÿ]q]¨OÐ y¡W|PŸV

............ BeV.

i) π l]¤Ÿ¡

ii) y}q}yV C¢cWVa¡ l]¤Ÿ¡

iii) zLlVSvvV RrWVa]lp¡

iv) kv¡ yRRkæ

19. class-B kv¡ BUkæ]lpr]R£

l}\ÿrOW¥ IuOfOW.

(1)

(3)

(1)

(1)

(3)

(1)
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      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from the
same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU. CT
yop¾V S\Lh|°¥¨V D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.
D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.
IŠL S\Lh|°¥¨OU D¾qU IuOfeU. CS£e¤ S\LpVyV oLNfSo
AjOvh]¨OWpOçO.
KqO  S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk
S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.
We V̈ WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q SkÕr]¤¾RÐ
DºLp]q]¨eU.
S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.
SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Choose the CORRECT answer

from the alternatives given

below.

a) The heart of Roman Empire.

i) Red Sea

ii) Black Sea

iii) Mediterranean Sea

iv) Atlantic Ocean

b) Who created Constantinople

as the second capital of

Roman Empire?

i) Constantine

ii) Diocletian

iii) Justinian

iv) Augustus

c) Who was the First Caliph?

i) Uthman

ii) Abu Bakr

iii) Ali

iv) Muawiya

d) Tahqiq ma lil- Hind (History

of India) was written by .....

i) Al Biruni

ii) Baladhuri

iii) Tabari

iv) Ibn Nadim

1. \OvRa fÐ]q]¨OÐvp]¤ j]ÐOU

wq] D¾qU RfqR´aOR¾uOfOW.

a) SrLoL yLNoL^|¾]R£ zQhpU?

i) R\Ëa¤

ii) Wq]Ëa¤

iii) Roc]ãSrj]p¢ Wa¤

iv) AãVsL£]WV yoONhU

b) SWL¦ðL£]SjLÕ]t]Rj SrLoL

yLNoL^|¾]R£ qºLU

fsòLjoL¨]p nqeLi]WLq]?

i) SWL¦ðRR£¢

ii) cSpLWæ}x|¢

iii) ^ð}j]p¢

iv) AYðyV

c) Bh|R¾ Xs}l BqLp]qOÐO?

i) DyÜL¢

ii) AmO m¨¡

iii) As]

iv) oOBv]p

d) fLz]W]WV oL s]¤ z]ÎV (z]ðr]

KLlV C¢c|) IuOf]pfLqV?

i) A¤ m]rOe]

ii) msLiOq]

iii) fmLq]

iv) Cm¢ jh}U

(4)
(4)
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2. Find the relationship between

the two parts of item 'A' and fill

in the blanks of item 'B '

accordingly.

 i) A) Taille : Tax imposed on

peasants by

kings

B) Tithe : .........................

 ii) A) Monks : Churchmen who

live isolated

B) Friars : .........................

 iii) A) Yam : Courier System

B) Yasa : .........................

 iv) A) Qubur Tax : Tax paid for

courier service

B) Baj Tax : .........................

2. \OvRa fÐ]ŸOttf]¤ A

v]nLY¾]Rs qºV ZaW°¥

fÚ]sOtt mÌU ojy]sL¨]

AfOSkLRs B v]nLYU kPq]Õ]¨OW.

i) A) RapVs] : W¡xWq]¤j]ÐOU

qL^LvV CTaL¨]&

p]qOÐ j]WOf]

B) RRahV : .......................................

ii) A) oËVyV : JWLÍ ^}v]fU

AjOxVb]\ÿ yj|Ly]&

oL¡

B) NlSpuVyV : .................................

iii) A) pLU : RWLr]p¡

yUv]iLjU

B) pLy : .................................

iv) A) W|OmVW¡ aLWõV : S W L r ] p ¡

y U v ] i L j ¾ ] j V

j¤W]p]qOÐ j]WOf]

B) mL^V aLWõV : .................................

(4) (4)
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3. Match column A with correct

answers from column B. (4)
3. A SWLt¾]jV S\qOÐ wq]D¾qU B

SWLt¾]¤ j]ÐOU RfqR´aO¾V

IuOfOW.

(4)

(4)

(4)

4. Arrange in chronological order.. Long March. Russo-Japanese war. People's Republic of China

established. Death of Sun Yat-sen

5. Mark the following places in the

outline map provided.

a) Mecca

b) Medina

c) Constantinople

d) Cairo

A B

a) The Great Australian Silence Captain Cook

h] SNYãV ByVSNas]p¢ RRys¢yV W|LkVã¢ WO¨V

b) Australia Mao Zedong

ByVSNas]p oLSvL SyfP‚V

c) The Meiji Restoration W.E.H. Stanner

RopV^] kOjòLkjU W.E.H. ðLj¡

d) Chinese Communist party End of Shogunate

RR\j}yV Wo|Pe]ðV kL¡Ÿ] SxLYSeã]R£ AÍ|U

4. WLsYejL NWo¾]¤ IuOfOW.. SsLUYV oL¡\ÿV. rx|&^ÕL¢ pOÈU. ^jW}p RR\j}yV r]ÕmVt]¨V

òLk]\ÿO. y¦ pLfV Ry¢ AÍq]\ÿO

5. fÐ]ŸOtt SsLW nPkaSqXp]¤

fLRukrpOÐv SqXRÕaO¾OW.

a) Ro¨

b) Roh}j

c) SWL¦ðL£]SjLÕ]¥

d) RWpVSrL

(4)

(4)
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6. Distinguish between the

Replacement model and

Regional Continuity Model of

human evolution.

7. Mention any four economic

activities organized by the

Mesopotamian temples.

8. "None of these momentous

Mesopotamian achievements

would have been possible

without writting". Based on this

statement, prepare a seminar

paper on 'the development of

writing system in ancient

Mesopotamia'.

Areas to be considered :. Development of writing. The system of writing. Literacy. The uses of writing

OR

Analyze the progress of early

humans with special reference

to 'ways of obtaining food,

shelter, tool making, language

and art'.

(4)

6. ojOx|R£ D¤k¾]Rp yUmÌ]\ÿ

JSWL¤k¾] oLfQWpOU NkLShw]W

fOa¡\ÿL oLfQWpOU fLqfo|U

R\áOW.

7. RoyRkLSŸo]p¢ SƒNf°¥

yUZa]Õ]\ÿ]qOÐ JRfË]sOU 4
yLÒ¾]W Nkv¡¾j°¥

IuOfOW.

8. ""IuO¾O v]h|pORa AnLv¾]¤

CNfpOU o]W\ÿ SjŸ°¥

RoyRkLSŸo]p¨L¡ V̈ AyLi|oLWO

oLp]qOÐO.'' CT NkyVfLvjpORa

Aa]òLj¾]¤ "kOqLfj

RoyRkLSŸo]p]Rs IuO¾O

v]h|pORa v]WLyU' IÐ

v]xp¾]¤ KqO Ryo]jL¡ SkÕ¡

fáLrL¨OW.

kq]Ye]S¨º SoXsW¥:&.IuO¾Ov]h|pORa v]WLyU.IuO¾V q}f].yLƒqf.IuO¾O v]h|pORa DkSpLY°¥

ARsæË]¤

nƒe yÒLhj q}f], fLoy

òs°¥, BpOi j]¡ÚLeU,

nLxpOU WspOU IÐ} SoXsW¥¨V

DTÐ¤ j¤W] BiOj]W ojOx|R£

vt¡\ÿpORa ZŸ°¥ v]sp]qO¾OW.

(2)

(8)

(8)

(4)

(2)

(8)

(8)
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9. 'Slavery was an institution

deeply rooted in Ancient Roman

World'. Do you think that

controlling of workers was the

factor behind the economic

prosperity of the empire? Why?

10. Analyze the contribution of

Muslim world to the methods of

payment and business

organizations.

11. Explain briefly about the social,

political and military

organizations under Genghis

Khan.

12. Explain the concept of a 'Fourth

Order'.

13. Explain the role of Universities

in developing Humanism.

14. What do you mean by Protestant

Reformation? Explain.

9. "Bh]o SrLoL yLNoL^|¾]¤

Bu¾]¤ SvSqLa]p KqO

òLkjoLp]qOÐO Aa]o¾U' SrLoL

yLNoL^|¾]R£ yLÒ¾]W

kOSqLYf]¨a]òLjU RfLu]sLt]

WRt j]pNÍ]¨sLReÐV j]°¥

WqOfOÐOSºL? IÍORWLºV.

10. oOyæ}U SsLWU keoa¨OÐf]jOtt

q}f]WtOSapOU vLe]^|

yUZajWtORapOU qUY¾V j¤W]p

yUnLvjW¥ v]wWsjU R\áOW.

11. R\Ë]yV XLjO W}u]Rs yLoPz]W &

qLxVNa}p & RRyj]W yUv]iLjR¾

WOr]\ÿV \OqO¨] v]vq]¨OW.

12. "KqO jLsLU NWoU' IÐ yËs×U

v]whoL¨OW.

13. oLjv]WfpORa vt¡\ÿ¨V

pPe]SvuVy]ã]W¥ vz]\ÿ kËV

v]vq]¨OW.

14. "RNkLŸð£V ofjv}Wqe NkyVfLjU'

IÐfORWLºV j]°¥ IÍLeV

A¡ÀoL¨OÐfV? v]vq]¨OW.

(5)

(4)

(5)

(4)

(4)

(3)

(5)

(4)

(5)

(4)

(4)

(3)
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15. What were the aims behind the

geographical explorations?

16. Examine the role played by

Canals and Railway in the

spread of Industrial Revolution.

17. What is Renaissance? Analyze

its chief features by considering

the following areas..Humanism. Impacts on Science and

Philosophy. Art and Architecture. Astronomy. Literature

OR

Examine the major discoveries

and changes in the fields of Coal

and Iron Industry, Cotton Textile

and Steam Power. Analyze how

they helped the Industrial

Revolution.

15. nPo]wLyVNfkqoLp kq]Svxe

pLNfWtORa k]Ð]Rs sƒ|°¥

IRÍsæLoLp]qOÐO.

16. v|LvyLp]W v]kævU

f~q]fRÕaO¾OÐf]¤ WjLsOWtOU

Rrp]¤SvpOU vz]\ÿ kËV

kq]SwLi]¨OW.

17. jSvLÀLjU IÐL¤ IÍV? fLRu

krpOÐ SoXsW¥

kq]Ye]\ÿORWLºV jSvLÀLj

NkyVfLj¾]R£ NkiLj

yv]SwxfW¥ v]wWsjU R\áOW.. oLjv]Wf. jSvLÀLj wLyVNfvOU

ff~\]ÍpOU.WsL&vLyVfO v]h|. S^|Lf]wLyVNfU.yLz]f|U

ARsæË]¤

W¤¨q]&CqOÒO v|vyLpU, kqO¾]

v|vyLpU, Bv]w©] IÐ}

SoXsWt]Rs NkiLj

WºOk]aO¾°tOU oLã°tOU

kq]SwLi]¨OW. Av I°Rj

v|LvyLp]W v]kævR¾

yzLp]\ÿO IÐV v]wWsjU

R\áOW.

(3)

(8)

(4)

(8)

(3)

(8)

(4)

(8)
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18. "To the natives of America goods

they exchanged were gifts; but

to the Europeans they were

mere commodities". Based on

this statement, analyze the

attitude of two people.

19. Point out any two principles of

Dr. Sun Yat-sen.

20. Define Counter Reformation.

18. "fSÇw}pqLp ASoq]¨¨L¡¨V

Av¡ RRWoLr]p vyVfO¨¥

yTzQh yÚLj°tLp]qOÐO.

IÐL¤ pPSrLk|ÓL¡¨V Av

RvrOU \q¨OWtLp]qOÐO'. CT

NkyVfLvjpORa Aa]òLj¾]¤

qºO ^jfWtORapOU oSjLnLvU

v]sp]qO¾OW.

19. ScLWVa¡ y¦pLfV RyÐ]R£

JRfË]sOU qºV ff~°¥ IuOfOW.

20. " Nkf]ofjv}Wqe NkyVfLjU'

IRÍÐV j]¡vÿ\]¨OW.

(2)

(2)

(2)

(2)

(2)

(2)
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      General Instructions to Candidates :

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from the
same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
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Give equations wherever necessary.
Electronic devices except nonprogrammable calculators are not allowed in the
Examination Hall.

     j]¡SÇw°¥:
j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU. CT
yop¾V S\Lh|°¥¨V D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.
D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.
IŠL S\Lh|°¥¨OU D¾qU IuOfeU. CS£e¤ S\LpVyV oLNfSo
AjOvh]¨OWpOçO.
KqO  S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk S\Lh|°tOU
ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.
We V̈ WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q SkÕr]¤¾RÐ
DºLp]q]¨eU.
Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.
S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.
SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Worker population ratio is ........

a) Population / Worker

b) Worker / Population

c) Population / Worker × 100

d) Worker / Population × 100

2. List any four effects which 'the
miracle seeds' created in the
Indian agriculture.

3. For a class room discussion
Ashna collected the following
information about present India.

a) Infant mortality rate – 45

b) Life expectancy – 66.4

c) Overall literacy level – 74.04

Compare them with the British
period and comment.

4. Demographic data on birth and
death rates in India are collected
and published by ...........

a) RGI

b) NSSO

c) CSO

d) Labour Bureau

5. Distinguish between bar
diagram and histogram.

(Hint : Not to draw diagrams)

(2)

1. RfLu]sLt]&^jyUX| AjOkLfU

IÐfV ........... .

a) ^jyUX|/RfLu]sLt]

b) RfLu]sLt]/^jyUX|

c) ^jyUX|/RfLu]sLt] × 100

d) RfLu]sLt]/^jyUX| × 100

2. CÍ|pORa WL¡x]WSoXsp]¤

"AfVnOf v]¾OW¥' yQxVa]\ÿ

JRfË]sOU jLsV ls°¥ IuOfOW.

3. WæyV oOr]p]Rs \¡\ÿ¨Lp] BxVj

j]sv]Rs CÍ|Rp yUmÌ]\ÿ fLRu

krpOÐ v]vq°¥ SwXq]\ÿO.

a) w]wOoqe j]q¨V – 45

b) BpP¡ RRh¡Z|U – 66.4

c) RoL¾U yLƒqf j]q V̈ & 74.04
CvRp Nm]Ÿ}xV WLsZŸvOoLp]

fLqfo|U R\pVfV j]°tORa

An]NkLpU WOr]¨OW.

4. CÍ|p]¤ ^jj&oqe j]q¨OWRt

yUmÌ]\ÿOtt h¾°¥

SwXq]¨OWpOU Nky]È}Wq]¨O

WpOU R\áOÐfV ..............

a) RGI

b) NSSO

c) CSO

d) Ssm¡ m|PSrL

5. mL¡ cpNYLoOU z]yVSãLNYLlOU

fÚ]sOtt v|f|Ly°¥ IuOfOW.

(yP\j :– cpNYLoOW¥

vqS¨ºf]sæ)

(3)

(4)

(1)

(1)

(2)

(3)

(4)

(1)

(1)
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6. jLsV Roc]¨¤ NkSvwj
kq}ƒWt]¤ Ror]jOU WLµjpOU
Sja]p rLËOW¥ ...........

6. The various ranks secured by
Merin and Kanchana in four
medical entrance examinations
are ....

Exams Rank of Merin Rank of Kanchana
kq}ƒW¥ Ror]R£ rLËV WLµjpORa rLËV

KEAM 1 2
AIPMT 3 4
JIPMER 2 3
AIIMS 4 1

Calculate the rank correlation
and interpret the result.

7. Find the one which is NOT a
measure for improving
agricultural market system.
a) Adoption of green revolution
b) Assurance of minimum

support price
c) Maintenance of buffer stock
d) Public distribution system

8. a) Name the system of farming
that restores, maintain and
enhance Ecological balance.

b) Point out any three merits of
it.

9. Prepare an essay on various
policies and programs towards
poverty alleviation in India. Do
you find any faults in the
implementation of these
programs? Substantiate.
(Your answer in three pages.)

10. A value of correlation coefficient
(r) = +1.2 indicates –
a) Perfect +ve correlation
b) High degree of +ve

correlation
c) Low degree of +ve

correlation
d) Error in calculation

rLËV yzmÌU WRº¾] lsU
v|LX|Lj]¨OW.

7. WL¡x]W v]kejU
Ro\ÿRÕaO¾LjOtt jaka]Wt]¤
RkaL¾fV .............

a) zq]f v]kævU BqUn]\ÿfV

b) fL°Ov]s DrÕL¨¤

c) WqOf¤ SwXq ja¾]ÕV

d) RkLfOv]fqe yNÒhLpU

8. a) RR^v yUÍOsjU v}RºaO¨L
jOU j]sj]¡¾LjOU v¡È]Õ]¨L
jOU yzLp]¨OÐ WQx] q}f].

b) CT WQx] q}f]pORa oPÐV NkiLj
YOe°¥ \Pº]WLe]¨OW.

9. CÍ|p]¤ jaÕ]sL¨]p v]v]i
hLq]Nh| j]¡oL¡²j jp°StpOU
kq]kLa]WStpOU yUmÌ]\ÿV KqO
Dkj|LyU fáLrL¨OW. CT
kÈf]WtORa ja¾]Õ]¤ j]°¥
IRÍË]sOU SkLqLpVoW¥
WLeOÐOSºL? (D¾qU oPÐO
Sk^]¤ v]wh}Wq]R\ÿuOfOW)

10. yzmÌ YOeLËU (r) = +1.2
IÐfV yP\]Õ]¨OÐfV ..........
a) kP¡¹ SkLy]ã}vV yzmÌU
b) Dp¡Ð SkLy]ã}vV yzmÌU
c) fLuVÐ SkLy]ã}vV yzmÌU
d) We¨OWPŸs]¤ kã]p k]wWV

(3)

(1)

(1)

(1)

(8)

(4)

(3)

(1)

(1)

(1)

(8)

(4)
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11. Identify the names of the steps
in a project to which you can
include the following statistical
tools you have studied.

11. j]°¥ kb]\ÿ]ŸOtt fLRu krpOÐ
yLUX|W DkWqe°Rt KqO
RNkL^WVa]Rs JRfsæLU RðÕOWt]¤
D¥RÕaO¾LU IÐV WRº¾OW.

(2)

12. State the two senses in which the

word 'statistics' is used.

Elucidate.

13. An import substitution policy.

a) Increase in the tax on

imported goods

b) Fixing of quotas

c) Enlarge domestic production

d) All of these

14. a) Name the outcome of the two

policy strategies of

liberalization and

privatization.

b) Do you think that Indian

agriculture sector was

adversely affected by the

reform process? Justify.

Statistical tools Steps in making project
yLUX|W DkWqe°¥ RNkL^WVa]Rs RðÕOW¥

a) Personal interview Collection of data
v|©]kqoLp An]oOXU h¾SwXqeU

b) Measures of central tendency .......................................
SWNÎ}p NkvefpORa AtvOW¥

c) Graphs and diagrams .......................................
NYLlOWtOU cpNYLoOWtOU

12. "yLUX|WU' IÐ khU

DkSpLY]¨LvOÐ qºV A¡À

fs°¥ Jv? v|©oL¨OW.

13. Cr¨Oof] WOr¨OÐf]jOtt KqO

jpU.

a) Cr¨Oof] yLij°¥¨O

SosOtt j]WOf] v¡È]Õ]¨OW.

b) SW~LŸ j]wV\p]¨OW

c) Bn|Íq DfVkLhjU WPŸOW

d) oOWt]¤ kr´RfsæLU

14. a) DhLqv¤¨qeU, y~WLq|v¤

¨qeU IÐ} qºV jpkqoLp

fNÍ°¥ yQxVa]\ÿ AjÍq

ls¾]R£ SkqV IuOfOW.

b) kq]xVWLq NkNW]p CÍ|¢

WL¡x]W SoXsRp ShLxWqoLp]

mLi]\ÿO IÐV j]°¥

WqOfOÐOSºL? j|Lp}Wq]¨OW.

(1)

(4)

(2)

(1)

(2)

(1)

(4)

(2)

(1)
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15. State to which country the
following demographic features
belongs to.
(Hint : India, China or Pakistan)
a) Highest annual growth of

population
b) Lowest population density
c) Less urbanization
d) High fertility rate

16. Observe the graph. It is .........

a) Uni-modal data

b) Bi-modal data

c) Multi-modal data

d) None of these

17. Calculate the Consumer Price
Index (CPI).

15. fLRu j¤W]p]q]¨OÐ ^jyUX|L
kqoLp NkSf|WfW¥ JfV
qL^|vOoLp] mÌRÕŸ]q]¨OÐO.

(yP\j:& CÍ|, RR\j, kL¨]òL¢)

a) Dp¡Ð Nkf]v¡x ^jyUX|L
v¡ÈjvV

b) fLuVÐ ^jyLNÎf

c) WOr´ kŸev¤¨qeU

d) Dp¡Ð DTxqf j]q¨V

16. NYLlV j]q}ƒ]¨OW. CfV ..........

a) KqO SoLcV oLNfoOtt h¾oLeV

b) qºV SoLcOWtOtt h¾oLeV

c) ks SoLcOWtOtt h¾oLeV

d) Cv KÐOosæ

17. DkSnLWVfQ v]s yP\WLËU

WºOk]a]¨OW.

Items / Cj°¥ Weight (in%) Base year price Current year price
fP¨U (% ¤) Aa]òLj v¡x v]s f¢ v¡x v]s

Food / BzLqU 50 2000 3000

Cloth / vyVNfU 15 1000 1200

Fuel / CÌjU 25 400 700

Rent / vLaW 10 500 600

(2)
(2)

(1)

(3)

(1)

(3)
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18. ""CÍ|p]¤ ja¾OÐ o]¨

y¡SvÿWtOU yLÒ]¥ y¡SvÿWtLeV''.

CT NkyVfLvjRp k]ÍOe¨OÐf]

jOtt JRfË]sOU oPÐV WLqe°¥

WRº¾OW.

19. S^Lc] AsæL¾fV WRº¾OW.

a) fkyV o^OUhL¡ WÚ]ã] –

v]h|Ln|LyU

b) NmºVaVsL£V WÚ}x¢ – yOò]q

v]WyjU

c) WL¡Rvÿ WÚ]ã] – WQx]

d) VKRV rLvO – Shw}p vqOoLjU

We¨L¨¤

20. a) oLjW v]\sj¾]R£

BSkƒ]W Atv]R£ SkqV

IuOfOW.

b) oLjW v]\sjU j]¡v\]¨OW.

c) fLRu j¤W]p]q]¨OÐ

h¾°tORa oLjW v]\sjU

WºOk]a]¨OW.

18. "Most of the surveys conducted
in India are sample surveys".

Prepare any three reasons to
support the above statement.

19. Which is NOT a pair?

a) Tapas Majumdar Committee
– Education

b) Brundtland Commission –
Sustainable development

c) Karve Committee –
Agriculture

d) VKRV Rao – National income
estimation

20. a) Name the relative measure of
standard deviation.

b) Define SD.

c) Calculate the standard
deviation from the following
data :

Marks 0–10 10–20 20–30 30–40 40–50 50–60 60–70 70–80
oL¡¨OW¥

No of students
3 5 6 8 10 1 12 5WOŸ]WtORa I¹U

21. Do India faces challenges in the
power sector? Elucidate.

21. DT¡² SoXsp]¤ CÍ|

RvsæOv]t]W¥ An]oOX}Wq]¨O

ÐOSºL? v]whoL¨OW.

(3)

(1)

(1)

(3)

(1)

(6)

(3)

(1)

(1)

(3)

(1)

(6)
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22. For conducting a survey among

200 households, Anumitha has

written the names of all 200

households on pieces of paper,

mixed well and 20 names are

selected one by one. It is ...........

a) Census method

b) Random sampling

c) Nonrandom sampling

d) None of these

23. While preparing a frequency

distribution from the raw data,

name the questions we have to

address. Briefly explain in 1½

pages.

(Hint : Four steps in the

construction of a frequency

distribution)

24. The heights (in cm) of 11 plants

in a garden are

22. 200 WOaOUm°t]¤ KqO y¡Svÿ

ja¾LjLp] AjOo]f oOuOv¢

WOaOUm°tOSapOU SkqOW¥ KLSqL

SkÕr]¤ IuOf], nUY]pLp] CaWs¡

¾], Af]¤ j]ÐOU 20 SkqOW¥

KLSqLÐLp] IaO¾O. CfV .........

a) Ry¢yyV q}f] BeV

b) rLºU yLÒ]¥ BeV

c) rLºLU&Cfq yLÒ]¥

d) CRfLÐOosæ

23. AyUyVWQf h¾°t]¤j]ÐOU

BvQ¾] v]fqe kŸ]W

fáLrL¨OSÒL¥ D¾qU j¤SWº

S\Lh|°¥ Jv? R\rOfLp]

v]wh}Wq]¨OW. (KÐq Sk^]¤

D¾qU IuOfOW)

(yP\j :& BvQ¾] v]fqe

j]¡Ú]f]p]Rs jLsV \OvaOW¥)

24. KqO kPSÍLŸ¾]Rs 11 R\a]WtORa

Dpq°¥ (Ry.o]. p]¤)

(1)

(1)

a) SoLcV RfqR´aO¨OW.

b) R\a]WtORa o}¢, o}c]p¢

Dpq°¥ yPNfvLW|°¥

DkSpLY]\ÿV WºOk]a]¨OW.

a) Choose the mode.

b) Calculate the mean and
median height of the plants,
by using the equations.

5 20 22 10 8 4 3 17 10 13 12

(1)

(4)

(4)

(1)

(1)

(4)

(4)
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25. CÍ|p]Rs RfLu]¤ SoXspOoLp]

mÌRÕŸ wq] AsæL¾ NkyVfLvj.

a) 93% RfLu]sLt]WtOU AjTk&

\Lq]W SoXsp]sLeV.

b) 50%  RfLu]sLt]WtOU y~pU

RfLu]¤ R\áOÐvqLeV.

c) NkMÐ & WLs]W RfLu]s]sæLpVo

W¥ CÍ|¢ WL¡x]W SoXsp]¤

j]sj]¤¨OÐO.

d) 1972–2010  WLsptv]¤

WPs]¨O ke]pOÐvq]¤ j]ÐOU

y~pU RfLu]¤ R\áOÐvq]Ss V̈

RfLu]sLt]W¥ oLr].

26. "yOò]q v]WyjU' j]¡v\]¨OW.
CfV SjaLjOtt v]v]i fNÍ°¥

j]¡SÇw]¨OW. (qºO Sk^]¤ D¾qU

IuOfOW)

27. oLjv oPsij qPk}WqevOoLp]
mÌRÕŸ fLRu kr´]q]¨OÐ
WLq|°t]¤, CÍ|pORa CSÕLuR¾
AvòRp yUmÌ]\ÿV j]°tORa
An]NkLpU NkWa]Õ]¨OW.

a) IsæLv¡¨OU v]h|Ln|LyU

b) s]UY yof~U

c) DÐf v]h|Ln|LyU

28. KqO WPŸU yLij°tORa f¢
v¡xS¾pOU Aa]òLj
v¡xS¾pOU v]sW¥ pgLNWoU 180
qPkpOU 135 qPkpOU BeV. CfV
WLe]¨OÐfV ............

a) v]s 30.33% WPa]

b) v]s 33.33% WOr´O

c) v]s 133.33% WPa]

d) Cv KÐOosæ

25. Which one of the following
statements is NOT TRUE about
the employment sector in India?

a) 93% workers are in the
informal sector.

b) 50% of the workers are self-
employed.

c) Disguised and seasonal
unemployment exist in the
Indian farm sector.

d) During 1972–2010 there was
a movement of workers from
casual wage to self-
employment.

26. Define the term, 'Sustainable
development'. Suggest various
strategies for attaining it in two
pages.

27. Express your view in the
following aspects with reference
to the present human capital
formation in India.

a) Education for all

b) Gender equity

c) Higher education

28. The current and base year prices
of a group of commodities are
Rs. 180 and Rs. 135 respectively.
It shows ........

a) price is said to have risen by
30.33%

b) price is decreased by 33.33%

c) price is increased by 133.33%

d) none of these

(3)

(1)

(1)

(5)

(3)

(1)

(1)

(5)
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      General Instructions to Candidates :

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.
CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk
S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q
SkÕr]¤¾RÐ DºLp]q]¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Identify the sociologist who

propounded the concept of

sociological imagination.

a) Karl Marx

b) Max Weber

c) C. Wright Mills

d) C. H. Cooley

2. Analyze the views of Amartya

Sen about inequalities existing

in Indian Society.

3. a) 'We must do our best to form

a class of a person, Indian in

blood and colour but English

in tastes, opinions, morals

and intellect'. Identify the

attitude implied in this

statement.

i) Acculturation

ii) Ethnocentrism

iii) Assimilation

iv) Cosmopolitanism

b) Differentiate between

ethnocentrism and

cosmopolitanism.

1. yoPzwLyVNf yËs×U IÐ

Bwp¾]R£ Dk³LfLvLp

yoPzwLyVNf³Rj f]q]\ÿr]pOW.

a) WL¥ oL¡WVyV

b) oLWVyV Rvm¡

c) y]. RRrãV o]¤yV

d) y].I\Vÿ WPRs

2. nLqf}p yoPz¾]¤ j]sj]¤¨OÐ

Ayof~°Rt¨Or]\ÿ V  Ao¡f|L

RyÐ]R£ An]NkLpU v]wWsjU

R\áOW.

3. a) "qWVf¾]sOU j]r¾]sOU

CÍ|L¨LqLp, IÐL¤

An]qO\]p]sOU v}ƒe¾]sOU

iL¡Ú]Wfp]sOU mOÈ]p]sOU

CUYæ}xOWLqLp KqO v¡«R¾

yQxVa]¨L¢ `°¥

kq]èo]¨OU'. CT NkyVfLvj

p]¤ AÍ¡s}joLp]q]¨OÐ

yo}kjU f]q]\ÿr]pOW.

i) A¨¥\ÿSrx¢

ii) vUw}p SWSNÎL¢oOXf

iii) y~LUw}WqeU

iv) yL¡vÿ^j}jf

b) vUw]p SWSNÎL¢oOXfpOU

yL¡vÿ^j}jfpOU fÚ]sOtt

v|f|LyU IuOfOW.

(1)

(4)

(1)

(2)

(1)

(4)

(1)

(2)
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4. 'Any gathering of people does

not necessarily constitute a

social group' Do you agree?

Substantiate.

5. Differentiate between

objectivity and subjectivity.

6. Define social structure.

Compare the views of Durkheim

and Karl Marx on social

structure.

7. Explain caste as a system of

social stratification.

8. Sociological knowledge is

different from common sense

observations. Do you agree with

the statement? Justify your

answer.

4. "IsæL fq¾]sOtt B¥¨PŸ°tOU

yLoPz|yUZ¾]jV qPkU

j¤WOÐ]sæ'. CT NkyVfLvjSpLaV

j]°¥ SpL^]¨OÐOSºL?

yPiPWq]¨OW.

5. vyVfOj]xVbfpOU BfVoj]xVbfpOU

fÚ]¤ Sv¡ f]q]¨OW.

6. yLoPz| Zaj j]¡vÿ\]¨OW.

yLoPz| ZajRp¨Or]\ÿ V

hO¡X}o]R£pOU WL¥ oLWVy]R£pOU

An]NkLp°¥ fLqfo|U R\áOW.

7. yLoPz| Sèe}Wqe v|vò IÐ

j]sp]¤ ^Lf] yNÒhLpR¾

v]wh}Wq]¨OW.

8. yoPzwLyVNfkqoLp v]³LjU

yLoLj| j]q}ƒe°t]¤ j]ÐOU

v|f|yVfoLeV. CT NkyVfLvjSpLaV

j]°¥ SpL^]¨OÐOSºL? j]°tORa

D¾qU j|Lp}Wq]¨OW.

(3)

(4)

(4)

(5)

(4)

(3)

(4)

(4)

(5)

(4)
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9. Critically evaluate the

functionalist views on the role

of family.

10. Compare and contrast

evolutionary and revolutionary

processes of social change.

11. Name the scholar who become

the first and self-taught

Anthropologist to receive

national and international

recognition.

a) G. S. Ghurye

b) Ananthakrishna Iyer

c) Sarat Chandra Roy

d) D. P. Mukerji

12. Evaluate the nature-nurture

debate on environment.

(2)

(2)

9. WOaOUm¾]R£ kË]Rj¨Or]\ÿOtt

j]¡vÿze vLh WLuV\ÕLaV

v]o¡wjLfVoWoLp] v]sp]qO¾OW.

10. yLoPz| oLã¾]R£ kq]eLoLfVoW

vOU v]kævLfVoWvOoLp NkNW]pWRt

fLqfo|U R\pVfV Sv¡f]q]¨OW.

11. Bh|oLp] jqvUwwLyVNfU y~pU

kbjU ja¾] Shw}pvOU

AÍ¡Shw}pvOoLp AUY}WLqU

Sja]RpaO¾ k¼]f¢ BqV?

a) ^]. IyV. ZOSq|

b) AjÍWQxVe Aá¡

c) wqfV \NÎ SrLpV

d) c].k]. oOX¡^]

12. kq]ò]f]Rp¨Or]\ÿOtt NkWQf]

kq]kLsj yUvLhU v]sp]qO¾OW.

(1)

(4)

(2)

(2)

(1)

(4)
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13. Match columns B and C with A

so as to develop a meaningful

relationship.

13. A¡À kP¡¹oLp mÌU vqOÐ

fq¾]¤ B,C SWLt°¥ A
SWLt¾]jV kPqWoLWOÐ fq¾]¤

NWo}Wq]¨OW.

                    A                      B                  C
L.K.Ananthakrishna Iyer Social background of Indian 1948

Nationalism
I¤.RW. AjÍWQxVe Aá¡ SyLx|¤ mL¨VNYTºV KLlV 1948

CÍ|¢ jLxes]yU

Man in India D. P. Mukerji Backward Hindus

oL¢ C¢ CÍ| c].k]. oOX¡^] k]SÐL¨ z]ÎO¨¥

G. S. Ghurye Sarat Chandra Roy 1922

^].IyV. ZOSq| wqfV \NÎ SrLpV 1922

Living tradition Tribes Dewan of Cochin

RR^v kLqÒq|U SYLNfv¡«¨L¡ RWL\ÿ]p]Rs h]vL¢

A. R. Desai Ethnographic survey Anubhava

I.B¡. ShwLpV IfVSjLNYLl]WV y¡Rvÿ AjOnv

14. Karl Marx says that, 'class

struggle was the major driving

force to change in society'. Do you

agree with the statement?

Substantiate.

OR

Critically evaluate the

contributions of Emile

Durkheim to the development of

sociology as a discipline.

14. CÍ|¢ yoPz¾]Rs oLã¾]R£

\LsW w©] v¡« yUZŸj

oLp]qORÐÐV WL¥ oLWVyV krpOÐO.

CT NkyVfLvjSpLaV j]°¥

SpL^]¨OÐOSºL? yLiPWq]¨OW.

ARsæË]¤

KqO KTk\Lq]W v]xpRoÐ

j]sp]sOtt yoPzwLyVNf¾]R£

vt¡\ÿp]¤ Io]¤ hO¡X}o]R£

yUnLvjW¥ v]o¡wjLfVoWoLp]

v]sp]qO¾OW.

(5)

(8)

(8)

(5)

(8)

(8)
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15. a) Youth rebellion is an

example of .........

i) Revolution

ii) Crime

iii) Contestation

iv) Violence

b) Justify your answer.

16. Name the social thinker who

used the term alienation to refer

the loss of control on the part of

workers over their labour.

a) Emile Durkheim

b) Max Weber

c) Karl Marx

d) Amartya Sen

17. Complete the chart.

15. a) pOv v]kævU .................. jV

DhLzqeoLeV.

i) v]kævU

ii) WOãWQf|U

iii) If]¡ÕV

iv) z]Uy

b) D¾qR¾ j|Lp}Wq]¨OW.

16. RfLu]s]¢ SosOtt RfLu]sLt]WtORa

j]pNÍeU jxVaRÕaOÐf]Rj

v]Swx]Õ]¨L¢ Aj|v¤¨qeU

IÐ khU DkSpLY]\ÿ yLoPz|

\]ÍW¢ BqLeV?

a) Io]¤ hO¡X}U

b) oLWVyV Rvm¡

c) WL¥ oLWVyV

d) AoQf|L Ry¢

17. \L¡ŸV kP¡¾}Wq]¨OW.

Ideals of French Revolution

NlµV v]kæv¾]R£ Bh¡w°¥

Liberty
y~LfNÍ|U

Equality
yof~U

..................

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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18. 'Social change has to be

understood together with social

order'. Comment on the

statement.

19. Competition is an integral part

of any society'. Substantiate.

20. Social Solidarity and Collective
Consciousness were the key
terms for ...........
a) Auguste Comte

b) Max Weber

c) C. W. Mills

d) Emile Durkheim

21. List the features of caste in India

as defined by G. S. Ghurye.

22. Evaluate the views of Emile

Durkheim and Max Weber on

religion.

OR

'Schooling intensifies the

existing divide between the elite

and the masses'. Analyze the

statement in the light of

functionalist and conflict

perspectives on education.

18. "yLoPz|oLãU yLoPz| NWoS¾LaV

mÌRÕaO¾]RWLºV oLNfRo

ojô]sL¨L¢ Wu]pOWpOttO'. CT

NkyVfLvjSpLaV j]°tORa

Nkf]WqeU IuOfOW.

19. ofVyqU JRfLqO yoPz¾]R£pOU

Av]nL^| ZaWoLeV.

yLiPWq]¨OW.

20. yLoPz| RIW|hL¡d|vOU yUZ

SmLivOU BqORa oOX| kh°tLeV?

a) AYyVf SWLURf

b) oLWVyV Rvm¡

c) y]. cmæ|P. o]¤yV

d) Io]¤ hO¡X}U

21. ^].IyV. ZORq| j]¡vÿz]\ÿ CÍ|¢

^Lf] v|vòpORa yv]SwxfW¥

kŸ]WRÕaO¾OW.

22. ofR¾¨Or]\ÿOtt Io]¤ hO¡X}o]R£

pOU oLWVyV Rvmr]R£pOU

An]NkLp°¥ v]sp]qO¾OW.

ARsæË]¤

yVWPtOW¥ vSqe|v¡«¾]jOU

mzO^j°¥¨Oo]ap]¤ j]s

j]¤¨OÐ v]av]Rj v¡È]Õ]¨O

ÐO. CT NkyVfLvjRp v]h|Ln|Ly&

R¾¨Or]\ÿOtt j]¡vÿze

vLhkqvOU yUZŸj vLhkqvOoLp

WLuV\ÕLaOWtORa Aa]òLj¾]¤

v]wWsjU R\áOW.

(2)

(2)

(6)

(1)

(2)

(6)

(2)

(2)

(6)

(1)

(2)

(6)
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23. yUyVWLq¾]R£ v]v]i oLj°Rt

AjOSpL^|oLp DhLzqe yz]fU

v]wh}Wq]¨OW.

24. yoPzwLyVNf YSvxe¾]Rs KqO

q}f] IÐ j]sp]¤ y¡SvÿRp

v]sp]qO¾OW.

25. kq]ò]f] NkwVj°¥ yLoPz|

NkwVj°tOoLeV. j]°¥ CT

NkyVfLvjSpLaV SpL^]¨OÐOSºL

yLiPWq]¨OW.

23. Explain the different

dimensions of culture with

suitable examples.

24. Evaluate the survey as one of the

methods in sociological

research.

25. 'Environmental problems are

also social problems'. Do you

agree with the statement?

Substantiate. (5)

(3)

(5)

(5)

(3)

(5)
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      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥ :

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp

v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\L/h|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk

S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q

SkÕr]¤¾RÐ DºLp]q]¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO

CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Match the following items

related to the Indian

Constitution with the countries

from which they have been

borrowed.

Provisions     Countries

a) Fundamental rights i) U.K.

b) Rule of law ii) Ireland

c) Directive principles iii) France

d) Liberty, Equality and iv) U.S.A.

Fraternity

2. Choose the item in the

concurrent list.

. Prison

. Forests

. Atomic Energy

. Agriculture

3. A list of works are given below.

Choose the right author of the

work from the bracket.

a) Ramayana Retold

b) The Satanic Verses

(Deepa Mehta, Salman Rushdie,

Aubrey Menen)

1. fLRu RWLaO¾]q]¨OÐ CÍ|¢

nqeZajL nLY°Rt Av

yUnLvj R\pVf qL^|°tOoLp]

f]q]\ÿr]´V S\qOUka]

S\¡R¾uOfOW.

nqeZajLnLY°¥ q^|°¥

a) oTs]WLvWLw°¥ i) pO.RW.

b) j]povLuV\ ii) Ap¡sºV

c) j]¡SÇwW ff~°¥ iii) NlL¢yV

d) y~LfNÍ|U, yof~U iv) pO.IyV.I

yLSzLhq|U

2. "W¦Wr£V' kŸ]Wp]¤ D¥RÕŸ

v]xpU f]qR´aO¨OW.

. ^p]¢

. vj°¥

. AeOSvL¡²U

. WQx]

3. \]s q\jWtORa SkqV fLRu

krpOÐO. AvpORa q\p]fL¨Rt

NmL¨ã]¤ j]ÐOU f]qR´aO¨OW.

a) qLoLpe r}SŸL¥cV

b) h] yL¾Lj]WV SvuVyyV

(h}kL So¾, y¤oL¢ rxVh], KSNmpV

SoSjL¢)

(1)

(2)

(2)

(1)

(2)

(2)
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4. Some rights and their examples

are given below. Classify them

appropriately with suitable

heading in the given table.

. Political rights

. Economic rights

. Cultural and educational

rights

. The right to vote

. The right to contest elections

. Receive a minimum wages

. Rural employment

guarentee scheme

. Right to have primary

education in mother tongue

. Right to establish

institutions for teaching

one's language and culture

4. \]s AvWLw°tOU AvpORa

DhLzqe°tOU fLRu RWLaO¨OÐO.

D\]foLp fsR¨ŸO jsVW] fÐ]ŸOtt

kŸ]Wp]Ss¨V AvRp

fqUf]q]R\ÿuOfOW.

. qLxVNa}p AvWLw°¥

. yLÒ¾]W AvWLw°¥

. yLUyVWLq]WvOU v]h|n|Ly&

kqvOoLp AvWLw°¥

. SvLŸOR\áOÐf]jOtt AvWLwU

. RfqR´aOÕ]¤ oÃq]¨LjOtt

AvWLwU

. j]é]f SvfjU sn]¨LjOtt

AvWLwU

. NYLo}e RfLu]sOrÕO kÈf]

. oLfQnLxp]¤ NkLgo]W

v]h|Ln|Ly¾]jOtt AvWLwU

. y~ÍU nLxpOU yUyVWLqvOU

kb]Õ]¨L¢ òLkj°¥

fOa°LjOtt AvWLwU

Political rights
.......................... ........................

qLxVNa}p AvWLw°¥

1. ............................ 1. ............................ 1. .........................

2. ........................... 2. ........................... 2. ...........................

(4)

(4)
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5. Match the following. 5. S\qOUka] S\¡¨OW.

                   A              B              C

A) Objective resolution a) John Rawls i) 1949

sƒ| NkSopU S^L¦ SrL¥yV

B) Basic structure of the b) Jawaharlal Nehru ii) Veil of ignorance
Constitution

nqeZajpORa Aa]òLjZaj ^vz¡sL¤ RjzVrO A³fpORa oPaOkaU

C) Theory of Justice c) J.S.Mill iii) Can not be amended

j}f]pORa y]ÈLÍU R^.IyV. o]¤ SnhYf] R\áL¢ kLa]sæ

D) Harm principle d) Keshavanandha iv) 1946
Bharathi

zLj] ff~U SWwvLjÎ nLqf]

E) Special provision pertain e) Constituent Assembly v) Art. 371
to North Eastern States

va¨OW]u¨¢  yUòLj°- nqeZajL j]¡ÚLeyn 371&LU vWOÕV

¥¨Ott NkSf|W vWOÕV

F) Constitution of India signed f) Assam, Nagaland, vi) On liberty
Mizoram etc.

CÍ|¢ nqeZaj KÕOv\ÿO BôLU, jLYLsL£V, y~LfNÍ|¾]Ss¨V

o]SôLrLU oOfsLpv

6. The study of political theory

become useful in our daily life in

many ways. Point out any two of

them.

7. There are several criticisms

levelled against the constitution

of India. Raise any two

criticisms.

6. qLxVNa}p y]ÈLÍ¾]R£ kbjU

RRhjh]j ^}v]f¾]¤ ksfq¾]¤

joO¨V NkSpL^jU R\áOÐO.

JRfË]sOU qRº¹U

\Pº]¨Le]¨OW.

7. CÍ|¢ nqeZajpVR¨f]qLp

j]qvi] v]o¡wj°¥ DºV.

JRfË]sOU qºV v]o¡wj°¥

Dp¡¾]¨LŸOW.

(6) (6)

(2)

(2)

(2)

(2)
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8. Normally the President of India

has to act according to the advice

given by the Prime Minister and

the Council of Ministers. But

there are certain situations

where the president can use his

discretionary power. Examine

two such situations.

9. The Constitution of India

empowers the Supreme Court

and High Courts to issue

different types of writs for the

protection of fundamental

rights. List the fundamental

rights and analyze the role of

writs in safeguarding

fundamental rights.

10. List any two merits for the

adoption of FPTP system as the

method of election to Lok Sabha

in India.

11. The Supreme Court of India is

one of the very powerful courts

any where in the world.

On the basis of the above

statement, discuss the

jurisdiction of supreme court

of India.

8. NkiLjoNÍ]pOU oNÍ]ynpOU

jsVWOÐ DkShw¾]R£

Aa]òLj¾]sLeV yLiLqepLp]

qLxVNakf] Nkv¡¾]S¨ºfV.

IÐL¤ \]s yLz\q|°t]¤

qLxVNakf]¨V fR£

v]Sv\jLi]WLqU DkSpLY]¨LU.

A¾qU qºV yÎ¡n°¥

kq]SwLi]¨OW.

9. oTs]WLvWLw°¥ WL¾O

yPƒ]¨OÐf]jLp] CÍ|¢

nqeZaj yONk}USWLaf]SppOU

RRzS¨Laf]WRtpOU v]v]ifqU

r]ŸOW¥ kOrRÕaOv]¨OÐf]jV

A i ] W L q R Õ a O ¾ ] p ] q ] ¨ O Ð O .

oTs]WLvWLw°tORa kŸ]W

fpLrL¨] oTs]WLvWLw

yUqƒe¾]jV v]v]ifqU r]ŸOW¥

vz]¨OÐ kËV v]wWsjU R\áOW.

10. CÍ|p]Rs SsLWVynL RfqR´aOÕV

yNÒhLpoLp] FPTP v|vò

y~}Wq]¨OvLjOtt SoÓWt]¤

JRfË]sOU qRº¹U IuOfOW.

11. CÐV SsLWR¾v]RapOoOtt

SWLaf]Wt]¤ JãvOU NkmsoLp

SWLaf]Wt]RsLÐLeV CÍ|p]Rs

yONk}USWLaf].

So¤ NkyVfLvjpORa Aa]òLj

¾]¤ yONk}USWLaf]pORa NkiLj

Ai]WLqkq]i]W¥ \¡\ÿR\áOW.
(3)

(2)

(2)

(6)

(3)

(2)

(2)

(6)
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12. Do you think India's electoral

system needs more reforms?

Give suitable suggestions to

strengthen Indian electoral

system.

13. In parliamentary system of

Government close relation

between the executive and

legislature exists. Examine how

the Parliament controls the

executive in India.

14. 73rd and 74th Constitutional

Amendments have

revolutionized the system of

local self-government in the

country. Analyze the changes

brought by 73rd Amendment in

Panchayati Raj System.

15. Different strategies have been

used for the pursuit and

maintenance of peace. Evaluate

the different approaches to the

pursuit of peace.

12. CÍ|pORa RfqR´aOÕV

yNÒhLp¾]¤ WPaOf¤

kq]xVWqe°¥ Bvw|oLReÐV

j]°¥ WqOfOÐOSºL? CÍ|¢

RfqR´aOÕV v|vòRp WPaOf¤

w©]RÕaO¾L¢ AjOSpL^|oLp

j]¡SÇw°¥ jsVWOW.

13. kL¡sRo£r] nqe yUv]iLj¾]¤

WLq|j]¡vze v]nLYvOU

j]poj]¡ÚLe ynpOU AaO¾V

mÌVÕŸ]q]¨OÐO. CÍ|pORa

kL¡sRo£V WLq|j]¡vze

v]nLYR¾ I°Rj j]pNÍ]¨OÐO

IÐV kq]SwLi]¨OW.

14. 73, 74 nqeZajLSnhYf]W¥

fSÇw y~pUnqe òLkj°tORa

yUv]iLj¾]¤ v]kævWqoLp

oLã°¥ vqO¾]. 73&LU nqeZajL

SnhYf] kµLp¾}qL^V

yUv]iLj¾]¤ vqO¾]p oLã°¥

v]wWsjU R\áOW.

15. yoLiLj pfVj¾]sOU AfV

j]sj]¡¾OÐf]sOU v]v]i

jpyo}kj°¥ DkSpLY]¨

RÕaOÐOºV. v|f|yVf yo}kj°¥

IRÍsæLoLReÐV v]sp]qO¾OW.
(3)

(4)

(6)

(3)

(3)

(4)

(6)

(3)
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16. Compare and contrast between
Parliamentary and Presidential
type of executive.

17. India has taken different steps
to secure social justice to its
citizens. Express your
arguments.

18. Indian federalism is quite
different from the American
concept. For, we have framed a
federal polity with a strong
central government and thereby
our federation is only a quasi-
federation. Justify this
assumption by explaining any
three special provisions in our
federal system.

19. Indian Constitution has been
amended more than a hundred
times. Give the details of
amendment procedure of the
Indian Constitution.

20. Various thinkers and ideologies

have highlighted different

dimensions of equality that we

may seek to achieve in society.

Identify these equalities and

suggest one example each from

our society.

16. kL¡sRo£r] IWVy]W|PŸ]vOU

Nky]c¢x|¤ IWVy]W|PŸ]vOU

fÚ]¤ fLqfo| kbjU ja¾OW.

17. kTqÓL¡¨V yLoPz|j}f]

DrÕOvqO¾L¢ CÍ| ks

jaka]WtOU y~}Wq]\ÿ]ŸOºV. j]°tORa

vLhYf]W¥ v|©oL¨OW.

18. CÍ|¢ Rlcrs]yU ASoq]¨¢

Rlcrs]y¾]¤ j]ÐOU f]W\ÿOU

v|f|yVfoLeV. vtRq w©oLp

SWNÎ Yv¦Ro£Ott KqO Rlcr¤

yUv]iLjU qPkRÕaO¾OW vu] KqO

nLY]W yUpO© Yv¦Ro£V

oLNfoLeV jÚOSaRfÐV krpLU. CT

vLhYf] j|Lp}Wq]¨LjLp] CÍ|¢

Rlcrs]y¾]R£ JRfË]sOU oPÐV

NkSf|W nqeZajLvWOÕOW¥

v]vq]¨OW.

19. 100 si]WU fve CÍ|¢ nqe&

Zaj SnhYf] R\pVf]ŸOºV.   CÍ|¢

nqeZaj SnhYf] R\áOÐ

jaka]NWo°Rt WOr]\ÿ V

v]whLUw°¥ jsVWOW.

20. v]v]i \]ÍWqOU h¡wj°tOU jLU

Sja]RpaOS¨º yof~¾]R£

v|f|yVf fs°¥ Dp¡¾]

¨LŸ]p]ŸOºV. jÚORa yoPz¾]¤

j]ÐOU AjOSpL^|oLp

DhLzqe°¥ yz]fU Av

JRfsæLRoÐV f]q]\ÿr]pOW.

(3)

(3)

(3)

(3)

(3)

(3)

(5) (5)

(3)

(3)
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21. Citizenship, as full and equal

membership of a political

community, involves both rights

and obligations. Explain.

22. A careful reading of Indian

Constitution shows that Indian

Secularism is fundamentally

different from Western

Secularism. Compare and

contrast both Indian and

Western Secularism.

23. Nationalism is a powerful force

in the world today.

Based on the above statement

analyze the factors which

promote nationalism.

24. The world has recognized the

environmental cost of

development, but the

environmental destruction

continues. Point out three

environmental costs of

development.

21. qLxVNa}p yoPz¾]Rs kP¡¹vOU

fOs|vOoLp AUYf~U IÐ j]sp]¤

kTqf~¾]jV \]s AvWLw°tOU

WaoWtOU DºV. v]wh}Wq]¨OW.

22. CÍ|¢ oSffqf~U kLéLf|

oSffqf~¾]¤ j]ÐV v|f|yVf

oLReÐV CÍ|¢ nqeZaj

èÈLkP¡vÿU vLp]¨OÐ B¡¨OU

ojô]sLWOU. Cv fÚ]¤

fqfo|RÕaO¾] v]Sv\]\ÿr]pOW.

23. Shw}pf CÐV SsLW¾]Rs KqO

Nkms w©]pLeV. oOWt]¤

RWLaO¾]q]¨OÐ NkyVfLvjpORa

Aa]òLj¾]¤ Shw}pf

SNkLÃLz]Õ]¨OÐ ZaW°¥

v]whoL¨OW.

24. v]Wyj¾]R£ kLq]ò]f]W R\svV

CSÕL¥ SsLWU AUY}Wq]\ÿ]ŸOºV.

IÐL¤ kq]ò]f] jw}WqeU

fOa¡ÐORWLº]q]¨OÐO. v]Wyj

¾]R£ oPÐV NkiLjRÕŸ

kLq]ò]f]W R\svV

\Pº]¨Le]¨OW.
(3)

(3)

(3)

(6)

(3)

(3)

(3)

(6)
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      General Instructions to Candidates :

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.
CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk
S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q
SkÕr]¤¾RÐ DºLp]q]¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Pick out the CORRECT
combination showing the
Northern, Southern, Western
and Eastern most states
respectively in India.

a) Jammu and Kashmir, Kerala,
Gujarat, Assam

b) Jammu and Kashmir, Tamil
Nadu, Gujarat, West Bengal

c) Jammu and Kashmir, Tamil
Nadu, Gujarat, Arunachal
Pradesh

d) Tamil Nadu, Jammu and Kashmir,
Arunachal Pradesh, Gujarat

2. A phenomenon is studied world
over as a whole, and then the
identification of typologies or
spatial patterns is done. This
approach in Geography is
termed as ............

a) regional approach

b) systematic approach

c) possibilism

d) determinism

3. West coastal plain in India is
different from east coastal plain
in many of its features.
Substantiate the statement
through any three
distinguishing features.

1. CÍ|p]¤ pgLNWoU va¨V, Rf¨V,

ka]´LrV, W]u¨V Aã¾Lp]

ò]f]R\áOÐ yUòLj°tORa

wq]pLp NWoSofV?

a) ^ÚO&WLwVo}¡, SWqtU, YO^rL¾V

AôU.

b) ^ÚO&WLwVo}¡, fo]uVjLaV,

YO^rL¾V, ké]o mUYL¥.

c) ^ÚO&WLwVo}¡, fo]uVjLaV,

YO^rL¾V, AqOeL\¤ NkShwV.

d) fo]uVjLaV, ^ÚO&WLwVo}¡,

AqOeL\¤ NkShwV, YO^rL¾V.

2. KqO Nkf]nLyR¾ BSYLtoLp]

kb]¨OWpOU fOa¡ÐV Af]R£

fq°tOU òLj}p oLfQWWtOU

f]q]\ÿr]pOWpOU R\áOÐO.

nPo]wLyVNf¾]R£ JfV

yo}kjoLe]fV?

a) NkLShw]W yo}kjU

b) v|vyVgLk]f yo}kjU

c) yLi|fL vLhU

d) v]i]v]w~LyU

3. ks yv]SwxfW¥RWLºOU

CÍ|pORa ké]o f}q yofsU

kP¡vÿ f}q yofs¾]¤ j]ÐOU

v|f|yVgf kOs¡¾OÐO. JRfË]sOU

oPÐV v|f|yVg yv]SwxfWt]sPRa

NkyVfLvj yLiPWq]¨OW.

(1)

(3)

(1)

(1)

(3)

(1)
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       A         B       C

a) Indus i) Gaumukh 1) Subansiri

y]jViO SYLoOXV yOm¢y]q]

b) Ganga ii) Chemayungdung 2) Yamuna

YUY R\o&pO‚V&fO‚V poOj

c) Brahmaputra iii) Bokhar Chu 3) Sutlej

NmzVokONf RmLXL¡ \O yfVs^V

4. Rearrange the columns B and C
against column A appropriately.

5. Identify the WRONG statement
regarding the outer planets.

a) Also known as Jovian
planets.

b) Earth is one among these
planets.

c) Gas giant planets.

d) Have thick atmosphere
mostly of hydrogen and
helium.

6. Explain the argument put
forward by Chamberlain and
Moulten on the formation of
planets.

5. mLz| NYz°Rt yUmjVi]\ÿ V

RfãLp NkyVfLvjSpfV?

a) S^Lv]p¢ NYz°¥ IÐOU

v]t]¨OÐO.

b) Cvp]¤ D¥RÕŸfLeV nPo].

c) n}ooLp vLfW NYz°¥.

d) oOX|oLpOU RRzNc^¢, z}s]pU,

IÐ]vpa°]p Wj¾

AÍq}ƒU.

6. NYz°tORa D¤k¾]Rp

yUmjVVi]\ÿV \LUm¡RspV¢, SoL¥Ÿ¢

IÐ]vqORa vLhYf] v]whoL¨OW.

4. A&Wt¾]jV AjOSpL^|oLp] B, C

Wt°¥ kOj@NWo}Wq]¨OW.

(1)

(3)

(2)

(1)

(3)

(2)
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7. How is Caldera Volcano
different from other volcanic
forms?

8. Illustrate the propagation of
P-waves through the interior of
the earth with the help of a
diagram and label the shadow
zone of P-waves.

9. ‘Spreading sites’ and
‘Subduction zones’ are terms
associated with plate
boundaries.

a) Name the type of plate
boundary to which spreading
sites are confined to.

b) Name the type of plate
boundary to which the
pheomenon of subduction
takes place.

c) Differentiate these plate
boundaries.

10. Winter rainfall occurs in the
North western parts of India.

a) Explain the cause.

b) Mention the role of westerly
jet streams in it.

c) How does this influence the
agricultural sector in India?

7. "WL¤cr' AYVj]v¡vÿf°¥ oãV

AYVj]k¡vÿf qPk°t]¤ j]ÐOU

I°Rj v|f|LyRÕŸ]q]¨OÐO?

8. nPo]pORa Dttrp]sPRapOtt

P&fqUY°tORa yµLqYf]

\]Nf}Wq]\ÿV P&fqUY°tORa j]u¤

SoXs AapLtRÕaO¾OW.

9. "yVRNkc]UYV RRyãOW¥'

"ymVcWVx¢ SoXsW¥' IÐ]v

lsW Af]qOWtOoLp] mjViRÕŸ

kh°tLeV.

a) yVRNkc]UYV RRyãOW¥ JfV fqU

lsW Af]qOWt]sLeV?

b) "ymVcƒ¢' SoXsW¥ JfV

fqU lsW Af]qOWt]sLeV?

c) So¤kr´ lsW Af]qOW¥

fÚ]sOtt v|f|Ly°RtRÍsæLU?

10. RRwf|WLs¾V CÍ|pORa va¨V

ka]´Lr¢ nLY°t]¤

oupOºLWOÐO.

a) WLqeU v]whoL¨OW.

b) Cf]¤ ^ãV NkvLz°tORa kËV

v|WVfoL¨OW.

c) Cf]jV CÍ|pORa WL¡x]W

SoXsp]¤ IÍV

y~Li}joLeOttfV?

(4)

(2)

(4)

(2)

(4)

(2)

(4)

(2)
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11. Identify the major soil type
confined to the North western
deccan plateau. Give an account
of its characteristics.

12. The term, ‘storm surge’ refers to–

a) Severe drought due to dry
winds.

b) Abnormal rise in sea level
due to cyclones.

c) Flash floods due to heavy
rain.

d) Flood due to landslides.

13. Complete the table regarding
the physical properties of
minerals.

11. "c¨L¢ k}bnPo]pORa

va¨Vka]´LrV SWNÎ}Wq]\ÿO

WLeOÐ o¹]jSofV? CT o¹]R£

yv]SwxfW¥ Nkf]kLh]¨OW.

12. "SðLU y¡^V' IÐ khU IÍ]Rj

yP\]Õ]¨OÐO?

a) vqº WLãOW¥ f}¡¨OÐ

qPƒoLp vq¥\ÿ.

b) \NWvLf°¥ WLqeU yoONh&

j]qÕ]sOºLWOÐ AyLiLqe

Dp¡\ÿ.

c) Wj¾ ou oPsoOºLWOÐ

NhOfoLp RvttRÕL¨U.

d) DqO¥RkLŸsOW¥ f}¡¨OÐ

RvttRÕL¨U.

13. iLfO¨tORa nTf]W yv]SwxfW¥

yUmjVVi]\ÿ kŸ]W kP¡¾]pL¨OW.

(2)

a)
..................

Colour of the powder of any mineral

KqO iLfOv]R£ RkLa]pORa j]rU

b)
..................

Appearance of a mineral without regard to colour

j]r¾]R£ Aa]òLj¾]ssæLRfpOtt iLfOv]R£ Nkfs hQw|f

c) Cleavage Tendency of a mineral to break in definite directions

Wæ}Sv^V iLfOv]jV j]wV\]f h]wWt]Ss¨V RkLŸLjOtt Nkvef

(2)

(1)

(2)

(2)

(1)
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14. Biological activities support

weathering. Substantiate it with
examples.

15. Observe the given figure and
give answers to the following.

14. RR^v Nkv¡¾j°¥ AkƒpR¾

f~q]fRÕaO¾OÐO. DhLzqe°

t]sPRa yo¡À]¨OW.

15. \]NfU j]q}ƒ]¨P. \OvRa

jsVW]p]ŸOtt S\Lh|°¥¨V D¾qU

jsVWOW.

a) Name the Geomorphic agent
responsible for making these
features.

b) Classify the labelled features
as erosional and
depositional.

c) Explain the formation of
these features.

16. Carbon dioxide is
meteorologically a very
important gas. Why?

17. 'Albedo' of the earth means ..........
a) amount of radiation absorbed

by the atmosphere.
b) terrestrial radiation.
c) amount of radiation reaching

the earth.
d) the reflected amount of

radiation before reaching the
earth.

a) CT yv]SwxfW¥

yQxVa]¨OÐ nPqPk qPk}Wqe

yzLp] JfLeV?

b) \]Nf¾]¤ SqXRÕaO¾]p]ŸOtt

yv]SwxfWRt Akqhj

qPk°¥ j]Sƒke qPk°¥

IÐ]°Rj fqUf]q]¨OW.

c) CT yv]SwxfWtORa qPk}Wqe

NkNW]p v]vq]¨OW.

16. WLsLvòL yUmjVioLp] JRr

NkLiLj|oOtt KqO vLfWoLeV

WL¡m¦ cSpLWVRRycV.

IÍORWLºV?

17. nPo]pORa "B¤mScL' IÐL¤ .......

a) AÍq}ƒU BY]qeU R\áOÐ

v]W]qeU.

b) nTov]W]qeU.

c) nPo]p]¤ I¾]S\ÿqOÐ

v]W]qeU.

d) nPo]p]¤ I¾LRf Nkf]ls]\ÿV

SkLWOÐ BRW v]W]qeU.

(2)

(2)

(6)

(1)

(2)

(2)

(6)

(1)

Stalactite
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18. When the sea level atmospheric
temperature is 300C, the
temperature at an altitude of
2000 meters above the same
place will be about 170C. Give a
reason for this difference in the
temperature.

19. Name the cell of air circulation
which sets the pattern of air
circulation in the mid latitudes.

20. Rain shadow regions are
associated with a particular type
of rain.

a) Identify the type and explain
it with illustration.

b) Name the other types of rain.

c) Mention the other forms of
precipitation.

21. Ultra violet radiations are

harmful for living world.

a) Identify the atomospheric

gas which protects us from

ultra violet radiations.

b) What mainly causes the

depletion in concentration of

this gas?

18. yoONh j]qÕ]Rs AÍq}ƒ fLkj]s

300&Ry¤x|yV Bp]q]R¨,

ASfòs¾]jV 2000  o}ã¡

Dpq¾]¤ fLkj]s 170&Ry¤x|yV

Bp]q]¨OU. fLkj]sp]Rs CT

v|f|Ly¾]jV WLqeRoÍLeV?

19. oi| AƒLUw}p SoXsp]Rs vLpO

\UNWoeR¾ j]pNÍ]¨OÐ vLpO

\UNWe v|vòpV¨V SkqV krpOW.

20. ou j]u¤ NkShw°¥ KqO NkSf|W

fqU oupOoLp] mjVioOttfLeV.

a) JfO fqU ouRpÐV f]q]\ÿr]´V

\]Nf¾]R£ yzLpS¾LRa

v]vq]¨OW.

b) oupORa oãV fq°¥ JRfsæLU?

c) v¡xe¾]R£ oãV qPk°¥

JRfsæLoLeV?

21. A¥NaLvpsãV W]qe°¥

RR^vSsLW¾]jV zLj]WqoLeV.

a) A¥NaLvpsãV W]qe°t]¤

j]ÐOU jRÚ qƒ]¨OÐ

AÍq}ƒ vLfWSofV?

b) CT vLfW¾]R£

SwLxe¾]jOtt oOX|

WLqe°¥ IRÍsæLU?

(6)

(1)

(2)

(2)

(6)

(1)

(2)

(2)
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22. AoLvLy], kT¡¹o]

h]vy°t]sOtt Svs]Spã°¥

yLiLqe Svs]Spã°Rt¨L¥

w©oLeV.

a) WLqeU v]whoL¨OW.

b) AoLvLy], kT¡¹o]

h]vy°¥¨V JuLU jL¥

DºLWOÐ Svs]Spã°¥¨V

IÍV NkSf|WfWtLeV

DºLp]q]¨OW?

23. \OvRa jsVW]p]ŸOttvp]¤ KÐV

DÐffs oLUySnL^]pLeV. JRfÐV

f]q]\ÿr]pOW.

a) yPƒVo ^}v]W¥

b) oL¢

c) kLÒV

d) W}q]

24. nTov]vq°¥ f]q]\ÿr]´V

jsVW]p]ŸOtt CÍ|pORa qPkSqXp]¤

AapLtRÕaO¾OW.

a) CÍ|pV¨OU è}sËpV¨OU

Cap]sLp] ò]f]R\áOÐ

^}voeVcs r]y¡vÿV.

b) WrO¾ o¹V SWNÎ}Wq]\ÿ V

WLeOÐ sLvL k}bnPo].

c) yOÎqvjU c¤ã

ò]f]R\áOÐ yUòLjU.

d) ké]o f}q¾]jV yoLÍqoLp

k¡vÿfj]q.

e) JãvOU j}toOtt Dkh~}k}p jh].

22. Hightides occuring on full moon
and new moon days are stronger
than usual high tides.

a) Explain the cause.

b) What is the speciality of
hightides occuring on the
seventh day after a full moon
or new moon day?

23. One among the following
organisms is a top carnivore.
Identify it.

a) Micro organisms

b) Deer

c) Snake

d) Mongoose

24. Identify the Geo-informations
and mark them on the outline
map of India provided.

a) Biosphere reserve located
between India and Sri Lanka.

b) Lava plateau of India rich in
Black soil.

c) State in which Sundarban
delta is located.

d) Mountain range parallel to
the west coast.

e) The longest peninsular river.

(1)

(5)

(4)

(1)

(5)

(4)
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      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.
CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk
S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We V̈  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤¾RÐ
DºLp]q]¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.
SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. The science of study of values

is  ............

a) Epistemology

b) Axiology

c) Metaphysics

d) Ontology

2. In a contradictory proposition of

'A' is true, then 'O' is ............

a) true

b) false

c) doubtful

d) none of these

3. Find the mood of the following

syllogism.

All politicians are idealists.

All social workers are politicians.

∴∴∴∴∴All social workers are idealists.

4. 'If price of commodities

increases, crime will be

increased'.

The given statement can be

symbolized as ..........

a) p.q

b) p q∨

c) p q⊃

d) p q≡

1. oPs|°Rt¨Or]\ÿ V  kb]¨OÐ

wLyVNfoLeV ................ .

a) IÕ]ðSoLt^]

b) BWVy]SpLt^]

c) RoãLl]y]WVyV

d) KL¦SaLt^]

2. KqO SWL¦Nac]WVar] SNkLÕy]xj]¤

'A' IÐfV true BReË]¤ 'O' ............
BWOÐO.

a) NaP

b) lL¥yV

c) cTŸVlO¥

d) CRfLÐOosæ

3. \OvRa RWLaO¾]q]¨OÐ

y]SsæL^]y¾]R£ oPcV WRº¾OW.

All politicians are idealists.

All social workers are politicians.

∴∴∴∴∴All social workers are idealists.

4. fLRu RWLaO¾]q]¨OÐ

NkyVfLvjRp C°Rj y]USkLt]WV

B¨LU ?

'If price of commodities
increases, crime will be
increased'

a) p.q

b) p q∨

c) p q⊃

d) p q≡

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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5. 'Some glitters are not gold'. Find

the term distributed in the given

proposition.

a) Subject

b) Predicate

c) Both are distributed

d) Neither are distributed

6. a) Find a valid conclusion for

the following syllogism.

b) Find the major term of the

syllogism.

All animals are carnivores.

All tigers are animals.

∴ ∴ ∴ ∴ ∴ .......................................

7. The term, 'Research' comes from

the French word ................

8. Compare Logic and Psychology.

9. The two parts of a hypothetical

proposition are ......... and ...........

(1)

(1)

5. fÐ]q]¨OÐ SNkLÕy]xR£ JfV SaU

BeV c]yVNa]m|PŸcV ......

'Some glitters are not gold'

a) Subject

b) Predicate

c) Both are distributed

d) Neither are distributed

6. a) \OvRa RWLaO¾]q]¨OÐ

y]SsæL^]y¾]jV KqO vLs]cV

W¦WæPx¢ WRº¾OW.

b) y]SsæL^]y¾]Rs So^¡ SaU

WRº¾OW.

All animals are carnivores.

All tigers are animals.

∴ ∴ ∴ ∴ ∴ .......................................

7. "r]y¡\V ÿ' IÐ vL¨V RNlµV

khoLp ................. ¤ j]ÐOU vqOÐO.

8. SsL^]¨]SjpOU RRyS¨Lt^]SppOU

fLqfo|U R\áOW.

9. KqO RRzSÕLR¾ã]¨¤

SNkLÕy]xR£ qºO nLY°¥

................. DU ............ DU BeV.

(1)

(2)

(2)

(1)

(1)

(1)

(2)

(2)

(1)

(1)
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10. Prepare a chart on the modern

classification of propositions by

making the use of the hints

given.

(Relational / Class-membership /

General / Subject-predicate /

Alternative / Disjunctive /

Conditional / Conjunction /

Simple / Compound)

11. Examine the requirements of

sound observation.

12. a) Change the following

proposition into other three

forms of categorical

propositions.

'All birds are feathered'.

b) Find the distribution of

terms with the help of

Euler's circle.

10. fÐ]q]¨OÐ z]£OWtORa

yzLpS¾LRa SoLSc¦

WæLy]l]S¨x¢ KLlV

SNkLÕy]xR£ kŸ]W fáLrL¨OW.

r]Ssxe¤/ WæôV&RoÒ¡x]ÕV/

^jr¤/ ymV^WVaV&RNkc]S¨ãV/

B¥Ÿ¡Sjã}vV/ c]yV^UWVa}vV/

Wº}xe¤/ W¦^UWVx¢/

y]Uk]¥/ SWLUkTºV.

11. KqO jsæ j]q}ƒe¾]jO Svº

Aa]òLjU IRÍLR¨pLReÐV

WRº¾] IuOfOW.

12. a) fÐ]q]¨OÐ SNkLÕy]xRj oãV

oPÐV WLãSYLr]¨¤

SNkLÕy]xjOWtORa qPk¾]sL

¨OW.

'All birds are feathered'.

b) kh°tORa c]yVNa]m|Px¢

KLpVSsuVyV y¡¨]t]R£

yzLpS¾LRa WRº¾OW.

(1)

(3)

(2)

(2)

(1)

(3)

(2)

(2)
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14. Explain J. S. Mill's method of

agreement with the help of

symbolic example.

15. a) What is the meaning of the

term research?

b) Examine the qualities of a

good research.

13. Match it correctly.

14. J. S. Mill R£ RoS¾¡cV KLlV

INY]Ro£V y]USkLt]WV

DhLzqe¾]R£ yzLpS¾LRa

v]vq]¨OW.

15. a) r]y¡\ÿV IÐ vL¨]R£ A¡ÀU

IÍLeV?

b) KqO jsæ r]y¡\ÿ]R£ yv]Swxf

W¥ IRÍLR¨pLReÐV

WRº¾] IuOfOW.

(3)

(1)

a) Method of Tenacity i) Whole is greater than part

RoS¾¡cV KLlV RajLy]ã] oOuOv¢ nLYS¾¨L¥ vsOfLeV

b) Method of Intuition ii) All objects gravitate

RoS¾¡cV KLlV C¢ã|Px¢ IsæL vyVfO¨tOU nPo]p]Ss¨V

BW¡x]¨RÕaOÐO

c) Method of Authority iii) Sheeba believes that Tuesday is an

unlucky day

RoS¾¡cV KLlV ASfLr]ã] R\LvÿLuV\ AwOn h]joLeV IÐV x}m

v]w~y]¨OÐO

d) Method of science iv) Walk only through footpath

RoS¾¡cV KLlV yp¢yV jaÕLfp]¤ WPRa oLNfU ja¨OW

13. S\qOUka] S\¡¨OW.(4)

(3)

(4)

(3)

(1)

(3)
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16. C¢cWVxSjpOU c]cWVxSjpOU

fLffo|U R\pVRfuOfOW.

17. r]y¡\ÿ]R£ y~nLv yv]SwxfW¥

v]whoL¨OW.

18. a) KmVRy¡Svx¢ IÐ vL¨]R£

A¡ÀU .............. BeV.

b) KqO jsæ KmVy¡SvxjV SvºfV

IRÍLR¨pLReÐV IuOfOW.

19. RoS¾¡cV KLlV c]lr¢y]SjpOU

RoS¾¡cV KLlV Rry]c|Ov]SjpOU

v|f|yVfoL¨] IuOfOW.

20. IÍORWLºV jÚ¥ SsL^]¨]Rj KqO

wLyVNfoLp] We¨L¨OÐO.

21. y]USkLt]WV DhLzqe¾]R£

yzLpS¾LRa y]Uk]¥

W¦yVNaWVa}vV c]sopOSapOU

y]Uk]¥ c]yVNaWVa}vV c]sopOSapOU

v|f|LyU WRº¾] IuOfOW.

16. Compare induction and

deduction.

17. Briefly explain the salient

features of research.

18. a) The meaning of the term

observation is ..........

b) Examine the requirements of

a sound observation.

19. Differentiate between method of

difference and method of

residue.

20. Why do we consider 'Logic as a

science'?

21. Distinguish between simple

constructive dilemma and

simple destructive dilemma

with symbolic example.

(4)

(4)

(1)

(4)

(5)

(5)

(4)

(4)

(4)

(1)

(4)

(5)

(5)

(4)
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22. a) Symbolize the following

statement.

'Either Titanic is a ship or a

movie'.

b) If p is given as true

q is given as false

R is given as true

Find the truth-value of the

following.

i) ( )p q R∨ ⋅

ii) ( ) ( )p q R R⊃ ⋅ ∨

iii) ( ) ( )R q p q⋅ ∨ ⊃

23. Write an essay (not exceeding

200 words) on what is a

hypothesis and what are the

characteristics of hypothesis.

OR

Write an essay on different

types of hypothesis.

24. With the help of a diagram

square of opposition, find the

relation between four

categorical propositions.

22. a) \OvRa RWLaO¾]q]¨OÐ

NkyVfLvjRp y]USkLt]WV

qPk¾]sL¨OW.

'Either Titanic is a ship or a
movie'.

b)  p IÐfV true DU

q IÐfV false DU

R IÐfV true DU

BpL¤ \OvRa

RWLaO¾]q]¨OÐf]R£ NaP¾V

vLs|O WRº¾OW.

i) ( )p q R∨ ⋅

ii) ( ) ( )p q R R⊃ ⋅ ∨

iii) ( ) ( )R q p q⋅ ∨ ⊃

23. IÍLeV RRzSÕLR¾y}yV IÐOU

Af]R£ y~nLv yv]SwxfW¥

IÍLeV IÐOU 200 vL¨]¤

Wv]pLRf Dkj|y]¨OW.

ARsæË]¤

v]v]i fqU RRzSÕLR¾y}yOWRt

WOr]\ÿV Dkj|y]¨OW.

24. yVW~p¡ KLlV KLÕy]xR£

yzLpS¾LRa jLsV WLãSYLr]¨¤

SNkLÕy]xjOW¥ fÚ]sOtt mÌU

WRº¾OW.
(8)

(5)

(1)

(8)

(8)

(8)

(5)

(1)

(8)

(8)
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You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
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     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.
CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk
S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q
SkÕr]¤¾RÐ DºLp]q]¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.
SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. A researcher conducts a study

in the natural setting. Here

the researcher used .........

experiment.

2. The thinking from general

principles to specific conclusion

is ..........

3. The gap between two neuron is

known as ...........

4. The second stage of creativity

is ..............

5. The area where there is no

photoreceptors in the human

eye is known as ..........

6. The tendency of a person to

solve problem by following

already tried mental operations

is known as ............

1. KqO YSvxW¢ f}¡¾OU

y~LnLv]WoLp \OãOkLa]¤ KqO

YSvxeU ja¾OÐO. Cv]Ra

YSvxW¢ DkSpLY]\ÿfV ...............

kq}ƒeoLeV.

2. RkLfOvLp ff~°t]¤ j]ÐV

WQf|oLp KqO j]Yoj¾]Rs¾OÐ

\]ÍLq}f]pLeV .................... .

3. qºV j|PSrLeOW¥¨]ap]sPtt

v]avLeV ................... .

4. y¡«LÄWfpORa qºLoR¾

ZŸoLeV ....................... .

5. ojOx|R£ W¹]¤ WLuV\WRt

y~}Wq]¨OÐ SWLw°¥ CsæL¾

nLYoLeV ................... .

6. KqO NkwÔR¾ oO¢kV NkSpLY]\ÿ ASf

oLjy]W Nkv¡¾j¾]sPRa fRÐ

kq]zq]¨L¢ èo]¨OÐ

NkvefpLeV ....................... .

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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7. The mental representation of the

spatial locations and directions

is ...........

8. Any stimulus or event which

increases the probability of a

desired response is .............

Match the following : (Q. 9 to 12)

      A            B

9. William Behaviour is the

Wundt product of person

and environment

10. J. B. First psychology

Watson laboratory

11. William Psychology as the

James science of behaviour

12. Kurt Study of

Lewin consciousness

7. KqO òsR¾ yUmÌ]\ÿOU h]wRp

yUmÌ]\ÿOU ojô]¤ Dtt

qPkSqXpLeV ...................... .

8. jLU BNYz]\ÿ q}f]p]sOtt KqO

Nkf]Wqe¾]R£ yLi|f

v¡È]Õ]¨OÐ KqO vyVfOv]SjSpL

yUnvR¾SpL Ar]pRkaOÐfV

.................... IÐLeV.

S\qOUka] S\¡¨OW. (S\Lh|U 9 oOf¤ 12)

               A                  B

9. vsæ|U RkqOoLãU IÐfV

vPºV v|©]pOU \OãkLaOU

WPa] S\qOÐf]R£

AjÍqlsU BeV.

10.  R^.m]. Bh|R¾ oj@wLyVNf

vLaVy¦ kq}ƒewLs

11. v]sæ|U oj@wLyVNfU RkqOoLã

R^p]UyV  ¾]R£ wLyVNfU

12. W¡ŸV SmLifsR¾

Rsv]¢ WOr]\ÿOtt kbjU

(1)

(1)

(4)

(1)

(1)

(4)
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13. Some psychologists believed

that human beings are more

positive in nature. Identify the

perspective of Psychology and

evaluate the perspective.

14. Define independent variable.

15. Differentiate between

sympathetic and

parasympathetic system.

16. Name the two principles of

physical development during

childhood.

17. Define size constancy.

18. Explain motivational cycle.

13. \]s oj@wLyVNf³¡, ojx|¡

AvqORa NkWQf¾]¤ fRÐ vtRq

YOekqoLeV. oj@wLyVNf¾]Rs CT

WuV\ÕLa]Rj WRº¾] v]vq]¨OW.

14. y~fNÍ\qU IÍLReÐV

j]¡vÿ\]¨OW.

15. y]Ukfã]WV v|vòpOU

kLqLy]Ukfã]WV v|vòpOU

JRfsæLU q}f]p]¤

v|f|LyRkŸ]q]¨OÐO.

16. WOŸ]¨LsR¾ wLq}q]W

vt¡\ÿpOoLp] mÌRkŸ qºV

ff~°¥ IuOfOW.

17. RRyyV SWL¦ð¢y] j]¡vÿ\]¨OW.

18. SoLŸ]Svx¢ RRy¨]¥

(\LNW]Wy~nLvU) IÍLReÐV

v]vq]¨OW.

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)
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19. Define socialization. What are

the various agencies of

socialization?

20. Describe the major goals of

Psychological enquiry.

21. Explain observational learning.

22. It is possible to enhance creative

thinking. Explain with the

support of some psychological

strategies.

23. Generally learning takes place

as a result of certain process,

whether it is classical or operant

conditioning. Explain key

learning processes.

24. Effective emotion management

is the key to effective social

functioning. What are the major

techniques to manage negative

emotions?

19. yLoPz]Wv¤¨qeU IÐL¤

IÍV? yLoPz]Wv¤¨qe¾]R£

v|f|yVfoLp J^¢y]W¥ Jv?

20. oj@wLyVNfkqoLp ASj~xe¾]R£

NkiLj sƒ|°¥ v]whoL¨OW.

21. j]q}ƒe kbjR¾ v]vq]¨OW.

22. y¡«LÄW \]ÍRp

An]vQÈ]RÕaO¾OW IÐfV

yLi|oLeV. \]s oj@wLyVNf

q}f]WtORa yzLpS¾LRa

v|LX|Lj]¨OW.

23. RkLfORv, WæLy]¨¤ Wº}xe]°V

BpLsOU KLkr£V Wº}xe]°V

BpLsOU kbjU yLÈ|oLvOÐfV \]s

NkNW]pp]sPRapLeV. NkiLjRÕŸ

kbj NkNW]pRp v]vq]¨OW.

24. WLq|ƒooLp RRvWLq]W j]pNÍeU

WLq|ƒooLp yLoPz]W

Nkv¡¾j°tORa fLS¨LsLeV.

Nkf]WPsoLp v]WLq°Rt

j]pNÍ]¨LjOtt NkiLj oL¡«°¥.(4)

(3)

(3)

(4)

(3)

(3)

(4)

(3)

(3)

(4)

(3)

(3)
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25. Development is the pattern of

progressive, orderly and

predictable changes. Explain it

with the help of life-span

perspective.

26. The Gestalt psychologists have

given us several laws to explain

how and why different stimuli

in our visual field are organized

into meaningful objects.

Evaluate the statement with

the basic principles of

perception.

OR

Auditory sensation begins when

sound enters our ear and

stimulates the chief organs of

hearing. Evaluate the statement

based on the structure and

functions of human ear.

25. v]WLyU IÐfV oO¢WPŸ]

WLeLvOÐfOU NWooLpfOU

v]WySjLÓOWvOoLp oLãoLeV.

RRslV&y×L¢ WLuV\ÕLa]R£

yzLpS¾LRa Cf]Rj v]vq]¨OW.

26. jÚORa WLuV\L o¼s¾]sOtt

v|f|yVVf vyVfO¨Rt NWoRÕaO¾]

A¡ÀkP¡eoLp vyVfO¨tL¨]

oLãOÐfV I°RjpLReÐOU

IÍORWLºLReÐOU v|LX|Lj]

¨OÐ KqOkLaV ff~°¥ YðL¥ŸV

oj@wLyVNf³¡ joO¨V

j¤W]p]ŸOºV. CT NkyVfLvjRp

k¡RykVx¢ AgvL

CNÎ]p³Lj¾]R£ Aa]òLj

ff~°tORa yzLp¾L¤

v]sp]qO¾OW.

ARsæË]¤

wmÉU R\v]p]¤ NkSvw]¨OWpOU

R\v]p]Rs NkiLj Avpv°Rt

DS¾^]Õ]¨OWpOU R\áOSÒLuLeV

SW¥v] yLi|oLvOÐfV. R\v]pORa

ZajRppOU Nkv¡¾jR¾pOU

Aa]òLjoL¨] CT NkyVfLvjRp

v]sp]qO¾OW.

(4)

(6)

(6)

(4)

(6)

(6)
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27. Explain the nature and causes of

forgetting.

OR

Suggest the psychological

methods to improve memory.

27. orv]pORa y~nLvvOU WLqevOU

v]vq]¨OW.

ARsæË]¤

KL¡Ú v¡È]Õ]¨OvLjOtt

oj@wLyVNf q}f]W¥ j]¡SÇw]¨OW.
(6)

(6) (6)

(6)
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      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.
CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk
S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q
SkÕr]¤¾RÐ DºLp]q]¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Identify the founder of Brahmo

Samaj.

2. Name the person whom Gandhi
called as the Prince among
Satyagrahis.

3. Gandhiji's religion is usually
known as ...........

4. Identify the 'Ashram Vow' which
denies private property.

5. Name the most powerful and the
final weapon in the armoury of
a satyagrahi.

6. Write the meaning of the word
'Sarvodaya'.

7. The technique of ......... in
satyagraha is based on the
assumption that exploitation is
impossible without the
cooperation of the victim.

8. Prepare a short note on the
contributions of Bhakti
Movement to Indian culture.

9. Due to the influence of a play
M.K. Gandhi decided to become
loyal to his parents. Identify the
play and explain its influence.

10. List out the four elements of a
state.

11. Explain Gandhiji's views on the
relationship between the
individual and society.

1. NmzVo yoL^¾]R£ òLkW¢

BqV?

2. yf|NYz]WtORa Cap]Rs

qL^WoLq¢ IÐV YLÌ]^]

v]Swx]Õ]\ÿfV BRqpLeV?

3. YLÌ]^]pORa ofU ............. IÐ

Skq]¤ Ar]pRÕaOÐO.

4. y~WLq| y~¾V j]Sxi]¨OÐ "Bèo

NvfU' JRfÐV f]q]\ÿr]pOW.

5. KqO yf|NYz]pORa BvjLu]p]Rs

JãvOU w©]WPa]pfOU

AvyLjS¾fOoLp BpOiU JfV?

6. "y¡SvÿLhpU' IÐ vL¨]R£

A¡ÀU IuOfOW.

7. yf|NYzpORa qPkoLp ...................

\Pxe¾]jO v]SipoLWOÐvR£

yzWqeo]sæLRf \PxeU yLi|osæ

IÐ ff~¾]¤

Ai]xVb]foLp]ŸOttfLeV.

8. n©]NkòLjU CÍ|¢

yUyVWLq¾]jO j¤W]p

yUnLvjWRt¨Or]\ÿ V  KqO sZO

v]vqeU fáLrL¨OW.

9. KqO jLaW¾]R£ y~Li}j¾L¤

oLfLk]fL¨StLaV WPrOttvjL

p]q]¨L¢ IU.RW. YLÌ]

f}qOoLj]\ÿO. CT jLaWU JRfÐV

f]q]\ÿr]´V Af]R£ y~Li}jU

v|©oL¨OW.

10. KqO qLxVNa¾]R£ jLsV ZaW°¥

Jv?

11. v|©]pOU yoPzvOU fÚ]sOtt

mÌR¾ WOr]\ÿ V YLÌ]^]¨Ott

WLuV\ÕLaV v]whoL¨OW.

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(2)

(2)

(2)

(2)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(2)

(2)

(2)

(2)
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13. After an incident M. K. Gandhi
decided not to exploit friendship
for anybody. Identify and explain
the incident.

14. A satyagraha organized by
Gandhiji proved that it can be
practiced at the individual level
for a national cause. Identify the
satyagraha and explain its
features.

15. One of the vows proposed by
Gandhiji reminds us about our
duty towards the neighbour.
Identify the vow and analyze its
significance.

16. For Gandhiji, 'true democracy
means the government of the
masses and not of the classes'.
Do you agree with this?
Substantiate.

17. Prepare a short note on
Gandhiji's concept of 'Bread
labour'.

12. Match the coloum A with B and
C.

12. kŸ]W A p]sOttf]Rj B pOU C
pOoLp] S\qOUka] S\¡¨OW.

(3)

(3)

                  A    B                C

a) Champaran Satyagraha
1918

People's movement
\ÒLq¢ yf|NYzU ^jW}p oOSÐãU

b) Ahmedabad satyagraha
1930

Peasant's movement
AzÚhLmLhV yf|NYzU W¡xW oOSÐãU

c) Salt satyagraha
1917

Labour strike
DÕO yf|NYzU RfLu]sLt] yoqU

13. yOzQhVmÌ°¥ hOqOkSpLYU

R\áqOfV IÐV \]Í]¨L¢ IU.RW.

YLÌ]Rp SNkq]Õ]\ÿ yUnvU

JRfÐV f]q]\ÿr]´V v]whoL¨OW.

14. Shw}p Bvw|°¥¨Lp] v|©]

fs¾]¤ yf|NYzU ja¾LRoÐV

YLÌ]^] KqO yf|NYz¾]sPRa

Rft]p]\ÿO. CT yf|NYzU JRfÐV

f]q]\ÿr]´V Af]R£

yv]SwxfW¥ v]whoL¨OW.

15. YLÌ]^] j]¡SÇw]\ÿ KqO Bèo NvfU

Ap¤¨LqSjLaOtt jÚORa Wao

KL¡ÚRÕaO¾OÐfLeV. CSfRfÐV

WRº¾] Af]R£ NkLiLj|U

v]whoL¨OW.

16. YLÌ]^]pORa WLuV\ÕLa]¤

^jLi]kf|U IÐfV ^j°tORa

nqeWPaoLeV. KqO NkSf|W

v]nLY¾]S£fsæ. j]°¥ Cf]SjLaV

SpL^]¨OÐOSvL? v]wh}Wq]¨OW.

17. YLÌ]^]pORa "BzLq¾]jO

Svº]pOtt NkpfVjU' IÐ

BwpR¾¨Or]\ÿ V  KqO sZO

v]vqeU fáLrL¨OW.

(3)

(3)

(3)

(3)

(3)

(3)

(3)

(3)

(3)

(3)
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18. In order to establish a society

based on peace a Gandhian
follower established a
nonviolent force. Identify it and
explain its significance.

19. Mahatma Gandhi was a practical
idealist. Do you agree with this?
Substantiate.

20. Various factors influenced
Gandhiji in developing his
concept of Satyagraha. Identify
and explain any four.

21. 'Ramarajya' is the ideal state
visualized by Mahatma Gandhi.
Identify any eight features of
Ramarajya.

22. One of the Gandhian principle
aimed at the redistribution of
wealth based on nonviolence.
Identify the principle. Explain
its formula and evaluate its
contemporary relevance.

23. It was the South African
experiments that made Gandhi
as Mahatma. Do you agree with
this statement? Substantiate
your argument.

18. yoLiLj¾]¤ Ai]xVb]foLp KqO

yoPzU qPk}Wq]¨eU IÐ

BwpS¾LRa YLÌ]^]pORa KqO

AjOpLp] Az]UyLi]xVb]f

Syj¨V qPkU j¤W]. CSffV IÐV

WRº¾] Cf]R£ NkLiLj|U

v|©oL¨OW.

19. ozLÄL YLÌ] KqO NkLSpLY]W

Bh¡wvLh]pLp]qOÐO. j]°¥

Cf]SjLaV SpL^]¨OÐOSvL?

v]whoL¨OW.

20. yf|NYzU IÐ BwpU

qPk}Wq]¨OÐf]¤ YLÌ]^]Rp

y~Li}j]\ÿ j]qvi] ZaW°tOºV.

Cvp]SsRfË]sOU jLRs¹U

WRº¾] v]whoL¨OW.

21. ozLfVoL YLÌ] v]nLvjU R\pVf

oLfQWL qLNìoLeV qLoqL^|U.

qLoqL^|¾]R£ JRfË]sOU IŸV

yv]SwxfW¥ v|©oL¨OW.

22. Az]UyLi]xVb]foLp] y~¾V kOj¡

v]fqeU R\áOW IÐ

BwpvOoLp] mÌRÕŸV YLÌ]^]

oOSÐLŸV v\ÿ ff~U JfV? Cf]R£

yLSËf]W ff~°¥ v]wh}Wq]\ÿV

Cf]R£ WLs]W NkyWVf]

v]sp]qO¾OW.

23. hƒ]eLNl]¨p]Rs kq}ƒe°

tLeV YLÌ]^]Rp ozLfVoLvL¨]pfV.

j]°¥ Cf]SjLaO SpL^]¨OÐOSvL?

j]°tORa vLh°¥ yo¡À]¨OW.

(4)

(4)

(6)

(6)

(3)

(4)

(4)

(6)

(6)

(3)

(4) (4)
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      General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time of

2 hrs.

l You are neither allowed to write your answers nor to discuss anything

with others during the 'cool off time'.

l Use the 'cool off time' to get familiar with questions and to plan your

answers.

l Read the questions carefully before answering.

l All questions are compulsory and only internal choice is allowed.

l When you select a question, all the sub-questions must be answered from

the same question itself.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed

in the Examination Hall.

     j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp

v]j]opU ja¾LSjL kLa]Š.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

l IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

l KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk

S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

l We¨O WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q

SkÕr]¤¾RÐ DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO

CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. 'The ability of a person to

understand and accept others as

they are' is known as ...........

a) self-awareness

b) critical thinking

c) empathy

d) creative thinking

2. Provident fund is an example

of .............

a) social assistance

b) social insurance

c) social service

d) social justice

3. 'The existence of virtues or

norms among members of the

community that permit

cooperation and collaboration' is

called ............

a) social capital

b) human rights

c) social legislation

d) empowerment

1. "oãOttvRq Av¡ Bp]q]¨OÐ

Avòp]¤ ojô]sL¨LjOU

AUY}Wq]¨LjOoOtt KqO v|WVf]pORa

Wu]v]Rj' Ar]pRÕaOÐfV ............

a) y~pLvSmLiU

b) v]o¡wjLfVoW \]Í

c) fÇLjOnLvU

d) NW]pLfVoW \]Í

2. RNkLv]c£V lºV IÍ]jV

DhLzqeoLeV ............

a) yLoPz| yzLpU

b) yLoPz| C¢xPr¢yV

c) yLoPz| SyvjU

d) yLoPz| j}f]

3. "^j°¥ fÚ]¤ yzWqevOU

yzv¡¾]f~vOU yU^LfoL¨L¢

yzLpWoLWOÐ v]i¾]¤ KqO

NkShw¾O j]sj]¤¨OÐ

j]po°RtpOU yLoPz| jÓRppOU'

Ar]pRÕaOÐfV ............

a) SyLx|¤ W|LÕ]ã¤

b) ojOx|LvWLwU

c) yLoPz| j]poU

d) wLWVf}WqeU

(1)

(1)

(1)

(1)

(1)

(1)
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4. 'The social process in which

individuals acquire the culture

of a group into which they come

to live' is termed as ............

5. According to Freud's psycho-

analytic theory, which part of

super ego motivates one to do

morally desirable things?

6. The social tension between

different groups based on caste

and religion is called ............

7. Which part of human brain

regulates body temperature?

8. 'An employee working hard

expecting an increase in salary'

is an example of .............

motivation.

(1)

(1)

4. oRãLqO NYPÕ]¤ ^}v]S¨º]vqOÐ

KqO v|WVf] B NYPÕ]R£

yLUyVWLq]W q}f]W¥ B¡^]¨OÐ

yLoPz| NkNW]pRp ................ IÐV

Ar]pRÕaOÐO.

5. SNlLp]c]R£ RRyS¨L Ajsã]WV

ff~ojOyq]\ÿV yPÕ¡ CTSYLpORa

JfO nLYoLeV KqLRt iL¡Ú]WoLp]

wq]pLp WLq|°¥ R\áL¢

NkS\Lh]Õ]¨OÐfV?

6. v|f|ò NYPÕOW¥ fÚ]¤

v¡«¾]S£SpL of¾]S£SpL

Aa]òLj¾]¤ j]sj]¤¨OÐ

yLoPz| yÚ¡ÇR¾ ................. IÐV

Ar]pRÕaOÐO.

7. ojOx| oyVf]xVW¾]R£ JfO

nLYoLeV wq}SqLxVoLv]Rj

j]pNÍ]¨OÐfV?

8. "KqO RfLu]sLt] wÒt v¡ÈjvV

Nkf}ƒ]\ÿ V  Wb]joLp] S^Ls]

R\áOÐfV ............... SoLŸ]SvxjV

DhLzqeoLeV.

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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9. Match the following.

                A                 B                       C

a) School setting i) De-addiction 1) Employment Guarantee

Programme

yVWP¥ Ryã]U°V c}&Ac]WVx¢ RfLu]sOrÕV kÈf]

b) Community setting ii) Parole 2) Social diagnosis and

treatment

WÚ|Pe]ã] Ryã]U°V kSqL¥ SyLx|¤ cpYVSjLy]yOU

\]W]fVypOU

c) Correctional setting iii) MGNREGP 3) Informing higher study

possibilities

Wrƒe¤ Ryã]U°V Dkq]kbj yLi|fW¥

Ar]p]¨¤

d) Psychiatric setting iv) Career guidance 4) Reinstating social support

RRyW|LNa]WV Ryã]U°V Wq]p¤ RRYc¢yV yLoPz| k]ÍOe kOjòLk]¨¤

9. S\qOUka] S\¡¨OW.

10. What is social legislation? Give

any two examples of social

legislation.

11. Suggest any two measures that

social workers can undertake to

help the marginalized and

vulnerable people.

12. What are the common

characteristics of a primary

group?

10. yLoPz| j]po°¥ IÐL¤ IÍV?

yLoPz| j]po°¥¨V JRfË]sOU

qºV DhLzqe°¥ IuOfOW.

11. Aiò]fqOU kL¡w~vfVWQfqOoLp

^j°Rt yzLp]¨L¢ SyLx|¤

v¡¨¡¨V JRãaO¨L¢ Wu]pOÐ

qºO oL¡«°¥ j]¡SÇw]¨OW.

12. KqO NkLgo]W NYPÕ]R£ RkLfOvLp

yv]SwxfW¥ IRÍLR¨pLeV?

(2)

(4)

(2)

(2)

(2)

(4)

(2)

(2)
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13. 'Corruption is increasing

alarmingly in India'. Propose two

measures to control it.

14. What is IQ? Find the IQ of a

person whose mental age is 12

and chronological age is 10.

15. 'Contemporary society depend

more on formal means of social

control'. Write two arguments to

support the statement.

16. Describe any two factors that

determine the personality of an

individual.

17. Define community and mention

two characteristics of it.

18. Write two characteristics of

assertive communication.

(2)

(2)

(2)

(2)

13. "CÍ|p]¤ Au]of] npLjWoLp

q}f]p]¤ v¡È]¨OÐO'. CfV

j]pNÍ]¨LjOfWOÐ JRfË]sOU

qºV oL¡«°¥ j]¡SÇw]¨OW.

14. IQ IÐL¤ IÍLeV? Ro£¤ IpV^V

12 DU SNWLSeLt^]¨¤ JpV^V 10

DU Dtt KqLtORa IQ We¨L¨OW.

15. "yLoPz|j]pNÍSeLkLi]pLp]

yoWLs]W yoPzU WPaOf¤

Bèp]¨OÐfV KTSh|Y]W

oL¡«°RtpLeV.'' CT

NkyVfLvjRp yLiPWq]¨OÐ qºV

vLhYf]W¥ IuOfOW.

16. KqLtORa v|WVf]f~R¾

j]¡¹p]¨OÐ JRfË]sOU qºO

ZaW°Rt v]wh}Wq]¨OW.

17. WÚ|Pe]ã]Rp j]¡vÿ\]\ÿ V  qºV

yv]SwxfW¥ IuOfOW.

18. "ASy¡Ÿ}vV WÚ|Pe]S¨x'R£ qºV

yv]SwxfW¥ IuOfOW.

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)
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19. 'Principles are essential for

effective social work practice'.

Analyze the statement

highlighting any two principles.

20. Suggest certain measures to

empower the ethnic groups in

Kerala.

21. 'The knowledge base of social

work is linked to other

disciplines'. Elaborate the

statement mentioning the

contribution of other disciplines

to social work knowledge.

22. Mention any three ways

through which social workers

can intervene to protect human

rights .

23. Write a note on any three

defense mechanisms with

examples.

24. Explain the hierarchy of human

needs suggested by Abraham

Maslow.

19. "WLq|ƒooLp] SyLx|¤ v¡¨O

R\áL¢ ff~°¥ Aj]vLq|oLeV''.

JRfË]sOU qºV ff~°¥ DÈq]\ÿV

CT NkyVfLvjRp v]wWsjU

R\áOW.

20. SWqt¾]Rs fSÇw}p

vUw°Rt(I¾]j]WV NYPÕV)

wLWVf}Wq]¨LjOfWOÐ \]s

oL¡«°¥ j]¡SÇw]¨OW.

21. "SyLx|¤ v¡¨]R£ RRv³Lj]W

Aa]¾r oãOv]xp°tOoLp]

mÌRÕŸ]q]¨OÐO.' SyLx|¤ v¡ V̈

v]³Lj¾]jV oãOv]xp°tORa

yUnLvj Nkf]kLh]\ÿ V  CT

NkyVfLvjRp v]wh}Wq]¨OW.

22. ojOx|LvWLw yUqƒe¾]jLp]

SyLx|¤ v¡¨¡¨V CaRkaL¢

Wu]pOÐ oPÐO oL¡«°¥

v]whoL¨OW.

23. JRfË]sOU oPÐV c]l¢yV

Ro¨Lj]yR¾¨Or]\ÿV DhLzqe

yz]fU WOr]ÕV fáLrL¨OW.

24. ANmzLU oLyVSsL j]¡SÇw]\ÿ

RRzqL¡¨] KLlV z|Po¢ j}cVyV

v]wh}Wq]¨OW.

(3)

(3)

(3)

(3)

(3)

(2)

(3)

(3)

(3)

(3)

(3)

(2)
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25. Describe any three life skills

proposed by WHO.

26. 'Problems in the society are

increasing'. Describe the various

causes of social problems and

suggest certain remedial

measures.

OR

Describe any one of the following

problems using problem tree

analysis.

a) Child labour

b) Substance Abuse

c) Poverty

27. Write an essay on the different

methods of social work and

explain each method.

25. WHO j]¡SÇw]\ÿ]q]¨OÐ

JRfË]sOU oPÐV ^]v]f

RRjkOe]W¥ v]wh}Wq]¨OW.

26. "yoPz¾]¤ NkwVj°¥ v¡È]\ÿO&

RWLSºp]q]¨OÐO'. yLoPz|

NkwVj°tORa NkiLj WLqe°¥

v]wh}Wq]\ÿ V kq]zLq oL¡«°¥

j]¡SÇw]¨OW.

ARsæË]¤

"SNkLmæU Na}' v]wWsj q}f]

DkSpLY]\ÿV fLRu RWLaO¾]q]¨OÐ

JRfË]sOU KqO NkwVjR¾

v]wh}Wq]¨OW.

a) mLsSvs

b) szq]oqOÐ]R£ hOqOkSpLYU

c) kŸ]e]

27. SyLx|¤ v¡¨]R£ v]v]i q}f]WRt

WOr]\ÿ V  (RoS¾cV) Dkj|LyU

fáLrL¨OW. KLSqL q}f]pOU

v]vq]¨OW.

(5)

(3)

(5)

(5)

(5)

(3)

(5)

(5)
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      General Instructions to Candidates :

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp

v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk

S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q

SkÕr]¤¾RÐ DºLp]q]¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO

CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. T. K. Penniman proposed four

stages of development of

Anthropology in the world.

Identify the book in which he

proposed this idea and explain

the significant features of each

stages.

2. Evaluate the relevance of

Anthropological knowledge in

studying different cultures.

3. Who among the following is NOT

a part of British tradition in

Anthropology?

a) E. B. Tylor

b) Franz Boas

c) W. H. R. Rivers

d) Radcliffe Brown

4. Select the appropriate concept

related to the following items

from the bracket given below.

a) Smallest functional unit of a

culture

b) Insider's view of culture

1. SsLW¾]¤ jqvUwwLyVNf¾]R£

vt¡\ÿpORa jLsO ZŸ°¥, a].RW.

RkÐ]oL¢ oOSÐLŸO Rv¨OÐO.

CSÇz¾]R£ CT BwpU

Avfq]Õ]\ÿ kOyVfWU

f]q]\ÿr]pOWpOU KLSqL ZŸ°tORa

yv]SwxfW¥ v]whoL¨OWpOU

R\áOW.

2. v|f|yVf yUyVWLq°Rt WOr]\ÿOtt

kbj¾]¤ jqvUwwLyVNf¾]R£

Ar]v]R£ NkyWVf] v]sp]qO¾OW.

3. fLRu krpOÐvp]¤

jqvUwwLyVNf¾]R£ Nm]Ÿ}xV

kLqÒq|¾]R£ nLYosæL¾fV BqV?

a) E. B. Tylor

b) Franz Boas

c) W. H. R. Rivers

d) Radcliffe Brown

4. fLRu RWLaO¾vpV¨V AjOSpL^|

oLp Bwp°¥ NmL¨ã]¤ j]ÐOU

RfqR´aOR¾uOfOW.

a) KqO yUyVWLq¾]R£

Nkv¡¾]¨OÐ JãvOU R\r]p

ZaWU.

b) KqO yUyVWLq¾]jOtt]¤

DttvqORa WLuV\ÿÕLaV.

(1)

(4)

(6)

(1)

(4)

(6)
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c) BpOi°tOU kOqLvyVfO¨tOU

sn]¨OÐ NkSf|W NkShwU.

d) nLxp]Rs R\r]p wmVh ZaWU.

e) As´O f]q]´V ^}v]¨OÐ

^j yoPz°t]Rs JãvOU

R\r]p qLxVNa}p ZaWU.

f) R\r]p NkyVfLvjWt]sOtt

DkShw°tOU iL¡Ú]W

oPs|°tOU.

(A – Phoneme, B – Band,

C – Cultural trait, D – Proverbs,

E – Emic culture, F – Site)

5. jqvUwwLyVNf¾]Rs IfVSjL&

NYLl]WV l}¤cV Nkv¡¾j¾]R£

\q]NfR¾¨Or]\ÿV KqO R\rO WOr]ÕV

fáLrL¨OW.

6. WPŸ¾]¤ RkaL¾v WRº¾OW.

a) ^j]ã]WV Nc]lVãV

b) ^jyUX|L ^j]fWU

c) o|PSŸx¢

d) DkSpLY j]qOkSpLYU

c) A specific place from where

tools and artefacts are found.

d) Sound unit in a language

e) Smallest political group in a

nomadic community

f) Morals or advices in brief

statement

(A – Phoneme, B – Band,

C – Cultural trait, D – Proverbs,

E – Emic culture, F – Site)

5. Write a brief note about the

history of ethnographic field-

work in Anthropology.

6. Find the odd item.

a) Genetic drift

b) Population genetics

c) Mutation

d) Use and disuse

(4)

(1)

(6)

(4)

(1)

(6)
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7. Palaeontological evidences

suggest different stages of

human evolution. Examine these

different stages in not more than

three hundred words by

elaborating following hints.

(Hints : Dryopithecines,

Australopithecines,

Pithecanthropine Neanderthal,

Modern human)

OR

Prepare the chart showing the

phylogenic classification of

primates by using the following

hints and explain the features of

mammals and primates.

(Hints : Primate, Genus, Super

family, Suborder, Ceboidea,

Hominoidea, Australopithecus,

Species, Hylobatidae, Family,

Homo Habilis, Homo Sapiens,

Prosimi, Cercopithecoidea

Pongidae, Anthropoidea,

Hominidae, Ardipithecus,

Homo, Homo Erectus, Homo

Sapien Sapien, Homo Sapien

Neanderthalensis)

7. SlLy]¤ Rft]vOW¥ ojOx|

kq]eLo¾]R£ v|f|yVf ZŸ°¥

j]¡SÇw]¨OÐO.

fLRu RWLaO¾ yP\jW¥

v]wh}Wq]\ÿV CT ZŸ°Rt¨Or]\ÿV

oOÐPrO vL¨]¤ Wv]pLRf

kq]SwLi]¨OW.

(Hints : Dryopithecine,
Australopithecine,
Pithecanthropine Neorndestharl,
Modern human)

ARsæË]¤

RRNkoãV v]nLYU ^}v]WtORa

v¡«}WqeU WLe]¨OÐ \L¡ŸV, fLRu

RWLaO¾ yP\jWtORa yzLp

S¾LRa fáLr]¨] RyyVfj]W¥,

RRNkSoãOW¥ IÐ]vpORa

yv]SwxfW¥ v]whoL¨OW.

(Hints : Primate, Genus, Super

family, Suborder, Ceboidea,

Hominoidea, Australopithecus,

Species, Hylobatidae, Family,

Homo Habilis, Homo Sapiens,

Prosimi, Cercopithecoidea

Pongidae, Anthropoidea,

Hominidae, Ardipithecus,

Homo, Homo Erectus, Homo

Sapien Sapien, Homo Sapien

Neanderthalensis)(8) (8)

(8) (8)
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8. Ir]SNfLmæLyVSãLy]yV l}ãLs]yV

IÍLReÐV v]whoL¨OW.

9. kLs]SpLs]¾]WV WLsZŸ¾]R£ oãO

ZŸ°tOoLp] fLqfo|U R\áOSÒL¥

AÕ¡ kLs]SpLs]¾]WV WLsZŸU

vtRq \OqO°]p WLsoLp]qOÐO

IË]sOU C¨Lsptv]Rs

yLUyVWLq]W vt¡\ÿ vtRq

j]¡¹LpWoLeV yo¡À]¨OW.

10. fLRu RWLaO¾ WLsYej q}f]WRt

SWvsq}f]W¥, BSkƒ]W q}f]W¥

IÐ]°Rj f]q]\ÿ V  JRfË]sOU

qRº¹U v]whoL¨OW.

Methods : Stratigraphy, Pollen

analysis, Carbon 14, Dendro

chronology.

11. nLxp]sPRapOtt Bwpv]j]opvOU

kLqLsLUSY~^OU fÚ]sOtt qºV

v|f|Ly°¥ IuOfOW.

8. Explain erythsoblastosis

feetalis.

9. Cultural development during

the upper palaeolithic period

was significant, even though the

time span of the period was very

short compared to other stages

of palaeolithic period.

Substantiate.

10. Classify the following dating

methods into absolute and

relative methods and explain

any two of them.

Methods : Stratigraphy, Pollen

analysis, Carbon 14, Dendro

chronology.

11. Write any two differences

between linguistic

communication and

paralanguage. (3)

(3)

(6)

(3)

(3)

(3)

(6)

(3)
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12. Complete the following chart
and write an essay about the
different forms of marriage in
not more than two and half
pages.

12. fLRu RWLaO¾ \L¡ŸV oOuOo]Õ]\ÿV,

v]vLz¾]R£ v|f|yVf fq°Rt

WOr]\ÿV qºq kOr¾]¤ Wv]pLRf

Dkj|LyRouOfOW.

Marriage

PolygynyNon serial
monogamy

Polygamy

Sororal
polygyny

Fraternal
polyandry

.......(b)....... .......(c)....... .......(d).......

.......(f).......

.......(e).......

.......(a).......

ARsæË]¤

fLRu RWLaO¾ \L¡ŸV oOuOo]Õ]\ÿV

WOaOUm¾]R£ v|f|yVf fq°Rt

WOr]\ÿV qºq kOr¾]¤ Wv]pLRf

Dkj|y]¨OW.

OR

Complete the following chart
and write an essay about the
different forms of family in not
more than two and half pages.

Family

Polygamous family

.......(a).......

Polyandrous
family

.......(b).......

Nuclear family

....(c)....

....(f)....Avunculocal
family

....(e)........(d)....

(8)
(8)

(8)
(8)
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13. Differentiate positive sanction

from negative sanction and give

examples to each of them.

14. Which of the following are the

local names of shifting

cultivation?

A) Jhum B) Punam

C) Foraging D) Bewar

a) A, B and C

b) B, C and D

c) A, C and D

d) A, B and D

15. Which of the following is NOT

an example of Hunting

Gathering tribe?

a) Cholanaikkan

b) Toda

c) Jarawa

d) Onge

16. Explain the different types of

reciprocity.

13. SkLy]ã}vV yLU°Vxj]¤ j]ÐOU

RjYã}vV yL°VxjOtt

v|f|LyRouOfOW. KLSqLÐ]jOU

DhLzqeRouOfOW.

14. fLRu RWLaO¾vp]¤

JRfLR¨pLeV oLãWQx]pORa

NkLShw]W SkqOW¥ :

A) Jhum B) Punam

C) Foraging D) Bewar

a) A, B and C

b) B, C and D

c) A, C and D

d) A, B and D

15. fLRu RWLaO¾vp]¤ SvŸpLasOU

SwXqevOU RfLu]sL¨]p

Bh]vLy] ^jf AsæL¾fV JfV?

a) Cholanaikkan

b) Toda

c) Jarawa

d) Onge

16. v|f|yVf fq¾]¤RkŸ

Rry]SNkLy]ã] v]whoL¨OW.

(4)

(4)

(1)

(1)

(4)

(4)

(1)

(1)
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17. Match the item in column A with

B and C to get a meaningful
answers.

17. A¡Àv¾Lp D¾qU sn]¨LjLp]

SWLtU A pOoLp] B,C IÐ]v

SpL^]Õ]R\ÿuOfOW.

18. ofU, oNÍvLhU IÐ]v fÚ]sOtt

jLsO v|f|Ly°¥ IuOfOW.

19. SWqt¾]¤, SlLWVSsL¡ aPr]yU

vWyj¾]jV I°Rj

yzLpWoLWOÐO IÐV

DhLzqeyz]fU v]whoL¨OW.

20. pPe]SvuVy¤ NYLoU IÐ

BwpvOoLp] mÌRÕŸ \]ÍW¢

BqV? ASÇz¾]R£ nLxL

jqvUwwLyVNf¾]Rs yUnLvjW¥

IRÍsæLU?

21. S^Lc] WRº¾OW.

a) NkWaj Ws : WPa]pLŸU

NkWaj WspsæL¾fV : ...........

b) NkShw]W oqOÐOWRt WOr]\ÿOtt Ar]vV

: jLSaLa] wLyVNfU

jLsORWŸO SkLsOtt v}aV j]¡ÚLe

Ar]vV : .......................

22. AyLiLqeoLp Wu]vOWtOtt KqO

v|WVf] V̈ ............... Ai]WLqoOºV.

18. Give any four differences
between religion and magic.

19. Describe with example, how
folklore promote tourism in
Kerala.

20. Identify the scholar related to
the concept of 'Universal
Grammar'. Explain his
contributions in Linguistic
Anthropology.

21. Find the pair.

a) Performing art : Koodiyattam

Nonperforming art : .............

b) Knowledge of local medicine :
Folk science

Knowledge of constructing
Houses like Nalukettu  : ............

22. A person with extraordinary
qualities has .......... authority.

                    A         B         C

a) Belief in soul Naturalism Max Muller

b) Worship of Nature Animatism R.R. Marett

c) Belief in every material objects Animism E. B. Tylor

(1)

(2)

(3)

(3)

(4)

(4)

(1)

(2)

(3)

(3)

(4)

(4)

a) Traditional  b) Charismatic c) Legal d) Constitutional
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There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp

v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk

S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q

SkÕr]¤¾RÐ DºLp]q]¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO

CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. The age of satellite begins with

the launch of .................

a) Sputnik

b) Telstar

c) Edusat

d) INSAT

2. The term, communication

derived from ..........

a) communiqué

b) commune

c) communis

d) communism

3. First English Language Daily .....

a) Occurrences

b) Demos

c) Newsletters

d) Courant

4. The first printed magazine in

Malayalam is ..............

a) Kerala Sanchari

b) Jnana nikshepam

c) Vidyasangraham

d) Kerala Patrika

1. yLãRRsãV WLsU BqUn]¨OÐfV

............... R£ v]SƒkeS¾LRapLeV.

a) yVkOaVj]WV

b) Ra¤ðL¡

c) IaOyLãV

d) C¢yLãV

2. WÚ|Pe]S¨x¢ IÐ khU

DfVnv]\ÿfV ............

a) WÚ|Pe]¨V

b) WÚ|P¦

c) WÚ|Pe]yV

d) WÚ|Pe]yU

3. Bh|R¾ CUY}æxV h]j kNfU :

a) Rcp]s] K¨r¢yyV

b) Rcp]s] RcSoLyV

c) Rcp]s] j|PyVRsã¡yV

d) Rcp]s] RWLrL£

4. ospLt¾]¤ Bh|oLp] A\ÿa]\ÿ

oLYy}¢ :

a) SWqtyµLq]

b) ³Ljj]SƒkU

c) v]h|LyUNYzU

d) SWqtkNf]W

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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5. A reporter works independently

is ..........

a) Mofussil correspondent

b) Stringer

c) Freelancer

d) Beat reporter

6. Chairman of FTII Governing

Council is ...............

a) Mrinal Sen

b) Vinod Khanna

c) Saeed Mirza

d) Girish Karnad

7. What is a cutline?

8. Prepare a brief note on the role

of Press Council of India in

solving the issues related to the

press.

9. "Media literacy plays a crucial

role in a media driven society".

Comment.

5. y~fNÍoLp] kNf Nkv¡¾jU

ja¾OÐ kNf Nkv¡¾W¢ :

a) Mofussil correspondent

b) Stringer

c) Freelancer

d) Beat reporter

6. l]s]U B£V Ras]v]x¢ C¢ð]ã|PŸV

C¢ CÍ| YSve]UYV WT¦y]¤

Ai|ƒ¢ :

a) oQeL¥ Ry¢

b) v]SjLhV XÐ

c) yp}hV o]¡y

d) Y]q}xV W¡eLaV

7. WŸV RRs¢ IÐLRsÍV?

8. kNf°tOoLp] mÌRÕŸV Dp¡ÐO

vqOÐ f¡¨°t]¤ NkyV WT¦y]¤

KLlV CÍ|pORa NkLiLj|U

v|©oL¨OW.

9. oLi|o°tL¤ jp]¨RÕaOÐ

yoPz¾]¤ oLi|o yLƒqf¨V

vs]p kËV vz]¨LjOºV.

v]whoL¨OW.

(2)

(3)

(1)

(1)

(1)

(2)

(3)

(1)

(1)

(1)
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10. jLa¢WsW¥ mzO^j

oLi|o°tLWOÐfV I°Rj?

j]°tORa jLŸ]Rs JRfË]sOU WsL

qPkR¾ DhLzq]\ÿ V  j]°tORa

WLuV\ÕLaV v|©oL¨OW.

11. nLqf¾]Rs oOX|iLqL oLi|o°¥

NYLo}e vL¡¾WRt fLoyVWq]¨O

WpLeV. k]. yLp]jLg]R£ kNf

Nkv¡¾jU DhLzq]\ÿ V

yo¡À]¨OW.

12. nLxL kNf Nkv¡¾jR¾

SNkLÃLz]Õ]\ÿ kNfNkv¡¾W

jLeV mLsYUYLiq f]sW¢.

ASÇzU nLqf}p kNf Nkv¡¾j

¾]jV j¤W]p yUnLvjW¥

v]wWsjU R\áOW.

13. ospLt kNf Nkv¡¾j¾]R£

vu]WLŸ]W¥ mLy¤ o]x¢

RyLRRyã]pLeV. ospLt kNf

Nkv¡¾j¾]jV Av¡ j¤W]p

yUnLvjWRt j]°¥ I°Rj

v]sp]qO¾OÐO?

10. How does a folk art become mass

media? Justify your view by

exemplifying a folk item in your

locality.

11. Rural affairs of India are not

well considered by Indian media

giants. Establish your views by

exemplifying the contributions

of P. Sainath.

12. Bal Gangadhar Tilak promoted

vernacular journalism. Write a

critique on Tilak's contribution

to Indian journalism.

13. Basel mission society is the path

finder of Malayalam journalism.

What do you think of their

contribution in the history of

Malayalam journalism?

(4)

(3)

(4)

(3)

(4)

(3)

(4)

(3)
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14. j]°tORa v]h|Lsp¾]¤ ja¨OÐ

AyUmæ]p]¤ RRym¡ WOãWQf|

°Rt¨Or]\ÿO NkyUY]¨L¢ j]°Rt

ƒe]\ÿL¤ IRÍsæLU WLq|°¥

Avfq]Õ]¨OU?

15. WL¡x]W kNf Nkv¡¾jR¾

WOr]\ÿV sZO v]vqeU fáLrL¨OW.

16. j|PyV J^¢y] IÐLRsÍV? jLsV

j|PyV J^¢y]WtORa SkRquOfOW.

17. \]NfU j]q}ƒ]\ÿ V Bwpv]j]op

¾]R£ JRfsæLU ZaW°¥

D¥S\¡Ð]ŸORºÐV v]wWsjU

R\áOW. KLSqL ZaW¾]R£pOU

NkSf|WfW¥ oPÐO vLW|°t]¤

WOrpLRf v]vq]¨OW.

14. You are invited to talk on

cybercrimes in your school

assembly. What are the points

you will highlight in your talk?

15. Prepare a short note on farm

journalism.

16. What is a news agency? Identify

at least four news agencies.

17. Observe the picture. Analyze the

elements involved in a

communication analysis

perspective. What are they?

Describe each in three sentences

focusing the characteristics of

the element.

(3)

(6)

(3)

(3)

(3)

(6)

(3)

(3)
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18. vL¡¾L oPs|°¥ yUmÌ]\ÿ V

WOr]ÕV fáLrL¨OW.

19. Ic]ã]°]R£ Aa]òLj ff~°¥

IRÍsæLU?

20. vLpj¨LqORa Nkf]Wqe°tLeV

kNfLi]k¡¨Ott W¾OWt]¤

Nkf]ls]¨OÐfV. j]°tORa jLŸ]Rs

KqO NkwVjU yUmÌ]\ÿ V

kNfLi]k¡¨Ott W¾O

fpLrL¨OW.

21. kNf òLkj°tORa jRŸsæLeV

y¡¨OSsx¢ v]nLYU.

IÍORWLºV?

22. yVWPÕV IÐLRsÍV?

18. Prepare a short note on news

values.

19. Narrate the basic principles of

news editing.

20. Letters to the editors reflect

feedback of the readers. Prepare

a letter to the editor on a

relevant issue in your locality.

21. Circulation department is the

backbone of a newspaper

organization. Why?

22. What is a scoop?

(2)

(2)

(4)

(6)

(4)

(2)

(2)

(4)

(6)

(4)
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23. vL¡¾LoLi|o°tORa DaoW¥

yoWLs]W yUnv°¥ yUmÌ]\ÿ

An]NkLpU SqXRÕaO¾OÐfV KqO

SWLt¾]sPRapLeV. JfLeV B

SWLtU?

23. Newspaper owners express

their views on contemporary

issues through a particular

column. What is it? (1)

(1)
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Part - III
ISLAMIC HISTORY AND CULTURE

Maximum : 80 Scores
(One Map to Accompany)

Time : 2½ Hours
Cool off time : 15 Minutes

636F.Y.
March 2017

      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp

v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk

S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q

SkÕr]¤¾RÐ DºLp]q]¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO

CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. The word 'History' derived from

'Istoria' which belongs to .........

a) Latin

b) Greek

c) Syriac

d) German

2. The first Islamic missionary

reached India at ..........

a) Sindh

b) Gujarat

c) Kerala

d) Punjab

3. Examine the relation of history

and Islamic history. Write its

sources with examples.

4. Write a note on the Muslim

population of the world.

1. "z]ðr]' IÐ vL¨V qPkRÕŸfV

"CSðLr]p' IÐ JfV nLxp]Rs

kh¾]¤ j]ÐLeV?

a) sLã]¢

b) NY}¨V

c) y]r]pWV

d) ^¡Ú¢

2. CÍ|p]¤ Bh| CyæLo]W hTf|

yUZU I¾]S\ÿ¡ÐfV :

a) y]ÌV

b) YO^rL¾V

c) SWqtU

d) kµLmV

3. \q]NfvOU CyæLo]W \q]NfvOU

fÚ]sOtt mÌU kq]SwLi]\ÿV \q]Nf

yVSNfLfôOW¥ DhLzqe yz]fU

v]whoL¨OW.

4. SsLW oOyæ}U ^jyUX|Rp WOr]\ÿV

WOr]ÕV fáLrL¨OW.

(1)

(1)

(2)

(4)

(1)

(1)

(2)

(4)
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5. Analyze the Geographical

Speciality of Arabia and compare

with Indian Geography.

6. Analyze the features of Ayyam-

al-Arab (The Days of Arabs).

7. 'Jahiliya Period' is not an apt

word to the literary domain of

preprophetic Arabia. Justify.

8. Illustrate the preprophetic life

of Prophet Muhammad.

9. Analyze the migration of

Makkans to protect their faith

and compare it with the

emigration of modern world.

5. ASrm|pORa nPo]wLyVNf

NkSf|WfW¥ v]wWsjU R\pVfV

Av CÍ|pORa nPo]wLyVNfvOoLp]

fLqfo|U R\áOW.

6. AáLoO¤ Arm] (Arm]WtORa

h]j°¥) R£ yv]SwxfW¥

v]wWsjU R\áOW.

7. "^Lz]s]p WLsU' IÐ khU

NkvL\WjO oOÒOtt ASrm|p]Rs

yLz]f| SoXs¨V AjOSpL^|osæ.

j}f}Wq]¨OW.

8. oOzÚhV jm]pORa NkvL\Wf~¾]jV

oOÒOtt ^}v]fU JfV fq¾]sOttfL

p]qOÐORvÐV v]whoL¨OW.

9. v]w~Ly yUqƒe¾]jLp] o¨L

j]vLy]W¥ R\pVf kLsLpjU

BiOj]W WLsR¾ kLsLpj°tO

oLp] fLqfo|U R\áOW.

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)
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Make a timeline by using given data.

10. 621

11. 619

12. 610

13. 570

. Year of sorrow

. Birth of Prophet

. Aqaba pledge

. Prophethood

14. Analyze the life of Prophet

Muhammad as a social reformer

and statesman.

OR

The battles of Prophet

Muhammad regarded as the

difence of Madina Republic.

Give reasons.

15. Islamic brotherhood was the

essence of Madina Charter.

Justify.

fÐ]q]¨OÐ h¾°¥ DkSpLY]\ÿV RRaU

RRs¢ j]¡Ú]¨OW.

10. 621

11. 619

12. 610

13. 570

. h@X°tORa v¡xU

. NkvL\WR£ ^jjU

. AWm Nkf]³

. NkvL\Wf~U

14. yLoPz]W kq]xVW¡¾LvV, qL^|

fNÍ³¢ IÐ} j]sWt]¤ oOzÚhV

jm]pORa ^}v]fU v]wWsjU

R\áOW.

ARsæË]¤

NkvL\WR£ pOÈ°¥ oh}j

r]Õmæ]¨]R£ Nkf]SqLioLpLeV

kq]Ye]¨RÕaOÐfV. WLqeU

v]whoL¨OW.

15. oh}j \L¡Ÿr]R£ y¾pLp]qOÐfV

CyæLo]W yLSzLhq|oLeV.

j}f}Wq]¨OW.

(4)

(8)

(4)

(4)

(8)

(8)

(4)

(8)
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16. KÐLU Xs}l An]oOX}Wq]\ÿ

NkwVj°¥ kq]SwLi]¨OW.

17. Xs}l DyVoLj]R£ WLsR¾ oh}j

r]Õmæ]¨]R£ Af]¡¾]pOU –

o¨, kLsyVf}¢ IÐ]vpOU

AapLtRÕaO¾OW.

18. X]sLl¾V nqe q}f]Rp

^jLi]kf|vOoLp] fLqfo|U

R\áOW.

A SWLt¾]Rj B, C SWLt°tOoLp]

kPq]Õ]¨OW.

16. Examine the problems faced by

First Khalifa.

17. Trace the extent of Madina

Republic under Khalifa Uthman

and Locate Makkah and

Palestine.

18. Compare the Khilafat system

with democracy.

Link column A with B and C.

A B C

19. Khalifa Ali Conquest of Sind Battle of Siffin

Xs}l As] y]ÌV W}ua¨¤ y]lVl]¢ pOhViU

20. Muawiyah Hazrat Hussain Conquest of Spain

oOBv]p zNy¾V zORRy¢ yVRkp]¢ W}ua¨¤

21. Abu Sufyan Son of Abu Talib Karbala

AmO yOl]pL¢ AmOfLs]m]R£ oW¢ W¡ms

22. Yazid Hajjaj ibn Yusuf Yazid

py}hV z²L^] mOjO pPylV py}hV

23. Abdul Malik Hazrat Ali Son-in-law of Prophet

AmVhO¤ os]WV zNy¾V As] NkvL\WR£ oqOoW¢

24. Al-Walid Muawiyah Nuktha

A¤ vs}hV oOBv]p jOWVfW¥

(4)

(4)

(6)

(4)

(4)

(4)

(6)

(4)
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25. Dov]áL¨tORa nqe q}f]pORa

NkSf|WfW¥ v]vq]¨OW.

ARsæË]¤

wLyVNf}pvOU mTÈ]WvOoLp

kOSqLYf]pORa fOa¨¾]jV

Dov]pL¨¥ yLƒ]pLp]. AvqORa

SjŸ°Rt v]o¡wjLfVoWoLp]

v]sp]qO¾OW.

26. SWqt¾]¤ CyæLo]R£ BYojR¾

WOr]\ÿV WOr]ÕV fáLrL¨OW.

27. Nm]Ÿ}xV Bi]kf|¾]jV oOÒV

oOyæ}°¥¨V SWqt¾]Rs qLxVNa}p

SoXsp]Rs Nkv¡¾j kËLt]¾U

v]wWsjU R\áOW.

28. WO´Ls] oq¨L¡¨V jLv]W

Nkv¡¾j SWNÎU j]¡Ú]¨L¢

yLoPf]q] AjOof] RWLaO¾fV

Iv]Ra?

a) \Ls]pU

b) lrPXV

c) W¹P¡

d) kOfOkŸeU

25. Explain the administrative

specialities of Umayyad Rule.

OR

The Umayyad period witnessed

the beginning of scientific and

intellectual developments.

Critically evaluate their

achievments.

26. Write a note on the arrival of

Islam in Kerala.

27. Analyze the role of Muslims in

the political affairs of Kerala

before British occupation.

28. Samoothiri granted permission

to Kunjali to erect a dockyards

at .........

a) Chaliyam

b) Feroke

c) kannur

d) Puthuppattanam

(8)

(4)

(8)

(1)

(4)

(8)

(4)

(8)

(1)

(4)
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29. SWqt¾]Rs WL¡x]W

D¤ÕÐ°¥ V̈ v]s j]¡¹p]\ÿ Bh|

nqeLi]WLq] Bp]qOÐO .............. .

a) Ar¨¤ qL^

b) kŸOoq¨L¡

c) RRzh¡ As]

d) a]ÕO yO¤¾L¢

29. The First Ruler who fixed the

price of agricultural products of

Kerala was ............

a) Arakkal Raja

b) Pattumarakkar

c) Haider Ali

d) Tipu Sultan (1)
(1)
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1. Kã vL¨]¤ D¾qRouOfOW.

a) fLoq¾}j]WtLp jLŸOWLRq¨Or]\ÿOtt kqLo¡wU vqOÐ Cf]zLy

WQf]SpfV?

b) "Ij]¨O kLWoL' – WO´]¨LvÚ C°Rj krpOÐfV

IÍ]Rj¨Or]\ÿLeV?

j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU'
DºLp]q]¨OU. CT yop¾V S\Lh|°¥¨V D¾qU IuOfLSjL,
oãOçvqOoLp] Bwp v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤
DkS\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ
RfqR´aOS¨ºfLeV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢
kLa]sæ.

(2 × 1 = 2)
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2. NmL¨ã]¤ j]ÐV wq]pO¾qRoaO¾V IuOfOW.

a) w~LyR¾ Rvt]p]Ss V̈ v]aOÐf]R£ oLf]q]SnhU JfV?

(Bn|ÍqNkpÁU, mLz|NkpÁU, yUy¡«U, òLjSnhU)

b) fLRuÕrpOÐvp]¤ WLsVkj]W Wv]fL v]nLY¾]¤ RkaOÐSffV?

(SoyVf]q], oOXRov]Ra, kLvU oLjvzQhpU, oÃ|U)

c) "\NWÕLŸV' JfO v]i¾]sOtt yoPz¾]R£ WsLv]xVWLqoLeV?

(WL¡x]W yoPzU, kLéLf| yoPzU, jLYq]W yoPzU, oOfsLt]¾

yoPzU)

d) WmÌU IÐ vL¨]R£ A¡ÀRoÍV?

(w]qôV, w]qôãO SkLp wq}qU, qPkU, mÌo]sæL¾fV)

3. S\qOUka] S\¡¨OW.

a) vqRoLu] jLa¢ Ws

b) SoyVf]q] RRv³Lj]W yLz]f|U

c) Dkj|LyU D¾qLiOj]W Wv]f

d) oL¡YU Wt] oLjW nLx

4. v]ŸnLYU kPq]Õ]¨OW

a) "m]Um]yLqR£ Capj]¤ oOSj IÐOU oz¡Sx IÐOU An]yUSmLij

R\áRÕaOÐpL¥ ................... BeV.

b) vLRoLu] vqRoLu] h~Î~R¾ WsqLRf j]¡¾OÐfV ................ BeV.

c) y].I¢. è}WeVb¢ jLp¡ q\]\ÿ jLaW°t]¤ AvyLjS¾fV ...............

BeV.

(4 × 1 = 4)

(3 × 1 = 3)

(4 × 1 = 4)
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5. NkyVfLvj wq]SpL RfSãL?

a) SlLSŸL IÐ Wgp]sOaj}tU mLsojô]R£ j]xVWka nLvU j]r´O

j]sVkOºV.

b) "\v]ŸO Wt]' KqO wLyVNf}p WsLqPkoLeV.

qSºL oPSÐL vLW|°t]¤ D¾qRouOfOW.

6. fLRjLãRÕaOÐORvÐ \]Í fWu]p]¤ qPkRÕaLj]apLp yLoPz|

yLz\q|RoÍV?

7. WOµOvÚLvR£ ^}v]fyLpLøU NkWLwoLjoLp]qOÐRvÐV

krpOÐRfÍORWLºV?

8. "SWLu]ÕËV' IÐ Wv]fpORa yLoPz| v]o¡wjfsRoÍLeV?

9. oWtORa mLs|R¾¨Or]\ÿOtt IRÍLR¨ KL¡ÚWtLeV "AÚRp

WOt]Õ]¨OSÒL¥' IÐ Wv]fp]¤ yP\]Õ]¨RÕaOÐfV?

10. jLŸr]v]Rj¨Or]\ÿV j]sj]ÐOSkLqOÐ iLqeÕ]wWOW¥ IRÍLR¨pLeV?

jLSsL ASµL vLW|°t]¤ D¾qRouOfOW.

11. ""W¹O j]r\ÿV `Lj°Rj KuO¨O j]s\ÿvRjSÕLRs j]ÐO'' – pO.I.XLh¡

C°Rj v]vq]¨OÐ yÎ¡nSofV?

12. fo]u]¤ v|Æj¾]jV "RopV' IÐOU y~q¾]jV "Dp]¡' IÐOU SkqO

vÐf]jOtt WLqeU v|©oL¨OW.

AqÕOr¾]¤ Wv]pLRf D¾qRouOfOW.

13. qSo|Lkj|Ly¾]jOºLSWº YOev]Swx°RtRÍLR¨pLeV?

14. oOWOÎR£ Wg jÚORa WLsZŸ¾]R£ SlLSŸLpLReÐ RW.k]. AÕR£

An]NkLpU v]wWsjU R\áOW.

(2 × 1 = 2)

(5 × 3 = 15)

(2 × 4 = 8)

(4 × 5 = 20)
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15. v|©]f~ SsLkU IÐ BwpU oOXRov]Ra IÐ Wv]fp]¤ jLaW}poLp]

Bv]xVWq]\ÿ]q]¨OÐRf°Rj?

16. Nkf]jLpWÓLqLeV WgWt]p]Rs Bh|LvyLjSvx°¥ IÐV RW.y].

jLqLpe¢ krpOÐRfÍORWLºV?

KÐqÕOr¾]¤ Wv]pLRf Dkj|y]¨OW.

17. CapR£ \]ÍWt]sPRa ^}v]fR¾¨Or]\ÿOtt oz¾q°tLp Bwp°¥

Bv]xVWq]¨OÐ Wv]fpLeV "m]Um]yLqR£ Cap¢'. v]wh}Wq]¨OW.

ARsæË]¤

Nkf}ƒWRt k]ÍOaqOÐ ojOx| ojô]R£ j]xVWtËf Bv]xVWq]¨OÐ

Wv]fRpÐ j]spV̈ V kLvU oLjvzQhp¾]jV KqLy~LhjU fpLrL¨OW.

18. oqeR¾ w©oLp Nkf}W°t]sPRa \]Nf}Wq]¨OÐf]¤ "kƒ]pORa oeU'

INfS¾LtU v]^p]\ÿ]ŸOºV – v]wh}Wq]¨OW.

ARsæË]¤

v¡¾oLjWLs yoPz¾]R£ v}uV\WRtpOU RkLç¾q°RtpOU fOrÐO

WLŸOÐ WgpLeV "ASoq]¨' – v]sp]qO¾OW.

19. WLsU KqO Shw¾]R£ ^}v]f v|vòp]¤ vq\ÿO S\¡¨OÐ oLã°¥ kr]\ÿO

ja}¤ IÐ kLbnLY¾V v]vq]\ÿ]q]¨OÐRf°RjpLeV?

ARsæË]¤

Nzy~ yVoQf]pORapOU \]qyVoQf]pORapOU yv]SwxfW¥ v]wh}Wq]\ÿV KqO

Dkj|LyU fpLrL¨OW.

(7)

(7)

(8)
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         General Instructions to Candidates :

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.

You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

Use the ‘cool off time’ to get familiar with questions and to plan your
answers.

Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself.

Part - III

HINDI (OPTIONAL)
Maximum : 80 Scores

Time : 2½ Hours
Cool off time : 15 Minutes

Reg. No. .......................................

Name ...........................................

gyMZm : {ZåZm§{H$V H${dVm§e n{‹T>E Am¡a 1 go 3 VH$ Ho$ àíZm| Ho$ CÎma {b{IE &

EH$ hr {XZ _| nwamZr n‹S> OmVr h¡ Xþ{Z`m
O¡go ~g§V H$m J`m nVP‹S> H$mo bm¡Q>m hÿ±
O¡go ~¡emI H$m J`m ^mXm| H$mo bm¡Q>m hÿ±
A~ `hr h¡ Cnm` H$s ha XadmµOm IQ>IQ>mAmo
Am¡a nyN>mo -
Š`m `hr h¡ dmo Ka?
g_` ~hþV H$_ h¡ Vwåhmao nmg
Am Mbm nmZr T>hm ahm AH$mg
em`X nwH$ma bo H$moB© nhMmZm D$na go XoI &

1. `h {H$g H${dVm H$m A§e h¡?

2. Ka Ty>±T> {ZH$mbZo H$m Cnm` Š`m h¡?

3. H${dVm H$s AmñdmXZ-{Q>ßnUr {b{IE &

(1)

(1)

(7)
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gyMZm : {ZåZm§{H$V Xmohm n{‹T>E Am¡a 4 go 6 VH$ Ho$ àíZm| Ho$ CÎma {b{IE &

qZXH$ Zo‹S>m am{IE, A§J{U Hw$Q>r ~§YmB &

{~Z gm§dU nm§Ur {~Z, {Za_b H$a¡ gŵ mB &&

4. "{ZH$Q>' eãX H$m g_mZmWu eãX Xmoho go Ty>±T>H$a {b{IE &

5. "gm~wZ', "nmZr' Am{X Ho$ {bE Xmoho _| à ẁŠV eãX {b{IE &

6. Xmoho H$m ^mdmW© {b{IE &

gyMZm : "~w‹T>mnm' ì §̀½` {Z~§Y H$m `h A§e n{‹T>E Am¡a 7 go 10 VH$ Ho$ àíZm| Ho$ CÎma {b{IE &

~g ~mV bJ JB© & ~y‹T>o hmo OmZo go hr BÝgmZ ~§Xa hmo OmVm h¡? BVZm An_mZ?

~yT>m| H$s Eogr Aà{Vð>m! PwH$s hþB© H$_a H$mo Hw$~‹S>r Ho$ ghmao grYr H$a _¢Zo CZ b‹S>H$m| go

H$hm - "Zmbm`H$mo! AmO H$_a PwH$ JB© h¡ & AmO Am±I| H$_ XoIZo Am¡a H$mZ H$_ gwZZo

Ho$ AmXr hmo JE h¢ & AmO Xþ{Z`m H$s Vñdra| ŷbo hþE ñdßZ H$s Vah {Pb{_b {XImB© Xo

ahr h¡ & AmO {díd H$s am{JZr AVrV H$s à{VÜd{Z H$s Vah Añnï> gwZmB© n‹S> ahr h¡ &

_Ja h_oem `hr hmbV Zht Wr &

7. ~y‹T>m hmo OmZo go BÝgmZ H$m¡Z ~Z OmVm h¡?

8. ~w‹T>mno H$s H$_Omo[a`m± Š`m Š`m h¢?

9. n[aÀN>oX go VrZ g§km eãX MwZH$a {b{IE &

10. {Z~§Y Ho$ A§e go "ñdßZ' eãX H$m {deofU eãX Ty>±T>H$a {b{IE &

11. "H$moR>ar _| H$m{bÝXr Am±Mb _| _w±h X~mE {ggH$ ahr h¡ &' ggwamb _| H$m{bÝXr H$m OrdZ

XX©̂ am Wm & H$mqbXr AnZr XþI H$Wm H$mo gy{MV H$aHo$ ghobr H$mo nÌ {bIVr h¡ & dh

nÌ V¡̀ ma H$s{OE &

· gm±g H$m ~wam ì`dhma

· n{V H$s {ZX©̀ Vm

· ggwamb _| AHo$bmnZ

· _m± H$s _¥Ë ẁ

· ggwamb _| H$m_ H$m ~moP

(1)

(7)

(2)

(4)

(3)

(1)

(3)

(1)
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gyMZm : {ZåZ{b{IV JÚm§e n{‹T>E Am¡a 12 go 18 VH$ Ho$ àíZm| Ho$ CÎma {b{IE &

20 _B©, 1900 H$mo CÎmamI§S> Ho$ H$mogmZr-Aë_moS>m _| gw{_ÌmZ§XZ n§V H$m OÝ_ hþAm
Wm & do ~MnZ go hr H${dVm {bIVo Wo & n§VOr N>m`mdmX Ho$ à_wI ñV§̂  Ho$ én _| OmZo
OmVo h¢ & CZH$s àma§{^H$ H${dVmAm| _| àH¥${V-ào_ Am¡a ahñ`dmX PbH$Vo h¢ & BgHo$ ~mX
do _mŠg© Am¡a _hmË_m JmÝYr Ho$ {dMmam| go à^m{dV hþE & BZH$s ~mX H$s H${dVmAm| _|
Aa{dÝX Xe©Z H$m à^md ñnï> ZOa AmVm h¡ & do AmH$medmUr Ho$ nam_e©XmVm aho & 1961
_| ^maV gaH$ma Zo BÝh| nX²_ ŷfU go Ab§H¥$V {H$`m & CÝh| "H$bm Am¡a ~y‹T>m Mm±X' H${dVm
g§J«h na gm{hË` AH$mX_r nwañH$ma Am¡a {MX§~am g§J«h na kmZnrR> nwañH$ma go gå_m{ZV
{H$`m J`m & drUm, n„d, Jmå`m, bmoH$m`VZ Am{X CZH$s à_wI aMZmE± h¢ &

12. gw{_ÌmZ§XZ n§V H$m OÝ_ H$hm± hþAm?

13. n§VOr H$mo àmá nwañH$mam| H$m n[aM` Xr{OE &

14. n§VOr H$s Mma à_wI aMZmE± MwZH$a {b{IE &

15. JÚm§e go VrZ gd©Zm_ eãX MwZH$a {b{IE &

16. JÚm§e go Xmo {H«$`m eãX MwZH$a {b{IE &

17. JÚm§e H$m g§jonU H$s{OE &

18. JÚm§e Ho$ AmYma na n§VOr H$m AmË_H$Wm§e V¡̀ ma H$s{OE &

· OÝ_

· à_wI aMZmE±

· à^md

· nwañH$ma

gyMZm : {ZåZ{b{IV 19 go 23 VH$ Ho$ àíZm| _| go {H$Ýht VrZ Ho$ CÎma {b{IE &

19. "~ƒo hm{_X Zo ~y‹T>o hm{_X H$m nmQ>© Iobm Wm &' dh _obo H$m AZŵ d ŷb Zht gH$Vm
h¡ & hm{_X Ho$ Cg {XZ H$s S>m`ar V¡̀ ma H$s{OE &

· ~ƒm| Ho$ gmW _obo _| ^mJ boZm

· {Ibm¡Zm Zht IarXZm

· {_Ìm| go ao~S>r Zht {_bZm

· {M_Q>m IarXZm

· _m± H$s Iwer

(2)

(3 × 8 = 24)

(3)

(1)

(2)

(3)

(7)

(7)
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20. "AmO H$s ẁdm nr‹T>r A§VOm©b (Internet) H$m Jwbm_ h¡ &' Bg {df` na C„oI H$aVo
hþE {Z~§Y {b{IE &

· {dkmZ Am¡a _mZd

· kmZ H$m {dñ\$moQ>Z

· OrdZmon`moJr

· AdJwUm| H$s g¥{ï>

· Cn`moJ _| gVH©$Vm

· ZB© nr‹T>r H$m OmJaU

21. "_m± {Xb hr {Xb _| ~oQ>o Ho$ CÁÁdb ^{dî` H$s H$m_ZmE± H$aZo bJr &' AnZr Cnojm
H$s nadmh {H$E {~Zm ~oQ>o H$s Va¸$s Ho$ {bE H$m_ H$aZodmbr _m± Ho$ M[aÌ na {Q>ßnUr
{b{IE &

· J«m_rU OrdZ na AmñWm

· bmoH$JrV Ed§ H$bmAm| go n[a{MV

· B©ída ^ŠV

· ~oQ>o Ho$ à{V __Vm

· ~oQ>o H$s Va¸$s H$s H$m_Zm

22. "AmO ^r H$~ra Ho$ Xmoho àmg§{JH$ h¢ &' Bg {df` na ^mfU V¡̀ ma H$s{OE &

· {ZJw©U H$mì`Ymam

· kmZml`r emIm Ho$ à_wI H${d

· Jwê$ H$s _{h_m

· A§Y{dídmgm| H$m I§S>Z

· gm_m{OH$ EH$Vm

· H«$m§{VH$mar ^mdZm

23. "ar{VH$mbrZ gm{hË` H$s {deofVmAm|' H$m C„oI H$aVo hþE EH$ AmboI V¡̀ ma H$s{OE &

· ar{VH$mb H$m CX²̂ d

· ar{VH$mb Ho$ àdV©H$

· Ab§H$mam| H$s à_wIVm

· CÝ_wŠV ào_ H$s A{^ì`pŠV

· ào_ Ho$ {d`moJ-nj H$s à_wIVm



General Instructions to Candidates :

There is a 'Cool off time' of 15 minutes in addition to the writing time of 2½

hrs.

You are neither allowed to write your answers nor to discuss anything with

others during the 'cool off time'.

Use the ‘Cool of time’ to get familiar with questions and to plan your

answers.

Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the

same question itself.

Electronic devices except nonprogrammable calculators are not allowed in

the Examination Hall.

Part - III

ARABIC (Optional)

2½

15

Maximum : 80 Scores

Time : Hours

Cool off time : Minutes

Reg. No. .......................................

Name ...........................................
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      General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time of

2½ hrs.

l You are neither allowed to write your answers nor to discuss anything

with others during the 'cool off time'.

l Use the 'cool off time' to get familiar with questions and to plan your

answers.

l Read the questions carefully before answering.

l All questions are compulsory and only internal choice is allowed.

l When you select a question, all the sub-questions must be answered from

the same question itself.

l Electronic devices except nonprogrammable calculators are not allowed

in the Examination Hall.

ö£õxÁÈ•øÓPÒ :&

l Âøh GÊu u¢xÒÍ 2½ ©oPÐUS ÷©»õP öuõhUPzvÀ 15

{ªh[PÒ K´Ä ÷|µ©õP (cool off time) uµ¨£mkÒÍx. C¢÷|µzvÀ

Âøh GÊu÷Áõ ÂÁõvUP÷Áõ Thõx.

l C¢÷|µzvÀ ÂÚõUPøÍ¨ £izx¨¦›¢x öPõÒÍÄ® Âøhø¯

vmhªhÄ® £¯ß£kzu ÷Ásk®.

l GÀ»õ ÂÚõUPÐUS® Âøh GÊu ÷Ásk®.

l ]» ÂÚõUPÐUSU öPõkUP¨£mkÒÍ SÔ¨¦PøÍ¨ £¯ß£kzv
Âøh GÊxP.

l G»UmµõÛUì ŒõuÚ[PÒ, PõÀS@»mhøµ uÂµ AÝ©v°Àø».

Part - III

TAMIL (OPTIONAL)

Maximum : 80 Scores

Time : 2½ Hours

Cool off time : 15 Minutes

Reg. No. .......................................

Name ...........................................
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(1 •uÀ 10  Áøµ²ÒÍ ÂÚõUPÐUS›¯ ÂøhPøÍz
@uº¢öukzx GÊxP.)

1.  GxøP @©õøÚ Aø©¢xÒÍ PÂøu ÁiÁ®

(A) ©µ¦UPÂøu (B)  ¦xUPÂøu

(C) øíUT (D) |õmk¨¦Ó¨£õhÀ

2. “Cµõ©ß CµõÁnøÚU öPõßÓõß” & CÆÁõUQ¯zvß

öŒ¯¨£kö£õ¸Ò

(A) Cµõ©ß (B)  öPõßÓõß

(C) CµõÁnß (D) öŒ¯¨£kö£õ¸Ò CÀø»

3. ‘AÁ¸øh¯ ]Û©õ ö©õÈ BÐø© AmhPõŒ©õÚ JßÖ’

GßÖ £õ¾©@P¢vµõ öŒõÀ¾® AÍÄUS¨ ¤µª¨ø£

HØ£kzv¯Áº

(A) Œzv¯âz@µ (B)  AQµõ S@µõŒÁõ

(C) µõ• Põ›¯m (D) QŸè PºÚõk

4. P¸zøu¨ ¦»¨£kzxÁvÀ J¸Á›ß @uºa]ø¯U PõmkÁx,

AÁµx

(A) ö©õÈzvÓ® (B)  ö©õÈ BºÁ®

(C) ö©õÈ¨¦»ø© (D) ö©õÈ B#Ä

5. ‘Psnß Eshõß’ GßÓ öuõhº Põmk® ÂøÚ

(A) GaŒÂøÚ (B)  ußÂøÚ

(C) ¤ÓÂøÚ (D) öŒ¯¨£õmkÂøÚ

10 × 1 = 10
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6. Áø»¨§UPøÍ ÁiÁø©zxa öŒ¯»õUSÁvÀ £µÁ»õP¨

£¯ß£õmiÀ EÒÍ {ÖÁÚ®

(A) ¯õT (B)  G®.Gì.Gß

(C) TQÒ (D) ŸiL¨ö©°À

7. v›PkP® GßÝ® ¡ø» C¯ØÔ¯Áº

(A) Põ›¯õŒõß (B)  |À»õuÚõº

(C) •ßÖøµ¯øµ¯Úõº (D) ÂÍ®¤|õPÚõº

8. ‘@Põmh¯zvØSa öŒÀ¾® £õøu Gx?’ Gß£x

(A) I¯ ÂÚõ (B)  AÔ¯õ ÂÚõ

(C) AÔÂÚõ (D) HÁÀ ÂÚõ

9. ©µ¤ß Â¸zu¨£õhÀ KøŒ@¯õk ¦xUPÂøuPÒ £øhzuÁº

(A) |. ¤aŒ‰ºzv (B)  •. @©zuõ

(C) A¨xÀ µS©õß (D) bõÚUTzuß

10. ‘ÁPµ®’ Gß£x &&&&&&&&&&&&&&&& J¼¯õS®.

(A) Asn (B)  ‰US

(C) £À¼uÌ (D) CuÌ
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(11 •uÀ 14  Áøµ²ÒÍÁØøÓa Œ›¯õP¨ ö£õ¸zxP.)

11. ©xøµUPõg] & ÂÍ®¤|õPÚõº

12. £Çö©õÈ & Põ›¯õŒõß

13. ]Ö£gŒ‰»® & ©õ[Si ©¸uÚõº

14. |õß©oUPiøP & •ßÖøÓ Aøµ¯Úõº

(15 •uÀ 18  Áøµ²ÒÍ ÂÚõUPÒ JÆöÁõßÖUS® ‰ßÖ
P¸zxPÒ Aø©²®£i Âøh GÊxP.)

15. “C»UPn[PÐUS A¨£õÀ

C¸UQÓx AÇS

öŒ¯ØøPUS A¨£õÀ

C¸UQÓx ”u¢vµ®

G[@P AÇS® ”u¢vµ•® Es@hõ

A[@Puõß

©õÝh® v¸ÂÇõU öPõshõkQÓx”

& GßÓ A¨xÀ µS©õÛß Á›PøÍ Â©ºŒÚ® öŒ#P.

16. Cøn¯uÍ®, Áø»¨§UPÒ CÁØÔØQøh@¯¯õÚ

@ÁÖ£õkPøÍU PshÔ¢x SÔ¨¦ u¯õ›UP.

4 × 1 = 4

4 × 3 = 12
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17. “P¸zx¨ £›©õØÓzvØPõÚ J¸ P¸Â ©mk@© ö©õÈ”

CUTØøÓ {ÖÄP.

18. @£õ›ÚõÀ HØ£k® wø©PÒ SÔzx ©UPÒ ©zv°À

ÂÈ¨¦nºÄ HØ£kzu ‰ßÖ •zvøµ ÁõUQ¯[PÒ

GÊxP.

(19 •uÀ 23  Áøµ²ÒÍ ÂÚõUPÒ JÆöÁõßÖUS® |õßS

P¸zxPÒ Aø©²®£i Âøh GÊxP.)

19. JÊUPzvß G#xÁº @©ßø©; CÊUPzvß

G#x® G#uõ¨ £È

& CUSÓm£õøÁ AøŒ, ^º ¤›zx GÊxP.

20. Qµõª¯ Pø»ÂÇõÂØSU PµPõmhU Pø»bº J¸Áº

Á¸øP u¢xÒÍõº. @|ºPõnÀ ö£õÖ¨¤øÚ

HØÖUöPõsh }[PÒ ÂÚõ {µÀ JßøÓz u¯õº

öŒ#²[PÒ. (|õßS ÂÚõUPÒ)

21. “uªÌ ö©õÈ°ß uÛzußø©PÒ” GßÝ® uø»¨¤À

]ÖPmkøµ ÁøµP.

22. £õ¾©@P¢vµõÂß ]Û©õzxøÓ AÝ£ÁzøuU

P»¢uõ#Ä öŒ#x AÝ£ÁU SÔ¨£õPz u¸P.

23. EÇÁº £õhÀPÒ Áõ°»õP AÔ¯»õS® EÇÄz öuõÈÀ

öuõhº£õÚ öŒ#vPøÍz öuõSzöuÊxP.

5 × 4 = 20
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(24, 25  ÂÚõUPÒ JÆöÁõßÖUS® I¢x P¸zxPÒ Aø©²®£i

Âøh GÊxP.)

24. RÌÁ¸® £Çö©õÈPøÍ ÂÍUQ GÊxP.

* PõUøPUS® uß Sg” ö£õß Sg”

* ̄ õøÚUS® Ai ŒÖUS®

25. S¸ÂUS @Ásk@PõÒ GßÓ PÂøu Enºzx®

|Pµ©¯©õu¼ß ÂøÍÄPøÍz vµmi ©v¨¥k öŒ#P.

(26 •uÀ 28  Áøµ°»õÚ ÂÚõUPÐUS Cµsk £UP[PÐUSU

SøÓ¯õ©À Pmkøµ ÁiÂÀ Âøh u¸P.)

26. Cøn¯uÍ® ÁÈ¯õPU PÀÂ £°ÀÁuõÀ ÂøÍ²®

£¯ßPøÍ ÂÍUQ ]ÖPmkøµ GÊxP.

(AÀ»x)

“Cøn¯uÍ•® CÍ¢uø»•øÓ°Ú¸®” GßÓ

uø»¨¤À J¸ öŒõØö£õÈÄU Pmkøµ u¯õ›UP.

27. ö©õÈ°¯¼ß ¤›ÄPøÍ¨ £SzxUPõmi “P¸zx¨

£›©õØÓzvØPõÚ J¸ P¸Â ©mk@© ö©õÈ” GßÝ®

uø»¨¤À Pmkøµ ÁøµP.

(AÀ»x)

2 × 5 = 10

3 × 8 = 24
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(AÀ»x)

“ö©õÈ¯õÀ BPõ¯zvÀ £¢uÀ@£õh •i²®.

A¸Á©õÚøu²® E¸Á®@£õÀ ÂÍUQ ÁºoUP

•i²®. Ps•ß CÀ»õuÁØøÓ²® öŒõÀ@»õÂ¯©õUQ

©ÚUPsoÀ Põmh •i²®” & CUP¸zvß

Ai¨£øh°À ‘uªÌ ö©õÈ°ß ]Ó¨¦PÒ’ GßÝ®

uø»¨¤À P¸zuµ[PU Pmkøµ u¯õ›UP.

28. C¯ØøP EnÄ Es£uõÀ ÂøÍ²® £¯ßPøÍ

ÂÍUQU Pmkøµ GÊxP.

(AÀ»x)

”ØÖ¨¦Óa ‹ÇÀ vÚÂÇõÂÀ Pmkøµ Áõ]UP

“C¯ØøP@¯õk Cø¯¢u ÁõÌ@Á |»©õÚ ÁõÌÄ”

GßÝ® uø»¨¤À Pmkøµ ÁøµP.
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Reg. No. .......................................

Name ............................................

Part - III

KANNADA (OPTIONAL)

Maximum : 80 Scores

Time : 2½ Hours

Cool off time : 15 Minutes

F.Y.

March 2017
641

ÓÜÄ¿Þ Ü̈ EñÜ¤ÃÜÊÜ®Üá° BÊÜÃÜ|©í Ü̈ BÄÔ ŸÃæÀáÄ :

1. ""®Üáw Ü̈Ãæ ÊÜáá£¤®Ü ÖÝÃÜ̈ Üí£ÃÜ̧ æàPÜá'' D ÊÜÞñÜ®Üá° ÖæàÚ Ü̈ÊÜÃÜá ¿ÞÃÜá?

(APÜRÊÜáÖÝ æ̈àË, ŸÓÜÊÜ|¡™, æ̈àÊÜÃÜ̈ ÝÔÊÜá¿áÂ™, AÆÉÊÜá±ÜÅ»Üá)

2. "ÊÜáá¨ÝÅÊÜáígãÐÜÊÜâ ' D PÜê£¿á®Üá° ŸÃæ̈ ÜÊÜÃÜá ¿ÞÃÜá?

(¹.Gí.ÎÅà™, Pæí±Üâ®ÝÃÝ¿á|, ÎÊÜÃÝÊÜá PÝÃÜíñÜ, ÎÅà¯ÊÝÓÜ)

General Instructions to Candidates :

· There is a 'Cool off time' of 15 minutes in addition to the writing time of

2½ hrs.

· You are neither allowed to write your answers nor to discuss anything with

others during the 'cool off time'.

· Use the 'cool off time' to get familiar with questions and to plan your answers.

· Read questions carefully before answering.

· All questions are compulsory and only internal choice is allowed.

· When you select a question, all the sub-questions must be answered from the

same question itself.

· Electronic devices except nonprogrammable calculators are not allowed in

the Examination Hall.

Ë¨ÝÂ¦ìWÜÚWæ ÓÜãaÜ®æWÜÙÜá :

· EñÜ¤ÃÜ ŸÃæ¿áÆá 2½ WÜípæWÜÙÜ ÓÜÊÜá¿áÊÜÆÉ̈ æ 15 ¯ËáÐÜWÜÙÜ "PÜãÇ… B´… pæçÊÜå…'®Üá° ¯àvÜÇÝX æ̈.

· "PÜãÇ… B´… pæçÊÜå…' ®ÜÈÉ EñÜ¤ÃÜWÜÙÜ®Üá° ŸÃæ¿ááÊÜâ¨ÝWÜÈà CñÜÃÜÃæãí©Wæ aÜbìÓÜáÊÜâ¨ÝWÜÈà ÊÜÞvÜ̧ ÝÃÜ̈ Üá.

· "PÜãÇ… B´… pæçÊÜå…®Üá°' ±ÜÅÍæ°WÜÙÜ®Üá° ±ÜÄaÜ¿á ÊÜÞwPæãÙÜÛÆá ÖÝWÜã EñÜ¤ÃÜWÜÙÜ PÜáÄñÜá BÇæãàbÓÜÆá
E±ÜÁãàXÔÄ.

· EñÜ¤ÃÜWÜÙÜ®Üá° ŸÃæ¿ááÊÜ Êæã Ü̈Æá ±ÜÅÍæ°WÜÙÜ®Üá° WÜÊÜá®ÜËoár K©Ä.

· GÆÉ ±ÜÅÍæ°WÜÙÜã PÜvÝx¿áÊÝXÊæ. BÁáRWÜÚÃÜáÊÜ ±ÜÅÍæ°WÜÙÜÈÉ ¿ÞÊÜâ¨Ý Ü̈ÃÜã Jí Ü̈®Üá° ÊÜÞñÜÅ EñÜ¤ÄÔÄ.

(1)

(1)
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3. "ÃÝÐÜóPÜË' ±ÜÅÍÜÔ¤¿á®Üá° ±Üvæ̈ Ü PÜË ¿ÞÃÜá?

(¸æàí¨æÅ™, ÊÜÞÔ¤™, WæãàËí¨Ü ±æç™,Wæãà±ÝÆPÜêÐÜ¡ AwWÜ)

4. PÜ®Ü°vÜ »ÝÐæ¿áá ¿ÞÊÜ »ÝÐÝ ÊÜWÜìPæR ÓæàÄ æ̈?

(Cívæãà¿áãÃæãà±ÜÂ®…, ¨ÝÅËvÜ, BÓæãóàHÐÝÂqP…, q¸æpæãà ŸÊÜáì®…)

5. PÜ®Ü°vÜ̈ Ü AñÜÂíñÜ ÖÜÙæ¿á ÍÝÓÜ®Ü ¿ÞÊÜâ Ü̈á?

(ÖÜÈ¾w ÍÝÓÜ®Ü. ñÜÙÜíWÜÃæ ÍÝÓÜ®Ü, PÜ±æ³ AÃÜ»Üor®Ü ÍÝÓÜ®Ü, ÆPÜáRíw ÍÝÓÜ®Ü)

ÓÜãaÜ®æ¿áíñæ EñÜ¤ÄÔÄ :

6. ÓÜpæ&D ±Ü̈ Ü̈ Ü A¥ÜìÊÜ®Üá° ŸÃæÀáÄ.

7. ËÎÐÜr & D ±Ü̈ Ü̈ Ü »ÝÊÜ®ÝÊÜá ÃÜã±ÜÊÜ®Üá° ŸÃæÀáÄ.

8. AÃÜÊÜá®æ&D ±Ü̈ ÜÊÜ®Üá° ËWÜÅ×Ô ŸÃæÀáÄ.

9. æ̧ÚWæY ̧ æàWÜ®æ G Ü̈áª ÆÊÜÆËPæÀáí Ü̈ KvÝw Ü̈Ãæ ÊÜÞñÜÅ ®ÝÊÜâ BÃæãàWÜÂÊÜíñÜÃÝWÜŸÖÜá Ü̈á &

D ÊÝPÜÂÊÜ®Üá° GÃÜvÜá ÓÜÃÜÙÜ ÊÝPÜÂWÜÙÝX ŸÃæÀáÄ.

10. PÝÊÜÂ&D ±Ü̈ Ü̈ Ü  ñÜ̈ Ü½ÊÜ ÃÜã±ÜÊÜ®Üá° ŸÃæÀáÄ.

11. "A'Ë»ÝWÜ̈ æãí©Wæ "B' ÊÜáñÜá¤ "C' Ë»ÝWÜÊÜ®Üá° Öæãí©Ô ŸÃæÀáÄ.

   A               B    C

1 ÓÜá.ÃÜí.GPÜáRíw ¸ÝÎíWÜ ŸÆ PÜÊÜ®Ü

2 ÓÝ.ÃÝ.AŸãŸPÜÃ… ŸPÜáÆ Ü̈ ÖÜãÊÜâWÜÙÜá ÖÜÃÜpæ

3 ÎÅà¯ÊÝÓÜ Êæç Ü̈Â™ aÜí Ü̈ÅXÄ¿á £àÃÜ̈ ÜÈÉ PÜñæ

4 A.ÃÝ.ËáñÜÅ™ HÙÜ¿áÂ æ̧ÙÜWÝÀáñÜá PÝ Ü̈íŸÄ

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(4 x 1 = 4)
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GÃÜvæãà ÊÜáãÃæãà ÊÝPÜÂWÜÙÜÈÉ EñÜ¤ÄÔÄ :

12. AÚÊÜá®Ü̈ ÜÊÜ®Ü »ÜQ¤¿á®Üá° hæàvÜÃÜ ¨ÝÔÊÜá¿áÂ®Üá ñÜ®Ü° ÊÜaÜ®Ü̈ ÜÈÉ  ÖæàWæ ËvÜí¹Ô¨Ýª®æ?

13. ñÝÀá¿áá EñÝÅiWæ ¯àw Ü̈ E±Ü̈ æàÍÜ̈ Ü ÊÜáÖÜñÜÌÊæà®Üá?

14. ""Aí©¯í¨Ü &Aí©¯í¨Ü ¿ÞñÜPæ ; B ûÜ|©í¨Ü ±æío¿áÂ®Ü ¹Ú AíX Gí¨Üã

¹Ú¿ÞXÃÜÈÆÉ''&PÜËñæ¿áÈÉ®Ü D ÊÜÞ£®Ü A¥ÜìÊæà®Üá?

15. PæÙÜWæ ¯àvÜÇÝ Ü̈ WÝÅÊÜáÂ »ÝÐæ¿á WÜ̈ ÜÂ»ÝWÜÊÜ®Üá° ÎÐÜr PÜ®Ü°vÜPæR Ÿ Ü̈ÇÝÀáÔ ŸÃæÀáÄ.

""®ÝÊÜâ C Ü̈ ¿áÃÜWÜpÝr$ÂÊÜÃÜ, ®ÝPÜá PÜãÄWæ ÖæãÆ B¨ÝÊÜâ. FÃÝWÜ ÊÜá¯ AÀá¤™. Öæãqr
Ÿqr bí£ÆÉ .... ¯à BÃÝ GÐÜár ©ÊÜÕíñÜ ¯ÊÜá¾|¡®Ü Öæà~¤ Pæç¿ÞWÜ ÓÜíPÜr ±Üw¤™. A Ü̈PÜR ÊÜáñÜ¤ ¯à
ÖÜãí Aí Ü̈ÃÜ ÖÝÂWÜã ¯à ñÜí© Ü̈ª GvÜx ¸ÝÎíWÜ A¨ÝÊÜâ''

ÓÜíü±Ü¤ÊÝX EñÜ¤ÄÔÄ :

16. ¯àÄ®Ü ÓÜÊÜáÓæÂ¿á £àÊÜÅñæ¿áá "ÊÜáÙæ¿á ¨Ü¿áÊÜÞvæãà' QàñÜì®æ¿áÈÉ ÖæàWæ ÊÜáãw
Ÿí© æ̈?

17. "ÊÜÞñÜá æ̧ÚÛ , ÊÜåè®Ü ŸíWÝÃÜ'& D WÝ æ̈ ÊÜÞ£®Ü A¥ÜìÊÜ®Üá° ËÓÜ¤ÄÔ ŸÃæÀáÄ

18. Ÿá Ü̈œ ÖÝWÜã B®Üí Ü̈&CÊÜÃÜ ®ÜvÜáË®Ü ÓÜí»ÝÐÜOæ¿á ÓÝÌÃÜÓÜÂÊÜ®Üá° ¯ÃÜã²ÔÄ.

19. " æ̧àÊÜâ ̧ æÆÉ̈ æãÚvÜÇæà®Üá ́ ÜÆ' GíŸ QàñÜì®æ¿á ÊÜáãÆPÜ ±ÜâÃÜí Ü̈ÃÜ̈ ÝÓÜÃÜá ÓÜÊÜÞgPæR ̄ àw Ü̈

ÓÜí æ̈àÍÜÊæà®Üá?

20. ±Üâ|ÂPæãàq¿á ÊÜñÜì®æ¿á ËÍæàÐÜñæ¿á®Üá° ¯ÊÜá¾ ÊÜÞñÜáWÜÙÜÈÉ ŸÃæÀáÄ.

21. "Êæã Ü̈ÆX£¤' PÜËñæ¿á BÍÜ¿áÊÜ®Üá° ŸÃæÀáÄ.

22. "±æío¿áÂ®Ü AíX' ÖÝWÜã "±æpæãÅàÊÜÞÂP…Õ ÖæãñÜ¤ÊÜÃÜá' D GÃÜvÜá PÜÊÜ®ÜWÜÙÜÈÉ ŸvÜÊÜÃÜ PÜÐÜrÊÜ®Üá°

ÖæàÙÜÇÝX æ̈. CÊÜâWÜÙÜ®Üá° ±ÜÃÜÓÜ³ÃÜ ÖæãàÈÔ QÃÜáÇæàS®Ü ŸÃæÀáÄ.

(3)

(4)

(5)

(3)

(3)

(3)

(3)

(4)

(4)

(4)

(5)
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23. "ŸÄWæãvÜWÜÚWæ ÓÜÊÜÞ«Ý®Ü' PÜËñæ¿á BÓÝÌ̈ Ü®Ü q±Ü³~ ŸÃæÀáÄ.

24. ¿áûÜWÝ®Ü PÜÇÝË Ü̈ÃæãŸºÃÜ®Üá° ÓÜí Ü̈ÎìÓÜÆá AWÜñÜÂÊÝ Ü̈ ±ÜÅÍÝ°ÊÜÚ¿á®Üá° ñÜ¿ÞÄÔÄ.

(PǕ ÐÜu Gíoá ±ÜÅÍæ°WÜÚÃÜÈ)

Jí Ü̈ãÊÜÃæ ±ÜâoWÜÚWæ ËáàÃÜ̈ Üíñæ EñÜ¤ÄÔÄ :

25. B«Üá¯PÜ ÓÜÊÜÞg Ü̈ÈÉ®Ü ÊÜáPÜRÙÜ iàÊÜ®Ü Äà£ ÖÝWÜã A Ü̈á ÖæñÜ¤ÊÜÃÜÈÉ EíoáÊÜÞvÜáÊÜ ñÜÙÜÊÜáÙÜ

" æ̧ÙÜÓÜá' PÜÊÜ®Ü̈ ÜÈÉ PÜÊÜ¿á£Å ÖæàWæ b£ÅÔ¨ÝªÃæ?

A¥ÜÊÝ

"ÖæàÊÜáPÜão©í Ü̈ Ÿí Ü̈ ÊæáàÇæ' PÜñæ¿áÈÉ  B£¾à¿áñæ, ²Åà£, Óæ°àÖÜ CÊÜâWÜÙÜ ±ÜÅ£ÃÜã±ÜÊÝX
ÍÜPÜáíñÜÇæ¿áá PÝ~ÔPæãÙÜáÛñÝ¤Ùæ'' D ÊÜÞñÜ®Üá° ÓÜÊÜá¦ìÔ ŸÃæÀáÄ.

26. "¸ÝÎíWÜ ŸÆ' PÜñæ¿áÈÉ ÖÜÚÛ¿á ±ÜÄÓÜÃÜ̈ Ü ÊÜááWÜœÊÜá®ÜÔÕ®Ü WÜívÜá Öæ|á¡WÜÚŸºÃÜ ±ÜÅÓÜíWÜÊÜâ

WÝÅÊÜáÂ »ÝÐæ¿áÈÉ ÖæàWæ ÓÜáí Ü̈ÃÜÊÝX bñÜÅ|Wæãíw æ̈? ËÊÜÄÔÄ.

A¥ÜÊÝ

ÓÜÊÜÞg¨ÜÈÉ®Ü Ô÷à¿áÃÜ AÓÜÖÝ¿áPÜñæ¿áá "aÜí¨ÜÅXÄ¿á £àÃÜ¨ÜÈÉ ' PÝ¨ÜíŸÄ¿áÈÉ

±ÜÅ£¹í¹Ô æ̈Ááà? ¯ÊÜá¾ A¼±ÝÅ¿áÊÜ®Üá° ÓÜÊÜá¦ìÔ ŸÃæÀáÄ.

(5)

(8)

(8)

(4)

(8)

(8)



General Instructions to Candidates :

There is a 'Cool off time' of 15 minutes in addition to the writing time of 2½ hrs.

You are neither allowed to write your answers nor to discuss anything with

others during the 'cool off time'.

Use the ‘Cool of time’ to get familiar with questions and to plan your answers.

Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the

same question itself.

Electronic devices except nonprogrammable calculators are not allowed in the

Examination Hall.

Part - III

URDU (Optional)

2½

15

Maximum : 80 Scores

Time : Hours

Cool off time : Minutes

Reg. No. .......................................

Name ...........................................

F.Y.

March 2017
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Reg. No. .......................................

Name ............................................

Part - III

ENGLISH LITERATURE

Maximum : 80 Scores

Time : 2½ Hours

Cool off time : 15 Minutes

F.Y.

March 2017

         General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time of 2½ hrs.

l You are neither allowed to write your answers nor to discuss anything with

others during the 'cool off time'.

l Use the ‘cool off time’ to get familiar with questions and to plan your answers.

l Read the questions carefully before answering.

l All questions are compulsory and only internal choice is allowed.

l When you select a question, all the sub-questions must be answered from the

same question itself.

l Electronic devices except nonprogrammable calculators are not allowed in the

Examination Hall.

I. Answer the following questions in a word, a phrase or in a sentence. Each

question carries one mark.

1. 'Or what strong hand can hold his swift foot back'

The 'swift foot' the speaker refers to is .................... .

2. A poem that expresses a subjective, personal point of view is

called .................. .

3. 'On what wings dare he aspire?'

The poetic device used in this line is .............. .

4. 'O Cuckoo! Shall I call thee Bird,

Or but a wandering voice?'

The underlined word is an example of ................ .

643

(12 × 1 = 12)
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5. The poem, 'Never Again Would Bird's Song Be the Same' is set

in ................. .

6. 'The shade sang with her;

The leaves, their whispers turned to kissing',

The figure of speech used in these lines is ............... .

7. '........ I call

That piece a wonder, now: Fra Pandolf's hands

Worked busily a day and there she stands'.

What is the 'piece' referred to here?

8. What did the speaker in the poem, 'I Had Gone A-Begging' give the

king?

9. Who are the possible bangle buyers in Sarojini Naidu's poem, 'Bangle

Sellers'?

10. Who is the ostler mentioned in the poem, 'The Highway Man'?

11. What does the 'jail' stands for in the poem, 'Oppression'?

12. '....... little boats

that sail

toward those isles of yours that wait for me'.

What do 'isles' refer to?

II. Answer the following questions in two or three sentences. Each question

carries two marks.

13. What promise does the speaker in the poem, 'A Red Red Rose' give

his love?

14. How does the poet say in the poem, 'If you Forget Me' that he cannot

stop loving his beloved?

(4 × 2 = 8)
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15. What is described as a 'trick' by the owner of the restaurant in the

story, 'A Man' by Vaikom Muhammed Basheer? What made the

narrator behave so?

16. What objections did Prokofy Osipitch raise to Zapiokin's speech?

III. Answer the following questions in a paragraph of 60 words each. Each

question carries four marks.

17. Why does the poet attempt a sonnet on Time's best jewel? What

miracle does he expect his sonnet will do?

18. How does Sarojini Naidu glorify womanhood in her poem, 'Bangle

Sellers'?

19. Why does llosa think that literature is not a luxury pastime?

20. How does Alice Walker connect horse breeding and abuse of black

women in slavery?

IV. Answer any four of the following questions in a paragraph of 80 words

each. Each question carries five marks.

21. Attempt a paragraph on the element of satire as reflected in the story,

'The Orator'  by Anton Chekhov.

22. How does the story, 'The Romance of a Busy Broker' portray the

machine like existence of human beings in a capitalistic society?

23. Attempt a character sketch of Rosemary Fell in the story, 'A Cup of

Tea'.

24. Write a paragraph on the theme of the story, 'A Canary for One' by

Ernest Hemingway.

25. Bring out the element of satire as revealed in the story, 'A Man' by

Vaikom Muhammed Basheer.

(4 × 4 = 16)

(4 × 5 = 20)
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V. Answer the following questions in not less than 300 words. To the questions

26 and 27 write from the internal choices. Each question carries

eight marks.

26. What elements of Romantic poetry do you find in the poem, 'To the

Cuckoo'? Attempt an essay considering the poem as a Romantic lyric.

(Hints : Choice of subject matter – common life – subjective feelings

– role of nature – importance to emotions and feelings – beauty,

innocence of childhood – poetic devices).

OR

The poem, 'Elegy for Jane' explores the impact of one human life on

another, outside the context of family or romantic love. Prepare a

critical review of the poem.

(Hints : Qualities of an elegy – deviation from the traditional

lamentation – mood of the protagonist – images revealing the

qualities of the deceased – loss – pensive mood – setting of the poem

– pathetic fallacy – final reconciliation).

27. What are the characteristic features of A. G. Gardiner's essays

reflected in his essay, 'On Saying Please'?

(Hints : Star like radiance – terseness – trivial themes – basic truth

of life – choice of words – tone – anecdotes etc.).

OR

What makes the memoir 'Last Day at School' by Giovanni Mosca

interesting to the readers? Attempt a critical appreciation of the

memoir bringing out the salient features of his writings.

(Hints : Minimalist style – influence of Hemingway – simple

sentences – conversations – details left out – imagination of the

readers – implied meaning).

VI. Answer the following questions in not less than 300 words. The question

carries eight marks.

28. Consider 'When Lincoln Came to Pittsburgh' as a radio play which

employs voice, sound effects, music and silence in conveying emotion

and meaning to dialogues.

(Hints : Features of a radio play – choice of the theme – age of main

characters – importance of dialogues – offstage – voice over – suspense

– interior and exterior setting – music – etc.).

(2 × 8 = 16)

(1 × 8 = 8)
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Reg. No. .......................................

Name ............................................

Part - III

COMMUNICATIVE ENGLISH

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

F.Y.
March 2017

644

Choose the most appropriate phrase and complete the sentence.

1. There is a police car outside the shop. Do you know what is ............ there?

a) went on b) going on

c) going about d) going along with

2. If you are preparing dough by pressing a mixture of flour, water etc., with
your hands, you are .............

a) peeling b) chopping

c) kneading d) seasoning

3. I am working for a television channel. My work is arranging text and
pictures for programmes. Basically, I am a ..........

a) graphic designer b) proof reader

c) script writer d) subeditor

         General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

(1)

(1)

(1)
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4. 'I have butterflies in my stomach' means ..........
a) I have just had a stomach operation
b) I have got a stomach ache
c) I feel worried
d) I have eaten butterflies

5. Eating five pieces of fruit a day will give you .......... vitamins and minerals
to stay healthy.

a) enough b) too many
c) few d) a few

6. Find the odd one out.

a) Correspondent b) Editor
c) Reporter d) Journalist

7. Which one of the following words contains the sound, /U /?

a) Shut b) Fun
c) Food d) Could

8. For a healthy life, you need to have a ......... diet.

a) balanced b) delicious
c) spicy d) heavy

9. Transcribe the following words into phonemic script.

a) dance b) shout

10. Correct the errors in the following sentences.

a) I enjoy to swim.

b) I would like to get some informations about the new car.

(1)

(1)

(1)

(1)

(1)

(2)

(2)
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11. Read the following sentence from a news report and create a headline for
it.

The 64th Kerala State Table Tennis Championship, in all categories, begins
at the Rajiv Gandhi Indoor Stadium, Kadavanthava, on Tuesday.

12. Prepare a script for an announcement in a railway station about the late
arrival of a train.

(Hints : Train number, name, route).

13. A friend of yours is in the habit of misusing mobile phones. Write two
sentences reminding him of the consequences of cyber crime.

14. A teacher of your school has won a national award. Prepare a banner to
congratulate him.

15. Rewrite the following news headlines into normal sentences.

a) Two killed on NH 17

b) Earthquake kills thirty two

16. You are planning to sell your old TV set. Prepare a description of the TV
set with a caption to be posted on a classified website.

17. Write a news report about an event that happened recently in your locality.

18. Imagine that you are planning a trip to Thekkadi and you want to call the
travel agent for assistance. Write a possible conversation between you and
the travel agent.

(4)

(2)

(2)

(2)

(2)

(4)

(4)

(5)
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19. The ingredients of a recipe are given below. Complete the recipe by writing
the instructions. Give a name to the dish.

Oil : 50 ml

Garlic : 1 kg

Ginger : 50 grams

Mustard : 1 table spoon

Chilly powder : 4 table spoon

Vinegar : 100 ml

20. You have come across a job advertisement inviting application to the post
of English language trainer in a language institute. Prepare a CV and a
cover letter to apply for the post.

21. Write a letter of complaint to the manager of a restaurant about the
poor services you were offered.

(Hints : Hygiene – tasteless food – ill mannered staff).

22. You visited Bangalore city last summer. Prepare a write-up describing
your travel experience.

OR

Yor are the secretary of the tourism club of your school. You want to visit
Taj Mahal. Draft a letter to the tourism information office Agra to collect
the information regarding time of visit, accommodation etc.

(5)

(6)

(6)

(6)
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      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

Part - III

SANSKRIT SAHITYA

Maximum : 80 Scores

Time : 2½ Hours
Cool off time : 15 Minutes

Reg. No. .......................................

Name ...........................................

{ZX}em: -

gd} àíZm: g_mYò m: &

àíZmZ² gmdYmZ§ n{R>Ëdm CÎma`V &

1. AY: àXÎm§ íbmoH§$ n{R>Ëdm àíZmZm_² CÎmam{U {bIV &

{ejm j §̀ JÀN>{V H$mbn ©̀̀ mV²

gw~Õ_ybm {ZnVpÝV nmVnm: &

Ob§ ObñWmZJV§ M ewî`{V

hþV§ M XÎm§ M VW¡d {Vð>{V &&

(H$) aoIm{‘>VnX§ {díbof`V &

(I) qH$ qH$ VW¡d{Vï>{V?

(J) íbmoH$ñ`me §̀ ñddmŠ ¡̀: {bIV & (3)

(2)

(1)
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2. AY: àXÎm§ íbmoH§$ n{R>Ëdm gÝV: H$m`m©{U H$W§ AdJÀN>oV² B{V Q>rH$m§ EH$m§ {bIV &

nwamU{_Ë òd Z gmYw gdª

Z Mm{n H$mì §̀ Zd{_Ë`dÚ_² &

gÝV: narú`mÝ`VaX² ^OÝVo

_yT²>: naàË``Zò ~w{Õ: &&

3. aoIm{‘>VnXmZm§ ñWmZofw g_mZmW©H$ ẁŠV§ nX§ Cn ẁÁ` nya`V &

`{V EZ§ gOrd§ H$[aî`{V VV: gdm©Z² A{n ì`nmX{`î`{V B{V VoZ A{^{hV: & VVñV¥Vr`

Amh {YL²> _yI© Zmh§ {dÚm§ {d\$bm§ H$amo{_ & VV: VoZm{^{hV§ -V{h© àVrjñd jU§ `mdXh§

d¥j_mamohm{_ & VWmZw{ð>Vo `mdV² gOrd: H¥$V: VmdV² Vo Ì`mo@{n qghoZ CËWm` ì`nm{XVm: g

M nwZ: d¥jmV² AdVr ©̀ J¥h§ JV: &

( h{Zî`{V, dmgñWmZ_², A{IbmZ², ~«yVo, gÚ )

4. JÚ^mJo V¥Vr òZ {H$_wŠV_²?

5. nÄMVÝÌñ` H$Vm© H$:?

({dîUw e_m©,      H$m{bXmg:,      gwHw$_ma:)

6. {dÚ`m H$m CÎm_m?

(Aä`mg:,      à`ËZ:,      ~w{Õ:)

(4)

(1)

(1)

(2)

(4)
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7. AY: àXÎmofw ^dV: Bï>V_: ûcmoH$: H$: B{V gH$maU§ {deX`V &

* gm {Z:egÝVr emoH$mÎmm© H$monmonhVMoVZm &

AmVm© ì`g¥OXly{U _¡{Wbr {dbbmn M &&

* gm XXe© H$qn VÌ n{lV§ {à`dm{XZ_² &

\w$„memoH$moËH«$m^mg§ VáMm_rH$aojU_² &&

* Xþ:IoZ ~w~wYo grVm§ hZy_mZZb§H¥$Vm_² &

g§ñH$maoU² `Wm hrZm§ dmM_Wm©ÝVa§ JVm_² &&

8. AY: àXÎmofw EH$_{YH¥$Ë` bIw {Q>ßn{U {bIV &

_oënÎmya² Zmam`Ê^Å>nmXm: &

Hw$beoIa: &

S>m. Ho$. EZ². EfwÎmÀN>Z² &

9. AY: àXÎm JÚ^mJ§ n{R>Ëdm àýmZm_wÎmam{U {bIV &

AmYw{ZH$ g§ñH¥$VH${dfw AÝ`V_mo@ §̀ _hmZŵ md: S>m. {n. Ho$. Zmam`U{n„m _hm^mJ:

_hmH$mì`Û`ñ` H$Vm© ^d{V & {ddoH$mZÝXñdm{_Z: M[aV_wnOrì` {dœ^mZw: B{V,

lram_H¥$îUna_h§gM[aV_² CnOrì` Y_©gmJa: B{V M _hmH$mì`Û §̀ VoZ a{MV_² & Añ`

{dœ^mZwZm_H§$ _hmH$mì §̀ CÎmaàXoegd©H$maoU H$m{bXmg gå_mZoZ nwañH¥$V_² & Ho$abr`gm{hË`

A¸$X_r nwañH$ma: M A`_b^V & npÊS>VdaoÊ`mo@ §̀ Ho$abgd©H$bmembm`m: _b`mb{d^mJñ`

àW_mÜ`jnXdr_² Ab§H¥$VdmZ² & lre‘>amMm`© g§ñH¥$Vgd©H$bmembm g§ñWmnZ{df`o

EH$m‘>g{_{Vê$noU {df`mZ² n`m©bmoÀ` Am`moJ{ZX}emZ² g_{n©VdmZ² &

(6)

(5)
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àíZm:

(H$) S>m. {n. Ho$. Zmam`U{n„m H$: ^d{V?

(I) {ddoH$mZÝXñdm{_Z: M[aV_wnOrì` a{MV§ _hmH$mì §̀ {H$_²?

(J) Y_©gmJa _hmH$mì ò H$ñ` M[aV§ d{U©V_²?

(K) H$m{bXmggå_ZoZ nwañH¥$V§ _hmH$mì §̀ {H$_² Añ` H¥$Vo bãY AÝ §̀ nwañH$ma§ {H$_²?

(L>) {n. Ho$. Zmam`U{n„m _hm^mJ: Ho$abgd©H$bmembm`m§ qH$ nXdt Ab§H¥$VdmZ²?

10. `Wmo{MV§ `moO`V &

a) _oënÎmya² Zmam`Ê^Å>nmXm: & i) Y_©gmJa: &

b) Hw$beoIa: & ii) Ho$abmoX`_² &

c) S>m. Ho$. EZ². EfwÎmÀN>Z² & iii) Zmam`Ur`_² &

d) S>m. {n. Ho$. Zmam`U{n„m & iv) VnVrg§daU_² &

11. AY: àXÎmofw ^mgñ` ê$nH$m{U {MËdm {bIV &

_¥ÀN>H${Q>H$_² XÿVdmŠ`_² emHw$ÝVb_² gŵ ÐmYZÄO`_²

XÿVKQ>moËH$M_² H$U©̂ ma_² _Ü`_ì`m`moJ_² _mpëdH$m{¾{_Ì_²

(5)

(4)

(4)
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12. àXÎm§ ZmQ>H$m§e§ àmXo{eH$^mfm`m§ AZwdmXV &

XodH$s - O`Ëdm ©̀nwÌ: &

dgwXod: - XodH$s AY©amÁ §̀ Ibw dV©Vo & àgwámo _Wwam`m§ gdm} OZ: & Vñ_mV² `mdÞ

H${üV² ní`{V VmdV² J¥hrËdm CnH«$_m{_ &

XodH$s - ¹$ Am ©̀nwÌ B_§ Zoî`{V?

dgwXod: - Ah_{n Z OmZo AWdm `Ì X¡d§ {dYmñ`{V VÌ ~mb§ J¥hrËdm CnH«$_m{_ &

XodH$s - Am ©̀nwÌ BÀN>må òZ§ gwÑï>§ H$Vw©_² &

13. `Wmo{MV§ `moO`V &

a) AdVrU©: i) nwÌ:

b) AmbmoH$: ii) MÝÐ:

c) XmaH$: iii) àH$me:

d) eem‘>: iv) ŷbmoH§$ àmá:

14. AY: àXÎm§ ûcmoH§$ n{R>Ëdm JÚH«$_§ nya`V &

EH$Xm am_MÝÐñ`

bmb`ÝVr nXmå~wO_² &

P{Q>Ë ẁÝ_wÀ` {Mjon

grVm aËZm“xbr`H$_² &&

JÚH«$_: - EH$Xm ...... nmXmå~wO§ bmb`ÝVr ...... P{Q>{V ...... CÝ_wÀ` .... &

(5)

(4)

(4)
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15. AY: àXÎm§ ûcmoH§$ n{R>Ëdm gyMZmZwgma§ AmñdmXZQ>rH$m§ aM`V &

{Z`å` gm _mVwb BË`_fª

àgoXþfr _m_dXƒ ~mbm &

A[a_©hr`mZO{Zï> ŷ_m¡

Vdmo{MV§ gåà{V {MÝV ò{V &&

  gyMZm : Am_wI_²

Ame`_²

ñd_V_²

16. ""BË ỳMwfñVñ` nXmonH$ÊR>§'' H$: H§$ à{V {H$_yMwf:? (gyMZmZwgma§ {deX`V &)

gyMZm : - A_mË`mZm§ AmˆmZ_² & dgwXoddmŠ`ñ` gÝXoh_² & ~m{bH$m`m: dMZ_² & eÌw

{ZYm©aU_² & ÞaXñ`mopŠV: & eÌwZmýmonm`m: &

17. _mV[aœm B{V nXñ` H$mo@W©:?

(A{¾:, dm ẁ:, Ob_²)

18. AmZH$XþÝXþ{^: H$:?

(H§$g:, dgwXod:, ZÝXJmon:)

19. Ab‘>ma_² CXmhaUoZ g_Ýd`V &

àVrnmb‘>ma: - hZy_mZpãY_VaÔþîH$a§ qH$ _hmË_Zm_² &

AWm©ÝVaÝ`mgmb‘>ma: - Hw$a“¡éÎmam“mj¡ñVãYH$U£ê$Xrú`Vo &

XrnH$mb‘>ma: - Ëd„moMZg_§ nÙ§ ËdÛH«$gÑemo {dYw: &

ñd^mdmoŠË`b‘>ma: - _XoZ ^m{V H$b^: àVmnoZ² _hrn{V: &

(1)

(4)

(8)

(5)

(1)
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20. "h§grd H¥$îU Vo H$s{V©: ñdJ©“m_dJmhVo' & AÌ Cn_m dmMH$ eãX§ {H$_²?

(H¥$îU, Bd,    H$s{V©:)

21. d¥Îm§ bjUoZ `moO`V &

a) `{X Vm¡ OJm¡ J: & i) ÐþV{dbpå~V_² &

b) OVOmñVVmo Jm¡ & ii) BÝÐdO«m &

c) Z^m¡ ^am¡ & iii) dgÝV{VbH$m &

d) V^Om: OJm¡ J: & iv) CnoÝÐdO«m &

22. "Cn_m' - BË`ñ` JU§ {ZU©̀ V &

(VJU:,     _JU:,     ZJU:)

(1)

(4)

(1)
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      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

Part - III

SANSKRIT SASTHRA

Maximum : 80 Scores

Time : 2½ Hours
Cool off time : 15 Minutes

Reg. No. .......................................

Name ...........................................

{ZX}em: -
gd } àíZm: g_mYò m: &
àíZmZ² gmdYmZ§ n{R>Ëdm CÎma`V &

"H$' {d^mJ: - ì`mH$aU_² &
H$moð>H$mV² g_w{MV_wÎma§ {MËdm {bIV &
1. àgŠVñ` AXe©Z§ ........... g§k§ ñ`mV² &

(bmon, BV², `U²)

2. nm¡ + AH$: = nmdH$: - à_mUgyÌ§ {MËdm {bIV &
(AmX²JwU:, EMmo@`dm`md:, bmon: emH$ë`ñ`)

3. ŷdmX`mo ............. &
({H«$`m`moJo, BV², YmVd:)

4. VdJ©ñ` bH$mao nao ............ ñ`mV² &
(nyd©gdU©:, nagdU©:, gdU©:)

(1)

(1)

(1)

(1)
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5. {MV² + _`_² = ........... &
({MV² _`_², {MV², {MÝ_`_²)

6. {dà{VfoYo ............ H$m ©̀_² &
(nydª, na§, H$m ©̀_²)

7. AhZ² + Ah = ............. &
(Ahah, AhZh, AhÞh)

8. àm{Vn{VH$mW©{b“n[a_mUdMZ_mÌo ............... &
({ÛVr`m, àW_m, V¥Vr`m)

9. gpÝYH$m }̀ C{MV gyÌm{U H$moð>H$mV² {MËdm {bIV &
gwYr + Cnmñ`
gw Y² ²̀ Cnmñ` = ............... &
gw Y² Y² ²̀ Cnmñ` = ............ &
gw X² Y² ²̀ Cnmñ` = ............ &
(AZ{M M, BH$mò U{M, Pbm§ Oe² P{e)

10. AY: àXÎmofw gyÌofw g§km gyÌm{U {MËdm {bIV &
AXoL²>JwU:, AmX²JwU:, d¥{ÕamX¡M², d¥{Õao{M

11. AY: àXÎmofw EH§$ gyÌ§ gmoXmhaU§ ì`m»`mV &

ñVmo: íMwZm íMw: & AWdm _mo@Zwñdma: &

12. gpÝYH$m }̀ C{MV gyÌm{U H$moð>H$mV² {MËdm {bIV &
CX² + ñWmZ_²
CX² W² WmZ_² = .............. &
CX² WmZ_² = ................. &
CËWmZ_² = ................... &

(CX: ñWmñVå^mo: nyd©ñ`, Pamo P[a gdU}, I[a M)

13. "{edmo@À ©̀:' B{V gpÝYH$m }̀ ñIm{bË`_pñV MoV² VV² {Zdma`Vw &
{edg² + AÀ ©̀:
{eda² AÀ ©̀: = AVmo amoaßbwVmXßbwVo &
{ed C AÀ ©̀: = EL>nXmÝVmX{V &
{edmo AÀ ©̀: = AmX²JwU: &
{edmo@À ©̀: = ggOwfmo é: &

(1)

(1)

(1)

(1)

(4)

(2)

(3)

(3)

(3)
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14. `Wmo{MV§ `moO`V &

  H$   I

a) H$_©{U i) V¥Vr`m &
b) A{YH$aUo ii) MVwWu &
c) AnmXmZo iii) {ÛVr`m &
d) gåàXmZ_² iv) nÄM_r &
e) H$Îmw©H$aU`mo: v) gá_r &

15. àXÎmofw EH$ñ` aoIm{‘>VnXmZm§ {d^pŠV¨ gà_mU§ {bIV &
amk: nwéf: & AWdm h[a¨ ^O{V &

16. AmYma: H${V {dY:? Ho$ M Vo?

17. _mhoídagyÌm{U {bIV & gyMZmZwgmaoU AY: àXÎmm{Z àË`mhmam{U M {bIV &
AM² & BH²$ & EL²>
gyMZm : EM² - E Amo Eo Am¡ &

"I' {d^mJ: - VH©$g§J«h_²
(18–25) AY: àXÎmmZm§ g_w{MV_wÎma§ H$moð>H$mV² {ZYm©̀ © {bIV &

18. H${V nXmWm©:?
(Ûo, gá, Xe)

19. nQ>ñ` Ag_dm{` H$maU§ {H$_²?
(VÝVwg§̀ moJ:, Vwardo_m{XH§$, VÝVd:)

20. àË`j§ H${V{dY_²?
(EH${dY_², {Û{dY_², {Ì{dY_²)

21. nam_í ©̀OÝ §̀ kmZ§ ............. &

(Cn{_{V, eãX§, AZw{_{V)

22. g§km g§{k gå~ÝY kmZ§ ........... &
(AZw{_{V, Cn{_{V, emãX_²)

23. Amá dmŠ §̀ ............. &
(eãX_², dmŠ`_², nX_²)

(8)

(2)

(1)

(2)

(5)

(1)

(1)

(1)

(1)

(1)
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24. g§ñH$mam: H${V{dY:?

({Ì{dY:, EH${dY:, MVw{d©Y:)

25. AZm{X: gmÝV: .......... &

(àmJ^md:, àÜd§gm^md:, AË`ÝVm^md:)

26. H$_© {d^mJm: Ho$?

27. nya`V -

H$) Ëd{JpÝÐ`_mÌJ«mømo JwU: ............ &

I) g§̀ wŠV ì`dhmahoVw: ................. &

J) .................. J«mømo JwUmo JÝY: &

28. AY: àXÎmmZm§ bjUm{Z no{Q>H$mV: {MËdm `moO`V &

H$) H$aU_² & àmJ^mdà{V`mo{J &

I) H$maU_² & AgmYmaU§ H$maU_² &

J) H$m ª̀_² & H$m ©̀{Z`Vnydªd¥{Îm &

29. BpÝÐ`mWª g{ÞH$fm©: Ho$? {deX`V &

30. hoËdm^mgm: Ho$? g{d^mJ§ {deX`V &

31. `Wmo{MV§ `moO`V &

     H$     I

a) Xþ:I_² i) H¥${V: &

b) Y_©: ii) {Z{fÕH$_©OÝ`: &

c) gwI_² iii) {d{hVH$_©OÝ`: &

d) AY_©: iv) AZwHy$bdoXZr`_² &

e) à`ËZ: v) à{VHy$bdoXZr`_² &

32. H$_©ñ` bjU§ {H$_²?

33. AY: àXÎmofw Ûo A{YH¥$Ë` bKw {Q>ßnUt aM`V &
H$) n¥{Wdr & I) Amn: &
J) VoO: & K) dm ẁ: &

(1)

(1)

(1)

(5)

(8)

(5)

(4)

(3)

(3)

(3)
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Name ............................................

Part - III
MUSIC

Maximum : 40 Scores
Time : 1½ Hours

Cool off time : 15 Minutes

647F.Y.
March 2017

      General Instructions to Candidates :

There is a 'Cool off time' of 15 minutes in addition to the writing time of
1½ hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Malayalam version of the questions is also provided.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp

v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk

S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We V̈  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤¾RÐ

DºLp]q]¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO

CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Name the regional music of

Bengal.

2. Select the nada which belongs to

Ahata variety.

a) Anahata

b) Swara

c) Dhruva

d) Sariraja

3. .......... is the author of Chatur

Dandi Prakasika.

4. Among the sapta swaras Sa and

Pa are known as ............. swaras.

5. The symbol of Drutam is .............

6. The sapta talas are expanded

into 35 on the basis of .............

7. One avartha of aditala consists

of .......... akshara kala.

a) 12

b) 8

c) 6

d) 4

1. mUYLt]Rs yUY}fU Ar]pRÕaOÐ

SkqV.

2. Bzf jLh ¾]R£ KqO vWSnhU.

a) AjLzf

b) y~q

c) NiOv

d) wq}q^

3. \fO¡ h¼] NkWLw]WpORa

W¡¾LvV ................ BeV.

4. ykVfy~q°t]¤ y,k IÐ}

y~q°¥ ............... y~q°RtÐO

krpOÐO.

5. NhOf¾]R£ yU³ ............... BeV.

6. ykVffLt°¥ 35 fLt°tLWOÐfV

................... Snh°¥¨jOyq]\ÿLeV.

7. Bh]fLt¾]R£ KqO Bv¡¾j¾]¤

.................... AƒqWLsoLeV.

a) 12

b) 8

c) 6

d) 4

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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8. A branch of Manodharma

Sangeetha is .............

a) Gitam

b) Tanam

c) Varnum

d) Swarajathi

9. Write the names of five sthayi.

10. Differentiate between Samanya

Gitam and Lakshana Gitam.

11. Describe the varieties of Chapu

talas.

12. How do you invent the serial

numbers of the melas using

Katapayadi formula?

13. What is Manodharma

Sangeetha? Name its five

divisions.

14. Notate a gitam you have learnt.

15. Explain the life and

contributions of Purandaradasa.

OR

Explain the life and contribution

of Swathi Thirunal. (8)

(4)

(5)

8. oSjLi¡Ú yUY}f¾]R£ KqO

SoXs ................... .

a) Y}fU

b) fLjU

c) v¡¹U

d) y~q^f]

9. AµV òLp]WtORa SkRquOfOW.

10. yLoLj| Y}fvOU sƒe Y}fvOU

fÚ]sOtt v|f|LyU IuOfOW.

11. \LÕO fLt°Rt WOr]\ÿV v]vq]¨OW.

12. WakpLh] yPNfoOkSpLY]\ÿ V

Sot°tORa y}q]p¤ jÒ¡

WLeOÐRf°RjRpÐO v]wh

oL¨OW.

13. oSjLi¡Ú yUY}fU IÐL¤ IÍV?

Af]R£ AµV v]nLY°RtuOfOW.

14. j]°¥ kb]\ÿ]ŸOtt Y}fU

y~qRÕaO¾OW.

15. kOqÎqhLyqORa ^}v]fS¾pOU

yUY}f yUnLvjWStpOU

v]whoL¨OW.

ARsæË]¤

y~Lf]f]qOjLt]R£ ^}v]fS¾pOU

yUY]f yUnLvjWStpOU

v]whoL¨OW.

(8)

(5)

(4)

(4)

(1)

(2)

(8)

(4)

(5)

(8)

(5)

(4)

(4)

(1)

(2)
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Part - III

BUSINESS STUDIES

Maximum : 80 Scores
Time : 2½ Hours

Cool off time : 15 Minutes

648F.Y.
March 2017

      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from the
same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except nonprogrammable calculators are not allowed in the
Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU. CT
yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp v]j]opU
ja¾LSjL kLa]Š.
D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.
IŠL S\Lh|°¥¨OU D¾qU IuOfeU. CS£e¤ S\LpVyV oLNfSo
AjOvh]¨OWpOçO.
KqO  S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk S\Lh|°tOU
ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.
We V̈ WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q SkÕr]¤¾RÐ
DºLp]q]¨eU.
Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.
S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.
SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Which one of the following is
NOT related to the general
objectives of the business?

a) Innovation

b) Physical and financial
resources

c) Warehousing

d) Productivity

2. The business operations in a
Joint Hindu Family business is
controlled by ..........

a) partners

b) karta

c) co-parceners

d) shareholders

3. Government decided to sell the
shares in telecom department to
private sector. This is an
example of ...........

a) disinvestment

b) memorandum of undertaking

c) reconstruction

d) rehabilitation

4. ............ are licensed by the
government to accept imported
goods prior to payment of tax
and customs duty.

a) Cooperative warehouse

b) Private warehouse

c) Bonded warehouse

d) Government warehouse

1. fLRu RWLaO¾]q]¨OÐvp]¤
m]y]jô]R£ RkLfO sƒ|°t]¤
D¥RÕaL¾vSpfV?

a) jv}WqeU

b) nTf]WvOU ijkqvOoLp
v]nv°¥

c) Rvp¡zTy]UYV

d) D¤ÕLhjƒof

2. KqO z]ÎO WPŸOWOaOUm m]y]jô]Rs
Nkv¡¾j°Rt j]pNÍ]¨OÐfV
...................... BeV.

a) kL¡ŸVe¡oL¡

b) W¡¾L

c) SWLkL¡ySjuVyV

d) KLzq] DaoW¥

3. Ras]SWLU c]ÕL¡ŸVRo£]R£
KLzq]W¥ y~WLq| SoXspV¨V
v]¤¨OÐf]jV Yv¦Ro£V
f}qOoLj]¨OÐO. CfV ............... jV KqO
DhLzqeoLeV.

a) j]SƒkU k]¢vs]¨¤

b) iLqeLkNfU

c) kOj@yUZLajU

d) kOjqOÈLqeU

4. Cr¨Oof]R\pVf \q¨OW¥
j]WOf]pOU WyVãUyV f}qOvpOU
Aa¨OÐf]jO oOÒLp] y~}Wq]\ÿO
Rv¨OÐf]jV ............ òLkj°¥ V̈
Yv¦Ro£V RRsy¢yV j¤WOÐO.

a) yzWqe Rvp¡zTyV

b) y~WLq| Rvp¡zTyV

c) SmLºcV Rvp¡zTyV

d) Yv¦Ro£V Rvp¡zTyV

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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5. Transportation removes the

hindrance of ............... in trading
activities.
a) place
b) time
c) risk
d) finance

6. Mrs. Usha purchased a smart
phone from LG company through
internet is a ............. activity.

a) B2B

b) B2G

c) B2C

d) C2C

7. One of the following is against
the business ethics. Find it.

a) Charging fair price for the
product

b) Giving wages to employees
by not considering their work
load

c) Using correct measurement
for products

d) Giving chances to hear the
problems of employees

8. If a Public Limited Company is
NOT preparing the Article of
Association, it can adopt .......

a) Table A

b) Table B

c) Table C

d) Table D

(1)

(1)

5. YfLYfU v|LkLq Nkv¡¾]p]Rs

.................... fayR¾ j}¨U R\áOÐO.

a) yVgsU

b) yopU

c) jxVayLi|f

d) yLÒ¾]WU

6. Dx C£¡Rjã]sPRa I¤ ^] WÒj]

p]¤ j]ÐOU KqO yVoL¡ŸV SlL¦

vL°]\ÿORvÐfV KqO .................

Nkv¡¾]pLeV.

a) B2B

b) B2G

c) B2C

d) C2C

7. fLRu RWLaO¾]q]¨OÐvp]RsLÐV

m]y]jô]R£ iL¡Ú]WfpV¨V

If]qLeV. AvRp WRº¾OW.

a) D¤ÕÐ°¥¨V j|LpoLp

v]sp}aL¨OW.

b) RfLu]sLt]W¥ V̈ AvqORa S^Ls]

nLqU kq]Ye]¨LRf SvfjU

j¤WOW.

c) D¤ÕÐ°¥¨V WQf|oLp AtvV

DkSpLY]¨OW.

d) RfLu]sLt]WtORa NkwVj°¥

SW¥¨OW.

8. kmæ]¨V s]o]ãcV WÒj]

B¡Ÿ]¨]¥yV KLlV ASyLy]Spx¢

fáLrL¨OÐ]sæ IË]¤ kWqU

................. y~}Wq]¨LvOÐfLeV.

a) Sam]¥ I

b) Sam]¥ m]

c) Sam]¥ y]

d) Sam]¥ c](1)

(1)

(1)

(1)

(1)

(1)
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9. ............. document shows the
relationship of the company
with outsiders.

a) Articles of Association

b) Memorandum of Association

c) Prospectus

d) Certificate of Incorporation

10. ........... is the link between
wholesaler and customer.

a) Manufacturer

b) Supplier

c) Retailer

d) None of these

11. A receipt issued by the
commanding officer of ship when
the cargo is loaded on the ship
is known as ..........

a) shipping receipt

b) mates receipt

c) cargo receipt

d) charter receipt

12. Manufacturing and selling goods
beyond the boundaries of one's
own country is called ............

a) national business

b) international business

c) domestic business

d) none of these

9. ...................... BeV WÒj]pOU

kOrSopOçvqOU fÚ]sOtt mÌU

WLe]¨OÐfV.

a) B¡Ÿ]¨]¥yV KLlV

ASyLy]Spx¢

b) RoSÚLrLºU KLlV

ASyLy]Spx¢

c) SNkLyVkWVayV

d) y¡Ÿ]l]¨ãV KLlV C¢

SWL¡kSrx¢

10. DkSnLWVfLv]Rj RoL¾¨\ÿva

¨LqOoLp] mÌ]Õ]¨OÐ W¹]

..................... BeV.

a) D¤ÕLhW¡

b) v]fqe¨L¡

c) R\rOW]a W\ÿva¨L¡

d) CRfLÐOosæ

11. yLij°¥ WÕs]¤

Wpã]¨u]´L¤ WÕs]Rs

DSh|LYyVg¢ ................... qw}fV

j¤WOÐfLeV.

a) x]Õ]UYV ry}kVãV

b) Rop]ãVyV ry}kVãV

c) WL¡RYL ry}kVãV

d) \L¡Ÿ¡ ry}kVãV

12. yLij°¥ D¤ÕLh]Õ]\ÿ V  y~ÍU

qL^|¾]jÕOrS¾¨Ott yVgs

°t]¤ v]¤¨OÐf]Rj ..................

IÐV v]t]¨OÐO.

a) Shw}p m]y]jôV

b) AÍ¡Shw}p m]y]jôV

c) NkLShw]W m]y]jôV

d) CvRpLÐOosæ

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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13. Identify the form of business
organization related to the
following statements.

a) An artificial person created
by law.

b) Association of persons with
the motive of welfare of
members.

14. Write a short note on
partnership deed.

15. What do you mean by Export
Promotion Zones (EPZ)?

16. Correct the table given below, if
there is mistake.

13. fLRu RWLaO¾]q]¨OÐ NkyVfLvj

WtOoLp] mÌRÕŸ m]y]jôV

yVgLkj°StRfÐV WRº¾OW.

a) j]poNkWLqU DºL¨]p KqO

WQNf]o v|©].

b) AYU°tORa SƒoU IÐ

sƒ|S¾LaOWPa] DºL¨]p

v|©]WtORa WPŸLpVo.

14. kËLt]¾ NkoLeR¾¨Or]\ÿV KqO

sZO v]vqeU fáLrL¨OW.

15. IWVyVSkL¡ŸV RNkLSoLx¢ SyL¦

IÐfORWLºV A¡ÀoL¨OÐfV

IÍLeV?

16. fLRu fÐ]q]¨OÐ kŸ]Wp]¤

RfãORºË]¤ f]qO¾OW.

(2)

(2)

Features Types of business organization
y~nLvv]Swx°¥ m]y]jôV yUZajpORa qPkU

a) Formed by Special Act of Parliament Government company

kL¡s]Ro£V NkSf|W j]poU oOSXj Yv¦Ro£V WÒj]

qPk}Wq]¨OÐO.

b) Funds received from the Government Global Enterprise
Treasury as per budget

Yv¦Ro£V Naxr]p]¤j]ÐOU mcV^ãV BSYLt yUqUnU

NkWLqU lºV sn]¨OÐO.

17. m]y]jôV pPe]ãOW¥ o¹V

os]j}WqeoOºL¨OÐfV I°Rj&

RpÐV v]wh}Wq]¨OW.

17. Explain how the business units
make land pollution.

(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)
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18. "People work for others and get

remuneration".

a) Identify the economic

activity involved in the above

statement.

b) Write any two features of

that economic activity.

19. AM Associates in India and

C-Link Associates in Japan, two

computer assembling firms,

joined together and formed AMC

Associates to do the same

business.

a) Name the mode of

international business

mentioned above.

b) State any two advantages of

such business.

20. Explain the causes of business

risks.

21. Give a brief note about the social

responsibility of business.

22. Write any three limitations of

mail order business.

18. oãOttv¡¨V Svº] S^Ls]

R\áOWpOU SvfjU sn]¨OWpOU

R\áOÐO.

a) oOWt]¤ RWLaO¾]q]¨OÐ

NkyVfLvjp]¤ D¥RÕŸ]q]¨OÐ

yLÒ¾]W Nkv¡¾jU

JfLeV?

b) oOWt]¤ Nkf]kLh]\ÿ]q]¨OÐ

yLÒ¾]W Nkv¡¾]pORa qºV

y~nLv v]Swx°RtuOfOW.

19. WUk|PŸ¡ AyUmæ]YV yVgLkj°tLp

CÍ|p]Rs I IU ASyLy]SpãVyV

^ÕLj]Rs y]s]ËV ASyLy]SpãVyO

oLp] S\¡ÐV I IU y]

ASyLy]SpãVyV DºL¨] ASf

m]y]jôV fRÐ R\áOÐO.

a) oOWt]¤ kr´]q]¨OÐ

AÍLqLxVNa m]y]jô]R£

SkRquOfOW.

b) A¾qU m]y]jôV yVgLkj°

tORa qºV YOe°RtuOfOW.

20. m]y]jô]Rs jxVayLi|fWtORa

WLqe°¥ v]wh}Wq]¨OW.

21. m]y]jô]R£ yLoPz|

D¾qvLh]¾°Rt¨Or]\ÿ V  KqO

R\rOv]vqeU j¤WOW.

22. Rop]¤ KL¡c¡ m]y]jô]R£

JRfË]sOU oPÐV ShLx°¥

IuOfOW.

(3)

(1)

(3)

(2)

(2)

(3)

(1)

(3)

(1)

(3)

(2)

(2)

(3)

(1)
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23. a) ............ are also known as
rural industries or
traditional industries.

b) Write any three features of
these industries.

24. Explain any four characteristics
of a Government company.

25. Match the column A with
column B.

23. a) ................... Rj NYLo}e

v|vyLp°¥ ARsæË]¤

kqÒqLYf v|vyLp°¥

IÐO WPa] v]t]¨OÐO.

b) C¾qU v|vyLp°tORa

JRfË]sOU oPÐV y~nLvv]Swx

°¥ IuOfOW.

24. Yv¦Ro£V WÒj]pORa JRfË]sOU

jLsV YOev]Swx°¥ IuOfOW.

25. SWLtU A  SWLtU B pOoLp]

S\qOUka] S\¡¨OW.

(3)

26. Ram and Rahim decided to start
a mobile shop at Aluva.

a) Which form of business
organization is suitable to
them?

b) Explain different types of
such organization.

                     A                     B

a) Payment at the time of delivery i) Non-core activities

b) Plastic money ii) Cash on delivery

c) Exists in the cyber space iii) Credit / Debit card

d) Outsourcing iv) Digital cash

26. qLoOvOU rz}oOU S\¡ÐV BsOvp]¤

KqO RoLRRm¤ SxLÕV fOa°OvL¢

f}qOoLj]\ÿO.

a) Av¡¨V AjOSpL^|oLp

m]y]jôV yUZajpORa

qPkSofV?

b) A¾qU m]y]jôV yUZaj

pORa ksfqU qPk°Rt¨Or]\ÿV

v]wh}Wq]¨OW.

(1)

(4)

(4)

(4)

(1)

(3)

(1)

(4)

(4)

(4)

(1)
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27. The two main documents

required for the formation of a

company are Memorandum of

Association and Articles of

Association. What are the

differences between them?

28. Explain the features of

departmental stores.

29. This service helps to reduce the

impact of loss likely to be caused

by uncertain events in a

business.

a) Identify the name of service.

b) Explain the principles

related to such services.

OR

a) Explain the different types

of banks.

b) Explain the functions of

commercial banks.

30. Explain the factors affecting the

choice of business finance.

OR

What is meant by public
deposits? Explain its merits and
limitations as a source of finance.

27. WÒj] qPk}Wqe¾]jV Bvw|oLp

qºV NkoLe°tLeV RoSÚLrLºU

KLlV ASyLy]SpxjOU B¡Ÿ]¨]¥

yV KLlV ASyLy]SpxjOU Cv

fÚ]sOtt v|f|Ly°¥

IRÍLR¨pLeV?

28. c]ÕL¡ŸVRo£¤ yVSãLr]R£

y~nLvv]Swx°¥ v]wh}Wq]¨OW.

29. CT SyvjU m]y]jô]¤

ANkf}ƒ]f yUnv°t]sPRa

DºLWL¢ yLi|fpOtt jxVa¾]R£

SfLfV WOrpV¨OÐO.

a) Syvj SoXspORa SkqV

WRº¾OW.

b) CT Syvj SoXspOoLp]

mÌRÕŸ ff~°¥

v]wh}Wq]¨OW.

ARsæË]¤

a) v]v]ifqU mLËOWStRfÐV

v]wh}Wq]¨OW.

b) vLe]^| mLËOWtORa

Nkv¡¾j°¥ v]wh}Wq]¨OW.

30. m]y]jô]R£ yLÒ¾]W SèLfyV

RfqR´aO¨OÐf]Rj mLi]¨OÐ

ZaW°¥ v]wh}Wq]¨OW.

ARsæË]¤

RkLfO j]SƒkU IÐfORWLºV

A¡ÀoL¨OÐRfÍLeV? m]y]jô]

R£ KqO yLÒ¾]W SèLfôV IÐ

j]sp]¤ Af]R£ YOe°tOU

ShLx°tOU v]wh}Wq]¨OW.

(5)

(8)

(8)

(1)

(3)

(5)

(5)

(7)

(5)

(8)

(8)

(1)

(3)

(5)

(5)

(7)
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ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS
Maximum : 80 Scores

Time : 2½ Hours
Cool off time : 15 Minutes

649F.Y.
March 2017

      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU. CT

yop¾V S\Lh|°¥¨V D¾qU IuOfLSjL, oãOçvqOoLp] Bwp

v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk

S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We V̈  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q SkÕr]¤¾RÐ

DºLp]q]¨eU.

Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO

CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Entity in MS Access is a ..........

a) object of relation

b) present working model

c) thing in real world

d) model of relation

2. Accounting means recording
of ...........

a) economic transactions

b) economic events

c) both options a) and b)

d) neither options a) and b)

3. Trial Balance is ...........

a) an account

b) a statement

c) a subsidiary book

d) a principal book

4. Find the odd one out and justify
your answer.

a) Ready-to-use

b) Customized

c) Tailored

d) Database

1. IU IyV BWVyô]¤ I¢£]ã]

IÐfV .................... BWOÐO.

a) object of relation

b) present working model

c) thing in real world

d) model of relation

2. A¨Tº]°V IÐL¤ .................

SqXRÕaO¾sLWOÐO.

a) economic transactions

b) economic events

c) both options a) and b)

d) neither options a) and b)

3. Nap¤ mLs¢yV ...................BeV.

a) an account

b) a statement

c) a subsidiary book

d) a principal book

4. Svr]ŸO j]¤¨OÐf]Rj WRº¾]

D¾qU yLiPWq]¨OW.

a) Ready-to-use

b) Customized

c) Tailored

d) Database

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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5. Transactions between owner

and business are recorded due

to .............. principle.

a) going concern

b) accounting entity

c) matching

d) consistency

6. What is the maximum length a

text field can be in MS Access?

a) 120

b) 255

c) 265

d) 75

7. Journal entry to record 'Salaries

paid' will include ............

a) debit cash and credit salaries

b) debit salaries and credit cash

c) debit capital and credit

salaries

d) debit salaries and credit

capital

5. DaoyVgjOU m]y]jôOU fÚ]sOtt

CakLaOW¥ SqXRÕaO¾OÐfV

..................... ff~U AjOyq]\ÿLeV.

a) going concern

b) accounting entity

c) matching

d) consistency

6. IU IyV BWVyô]¤ RaWVyVãV

l}¤c]R£ kqoLvi] RRh¡Z|U

INfpLeV?

a) 120

b) 255

c) 265

d) 75

7. wÒtU RWLaO¾O IÐf]R£

S^¡e¤ I¢Na] SqXRÕaO¾OSÒL¥

D¥R¨Ltt]S¨ºfV ...................... .

a) debit cash and credit salaries

b) debit salaries and credit cash

c) debit capital and credit

salaries

d) debit salaries and credit

capital

(1)

(1)

(1)

(1)

(1)
(1)
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8. Complete the following chart. 8. fLRu RWLaO¾]q]¨OÐ \L¡ŸV

kP¡¾}Wq]¨OW.

Components of Computer

Eg : .......?........

.........?...................?..........

Eg : .......?........

Input Unit Output Unit

9. SWLSouVyV v]h|L¡À]pLp AfO¤

WæLôV oOr]p]¤ Nkh¡w]Õ]¨OvLjLp]

fáLrL¨]p cprWVaV

IWVyVRk¢y]R£ DhLzqe°tORa

KqO SqXL\]NfoLeV \OvRa

RWLaO¾]q]¨OÐfV. CT

SqXL\]Nf¾]¤ vÐ]ŸOtt RfãLp

DhLzqe°¥ WRº¾OW.

9. Athul, a commerce student

prepared the following diagram

showing examples of direct

expenses for exhibiting in the

class room. Identify the wrong

examples appearing in the

diagram.

(2)

(2)

(2)

(2)
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10. o]. ARRh~fV 2,50,000  qPk

j]Sƒk]\ÿV KqO m]y]jôV BqUn]\ÿO.

Af]¤ j]ÐOU 20,000 qPk

l¡e]\ÿrOU 25,000 qPk WUk|PŸrOU

40,000 qPk yLij°tOU vL°L¢

DkSpLY]\ÿO. ApL¥ 3,000 qPkpORa

yLij°¥ ASwLWjV WaoLp]

v]¤¨OÐO. WPaLRf 15,000

qPkpORa yLij°¥ yOh}k]¤

j]ÐOU WaoLp] vL°OWpOU R\pVfO.

oOWt]¤ fÐ]ŸOtt v]vq°t]¤

j]ÐOU CvRp f]q]\ÿr]pOW.

a) oPsij¾]R£ fOW INfpLeV?

b) RcmVã¡ BqLeV,

ApLt]¤j]ÐOU W]ŸLjOtt fOW

INfpLeV?

c) ApL¥ vL°]p yVg]q

ByVf]W¥ JRfLR¨?

11. A¨Tº]°]jV \]s YOekqoLp

yv]SwxfW¥ DºV. JRfLR¨?

10. Mr. Adwaith started a business

with Rs. 2,50,000 as an initial

investment. Of which he paid

Rs. 20,000 for the purchase of

furniture, Rs. 25,000 for

computer and Rs. 40,000 for

stock of goods. He sold goods on

credit to Ashok for Rs. 3,000. He

also purchased goods from

Sudeep on credit for Rs. 15,000.

From the above information,

identify –

a) What is the amount of

capital?

b) Who is the debtor and what

is the amount receivable

from him?

c) What are the fixed assets he

bought?

11. Accounting possess certain

qualitative features. List them. (2)

(3)

(2)

(3)
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12. Calculate the value of cost of

goods sold and gross profit.
12. SWLyVãV KLlV YOcVyV

SyL¥c]R£pOU SNYLôV

SNkLl]ã]R£pOU fOW We¨L¨OW.

13. 10 sƒU qPk v]sof]¨OÐ KqO

RWŸ]aU 8 sƒU qPk¨V vL°OWpOU

A¨TºV kOyVfW¾]¤ 8 sƒU

qPk¨V fRÐ SqXRÕaO¾OWpOU

R\pVfO.

a) oOWt]¤ kqLo¡w]\ÿ]ŸOtt

A¨Tº]°V ff~U JfLeV?

b) B ff~U vwh}Wq]¨OW.

13. A building worth Rs. 10 lakhs is

purchased for Rs. 8 lakhs and

recorded the same in the books

of account at Rs. 8 lakhs.

a) Name the accounting

principle referred in the

above.

b) Explain that principle.

Stock in the beginning 18,000

Stock at the end 20,000

Purchases less returns 60,000

Carriage on purchase 4,000

Sales 1,32,000

Sales returns 7,000

(3)

(3)

(1)

(3)
(1)

(3)



Turn OverK-815 7

649

14. o]. oQeLs]jV KqO yVgLkj¾]¤

R\r]p R\svOW¥ RRWWLq|U

R\áOvLjLp] W|Lx|LrLp] j]pojU

sn]\ÿO. ApL¥ C¾qU R\svOWRt

NkSf|W kOyVfW¾]¤

SqXRÕaO¾OÐO.

a) oQeL¤ fáLrL¨]p

kOyVfW¾]R£ SkqV

f]q]\ÿr]pOW.

b) fLRu RWLaO¾]ŸOtt

CakLaOWt]¤j]ÐOU B

kOyVfWU fáLrL¨OW.

14. Mr. Mrinal got appointment as

cashier in a firm for handling

only the small payments and

expenses. He records these in a

separate book.

a) Identify the name of the book

prepared by Mr. Mrinal.

b) Prepare that book from the

following transactions. (3)

2015

June 1 Cash received from main cashier Rs. 250

....."..... 3 Stationery purchased Rs. 25

Cleaning expenses Rs. 30

....."..... 9 Bus fare Rs. 14

....."..... 13 Telegram charges Rs. 18

....."..... 14 Cartage paid Rs. 40

....."..... 20 Pen, pencils etc. Rs. 38

....."..... 28 Stationery Rs. 28

(1)

(3)

(1)
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15. Following errors were noticed in

the books of Mr. Prem.. Wages paid Rs. 3,000 to

Ganesh was debited to his

personal account.. Wages paid for building

construction Rs. 12,000 was

debited to wages account.

a) Identify the type of error and

rectify them.

b) Name the temporary ledger

account opened for putting

the difference in the trial

balance.

16. You are given certain

transactions of a trader.. Started business with cash

Rs. 60,000

. Furniture purchased

Rs. 12,000.

. Purchased goods on credit

from Abhi Rs. 8,000.

. Received commission

Rs. 2,000.

15. o]. SNkoR£ kOyVfW¾]¤

WRº¾]p \]s RfãOWtLeV fLRu

RWLaO¾]q]¨OÐfV.. Wages paid Rs. 3,000 to

Ganesh was debited to his

personal account.. Wages paid for building

construction Rs. 12,000 was

debited to wages account.

a) JfO fqU RfãLReÐV WRº¾]

f]qO¾OW.

b) Nap¤ mLs¢y]Rs v|f|LyU

SqXRÕaO¾L¢ fáLrL¨OÐ

fLfVWLs]W RscV^¡

A¨Tº]R£ SkqV IuOfOW.

16. KqO W\ÿva¨LqR£ \]s

CakLaOWtLeV fLË¥¨V

j¤W]p]q]¨OÐfV.. Started business with cash

Rs. 60,000

. Furniture purchased

Rs. 12,000.

. Purchased goods on credit

from Abhi Rs. 8,000.

. Received commission

Rs. 2,000.

(4)

(1)

(4)

(1)
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a) oOWt]¤ fÐ]q]¨OÐf]R£

A¨Tº]°V yovLW|U

fáLrL¨OW.

b) A¨Tº]°V yovLW|R¾

Aa]yVgLjoL¨] v]ŸOSkLp

fOWRp WRº¾OW.

a) Prepare an accounting

equation for the above.

b) Supply the missing amounts

on the basis of accounting

equation.

17. Anu draws a bill on Achu for

Rs. 3,000 on 1st January, 2015

payable after 3 months. Achu

accepted and returned the bill to

Anu. The bill is discounted by

Anu on the same day.

a) Calculate the amount of

discount in the following

cases.

. The bill is discounted for

Rs. 2,900.

. The bill is discounted @ 12% p.a.

b) Ascertain the maturity date

of the above bill.

Assets =  Capital + Liabilities

1) 20,000 ........?...... 2,000

2) .......?......     30,000 9,000

17. 2015 ^jOvq] 1&jV AjO 3 oLy

WLsLvi]pOtt 3,000 qPkpORa KqO

m]sæ]jV A\ÿOv]SjLaV Bvw|

RÕaOÐO. A\ÿO AfV y~}Wq]¨OWpOU

AjOv]jV m]sæ V  j¤WOWpOU

R\áOÐO. ASf h]vyU fRÐ AjO

B m]sæV c]yVWTºV R\áOÐO.

a) fLRu fÐ]q]¨OÐf]Rs

c]yVWTºV fOW We¨L¨OW.. The bill is discounted for

Rs. 2,900.. The bill is discounted @ 12% p.a.

b) oOWt]¤ kr´ m]sæ]R£

WLsLvi] h]vyU WRº¾OW.

(4)

(2)

(1)

(2)(2)

(1)

(4)

(2)
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18. "Outstanding Expenses are to be

accounted for while preparing

the financial statements".

a) Which concept of accounting

is mentioned in the above?

b) Complete the following

table.

18. l]jL¢x|¤ SðãVRo£OW¥

fáLrL¨OSÒL¥ KTŸVðL£]°V

IWVyVRk¢yOWRt kq]Ye]S¨

ºfLeV.

a) A¨Tº]°]Rs JfV ff~oLeV

oOWt]¤ yP\]Õ]\ÿ]ŸOttfV?

b) fLRu RWLaO¾]q]¨OÐ kŸ]W

kP¡¾]pL¨OW.

Adjustments Treatment in the Treatment in the

P&L account Balance Sheet

Eg: Outstanding salary Added with salary Shown on the

on closing date on the debit side Liability side

a) Prepaid insurance on ............?............ Shown on the

closing date Asset side

b) Depreciation on ............?............ Deducted from

furniture furniture on the

Asset side

c) Bad debts given outside Debited to ............?............

the Trial Balance P&L account

(3)

(1)

(3)

(1)
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19. fÐ]q]¨OÐ CakLaOWt]¤ j]ÐOU

k¡S\ÿpVyV mO¨V fáLrL¨OW.

19. Prepare Purchase Book from the

following transactions.

20. The cashbook of a trader showed

a debit balance of Rs. 48,000 on

31st January, 2015. On

comparing the same with bank

passbook, the following

information was received.

2015

May 1 Purchased from Appus Stationery

100 school bags @ Rs. 180 per bag

50 packs of pencils @ Rs. 30 per pack

Trade discount 10%.

....".... 12 Bought from KK Stores

200 college note books @ Rs. 30 each

....".... 21 Purchased from Ganga Traders

150 file boards @ Rs. 10 each

50 Instrument boxes @ Rs. 60 per box

Trade discount 5%.

20. KqO W\ÿva¨LqR£ W|LxV mO¨]¤

2015 ^jOvq] 31jV 48,000 qPk

Rcm]ãV mLs¢yV WLe]¨OÐO.

Af]Rj mLËV kLôV mO¨OoLp]

fLqfo|U R\áOSÒL¥ fLRu

j¤W]p]ŸOtt v]vq°tLeV sn]\ÿfV.

(4) (4)
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i) 2015  ^jOvq] 31R£ mLËV

r}W¦y]s]Spx¢ SðãVRo£V

fáLrL¨OW.

ii) fLRu fÐ]q]¨OÐ S\Lh|¾]jV

wq]pLp D¾qU NmL¨ã]¤

j]ÐOU f]qR´aO¨OW.

i) Prepare a Bank

Reconciliation Statement as

at 31st January, 2015.

ii) Choose the correct answer

from brackets for the

following question.

a) Cheques drawn but not yet presented : Vipin Rs. 5,000

  Nabeel Rs. 4,000

b) Cheques paid into bank but not yet credited :

Shaji Rs. 2,000

Jisha Rs. 3,500

c) Bank charges not entered in cashbook Rs. 300

d) Dividend on shares collected by bank Rs. 1,800

21. 2015 RlNmOvq] 1jV qL^}vV

1,20,000 qPkpORa 3 oLy WLsLvi]

pOtt KqO m]sæ]jV Avw|RÕaOÐO.

m]sæ V  W]Ÿ]p DaRj qL^}vV AfV

SyLojV RRWoLrOÐO. WLsLvi]¨V

m]sæ]R£ keU sn]¨OÐO.

IsæLvqORapOU mO¨]Rs S^¡e¤

I¢Na]W¥ IuOfOW.

21. Rajeev drew a bill of Rs. 1,20,000

on Sajeev on 1st February, 2015

for 3 months. Immediately after

acceptance, Rajeev endorsed the

bill to Soman. The bill was met

on maturity. Make journal

entries in the books of all the

parties.

A bank reconciliation statement is prepared by ........... (bank / depositor).

(1)

(5)

(1)

(5)

(5)
(5)
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22. A machinery was purchased by

Kefcon Ltd., for Rs. 5,00,000 on

1st April, 2011. It purchased

additional machinery for

Rs. 2,00,000 on 30th September,

2012. The machinery purchased

on 1st April, 2011 was sold for

Rs. 3,70,000 on 30th June, 2013.

Depreciation is to be charged at

10% p.a. under straight line

method.

a) Prepare machinery account

upto 31st December, 2013

books are closed on 31st

December each year.

b) Make correct pairs from the

following on the basis of hint

given.

(Hint : Current Assets :

Fluctuation)

i) Depreciation

ii) Depletion

iii) Wasting Assets

iv) Fixed Assets

22. 2011 JNk]¤ 1 jV RWlVS¨L¦

s]o]ãcV 5,00,000 qPkpORa

Rox]er] vL°OÐO. 2012

RykVãUm¡ 30jV  2,00,000 qPkpORa

oRãLqO Rox]er]pOU vL°OÐO.

2011 JNk]¤ 1jV vL°]p Rox]er]

3,70,000 qPk¨V 2013 ^P¦ 30jV

v]¤¨OÐO. SfpVoLjU We¨L¨O

ÐfV yVRRNaãV RRs¢ q}f]p]¤ 10%

vL¡x]W j]q¨]sLeV.

a) 2013 c]yUm¡ 31 vRqpOtt

Rox]er] A¨TºV

fáLrL¨OW, mOWVyV

AvyLj]Õ]¨OÐfV IsæL

v¡xvOU c]yUm¡ 31 jLeV.

b) yP\jpjOyq]\ÿV fÐ]q]¨OÐ

f]¤ j]ÐOU wq]pLp S^Lc]WRt

DºL¨OW.

(Hint : Current Assets :

Fluctuation)

i) Depreciation

ii) Depletion

iii) Wasting Assets

iv) Fixed Assets (1)

(5)

(1)

(5)
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23. Vimal started a business on

1st January, 2014 with an

investment of Rs. 1,60,000. He

does not maintain proper books

of accounts for his business.

During the year 2014 he

withdrew Rs. 20,000 for personal

use and introduced Rs. 10,000 as

fresh capital. His position of

assets and liabilities as on 31st

December, 2014 stood as follows.

Cash in hand 15,000

Stock in trade 55,000

Bills Receivable 20,000

Debtors 40,000

Creditors 35,000

Bank balance

(Overdraft) 15,000

Furniture 30,000

Buildings 80,000

Prepare statement of Profit or

Loss for the year ended 31st

December, 2014, provided that

depreciation on furniture is to be

charged at 10%.

23. 2014 ^jOvq] 1jV 1,60,000 qPk

j]Sƒk]\ÿV v]o¤ KqO m]y]jôV

BqUn]¨OÐO. ApL¥

m]y]jô]jLvw|oLp A¨TºV

kOyVfW°RtLÐOU yPƒ]¨OÐ]sæ.

2014¤ ApL¥ 20,000  qPk

v|WVf]kqoLp Bvw|°¥¨Lp]

k]¢vs]¨OWpOU 10,000  qPk

Ai]W oPsijoLp] j]Sƒk]¨O

WpOU R\áOÐO. 2014 c]yUm¡

31jV ApLtORa ByVf]&mLi|f

j]spLeV fLRu RWLaO¾]q]¨OÐfV.

Cash in hand 15,000

Stock in trade 55,000

Bills Receivable 20,000

Debtors 40,000

Creditors 35,000

Bank balance

(Overdraft) 15,000

Furniture 30,000

Buildings 80,000

2014 c]yUm¡ 31Rs SðãVRo£V

KLlV SNkLl]ãV/SsLôV fáLrL¨OW.

l¡e]\ÿr]jO oOWt]¤ 10% SfpVoLjU

\L¡²V R\áeU (6)
(6)
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24. Following is the trial balance of

R. K. Traders on 31st December,

2014. Prepare Trading and Profit

& Loss account and Balance

Sheet taking into account, the

adjustments given.

24. B¡ RW SNapVScuVy]R£ 2014

c]yUm¡ 31R£ Nap¤ mLs¢yLeV

RWLaO¾]q]¨OÐfV. fÐ]q]¨OÐ

AcV^ðVRo£OWRt D¥RÕaO¾]

SNapVc]°V B¢cV SNkLl]ãV B¢cV

SsLôV A¨TºOU mLs¢yV x}ãOU

fáLrL¨OW.

Particulars Debit Amount Credit Amount

Cash at Bank 4,500 –    .

Stock (1–1–2014) 3,000 –    .

Debtors 25,000 –    .

Purchases 77,500 –    .

Sales –    . 91,000

Productive Expenses 1,800 –    .

Salaries 1,200 –    .

Commission –    . 2,000

Loan –    . 4,300

Capital –    . 17,000

Interest –    . 200

Creditors –    . 10,200

Furniture 10,500 –    .

Insurance 1,200 –    .

Total 1,24,700 1,24,700

Adjustments :

a) Closing stock was valued at Rs. 2,400.

b) Commission received in advance Rs. 800.

c) Salaries due but not paid Rs. 1,300.

d) Depreciate furniture by Rs. 1,500.

e) ¼ of insurance is unexpired.

(8)

(8)
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      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.
CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk
S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q
SkÕr]¤¾RÐ DºLp]q]¨eU.

Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Vinod took a loan of `. 1,00,000
from Canara Bank.

Identify the debtor in the above
transaction.

2. Writing off the cost of intangible
assets is termed as ................

a) depreciation

b) depletion

c) amortization

d) obsolescence

3. Which one of the following is
NOT a feature of Ready-to-use
accounting software?

a) It is suited to small
organizations.

b) Volume of accounting
transactions is very low.

c) Cost of installation is high.

d) Number of users is limited.

4. Classify the following assets
under appropriate heads.
a) Cash
b) Machinery
c) Land
d) Stock

5. "A Balance Sheet is more
reliable than statement of
affairs". Explain.

1. v]SjLhV WLjrL mLË]¤ j]ÐOU

1,00,000 qPk vLpVk IaO¾O.

oOWt]¤ kr´ CakLa]Rs RcmVã¡

BRqÐV f]q]\ÿr]pOW.

2. C¢aL¢^]mV¥ ByVf]WtORa v]s

IuOf] fttOÐf]Rj ............. IÐV

krpOÐO.

a) depreciation

b) depletion

c) amortization

d) obsolescence

3. fLRu RWLaO¾]q]¨OÐvp]¤

Rrc]&aO&pPyV A¨Tº]°V

SyLlVãVRvpr]R£ NkSf|Wf

AsæL¾fV JRfÐV IuOfOW.

a) CfV R\rO òLkj°¥¨V

AjOSpL^|oLeV.

b) A¨Tº]°V CakLaOWtORa

SfLfV vtRq WOrvLeV.

c) òLk]¨OÐ \]svV WPaOfsLeV.

d) DkSpLY]¨OÐvqORa I¹U

kq]o]foLeV.

4. fLRu krpOÐ ByVf]W¥ D\]foLp

fsR¨Ÿ]sL¨OW.

a) Cash
b) Machinery
c) Land
d) Stock

5. ""KqO mLs¢yV x}ãV SðãVRo£V KLlV

AlSp¡y]Rj¨L¥ WPaOf¤

v]w~LySpLY|oLeV'' v]wh}Wq]&

¨OW.

(1)

(2)

(1)

(1)

(2)

(1)

(2)

(1)

(1)

(2)
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6. Classify the following into input
devices and output devices.
a) Key board
b) Printer
c) Mouse
d) Monitor

7. Give any two limitations of
computerized accounting
systems.

8. a) Write a suitable entity for
the attributes given below.
Account Code,
Account Name

b) Also identify the key
attribute to that entity.

9. a) Mention the name of the
reserve that is created out of
revenue profits.

b) How does it differ from
capital reserve?

10. Opening stock `  18,000
Purchases `  22,000
Wages `    5,000
Closing stock `  15,000

a) Ascertain cost of goods sold.

b) How much is gross profit, if
sales is ` 37,500?

(2)

6. fÐ]q]¨OÐvRp C¢kOŸV

DkWqe°¥ IÐOU KTŸVkOŸV

DkWqe°¥ IÐOU fqU f]q]¨OW.

a) Key board
b) Printer
c) Mouse
d) Monitor

7. WUk|PŸRRryVcV A¨Tº]°V

y]ð¾]R£ JRfË]sOU qºV

SkLqLpVoW¥ IuOfOW.

8. a) fÐ]q]¨OÐ BãVr]m|PŸOW¥¨V

AjOSpL^|oLp I£]ã] JRfÐV

IuOfOW.

Account Code,
Account Name

b) B I£]ã]pORa W} BãVr]m|PŸV

JRfÐOU f]q]\ÿr]pOW.

9. a) rvj|P SNkLl]ã]¤ j]ÐOU

qPkvfVWq]¨OÐ r]y¡vÿ]R£

SkqV Nkf]kLh]¨OW.

b) AfV W|LÕ]ã¤ r]y¡vÿ]¤ j]ÐOU

I°Rj v]n]ÐoLeV?

10. Opening stock `  18,000
Purchases `  22,000
Wages `    5,000
Closing stock `  15,000

a) SWLyVãV KLlV YOcVyV SyL¥cV

WºOk]a]¨OW.

b) Ryp]¤yV 37,500 qPk

BReË]¤ SNYLyV SNkLl]ãV

INfpLeV?

(1)

(1)

(1)

(1)

(2)

(2)

(2)

(2)

(1)

(1)

(1)

(1)

(2)

(2)

(2)
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11. IU.IyV. AWVyy]Rs JRfË]sOU

qºV ScãL RRakVyV AjOSpL^|oLp

DhLzqe°¥ yz]fU IuOfOW.

12. S\qOUka] S\¡¨OW.

11. Write any two data types in
MS-Access with suitable
examples.

12. Match the following.

13. . 85,000 qPk W|LxOU 15,000

qPkpORa SðL¨OU RWLºV

m]y]jôV BqUn]\ÿO.. 10,000 qPk¨V yLij°¥ v]ãO.

a) oOWt]¤ RWLaO¾]q]¨OÐ

CakLaOW¥ A¨Tº]°V

yovLW|U kLs]¨OÐO IÐV

Rft]p]¨OW.

b) oOWt]¤ RWLaO¾]q]¨OÐ

CakLaOWtORa S^¡e¤

I¢Na]WtOU SqXRÕaO¾OW.

                                 A                               B

a) Closing stock valued at cost or market i) Objectivity Principle

price whicher is less

b) Every transaction will have two aspects ii) Money measurement concept

c) All business events not recorded in iii) Dual aspect concept

accounting

d) Accounting information should be iv) Principle of conservatism

free from bias

13. . Started business with cash

` 85,000 and stock ` 15,000.. Sold goods for cash ` 10,000.

a) Prove that the accounting

equation is satisfied in the

above transactions.

b) Also pass the journal entries

to record the above

transactions.

(4)

(3)

(2)

(2)

(4)

(3)

(2)

(2)
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14. . Purchases day book was

undercast by ` 3,000.

. Wages paid ` 500 in

connection with purchase of

machinery has been debited

to wages account.

a) Identify the type of errors

committed in the above

transactions.

b) Pass the entries to rectify it.

15. On 1st January, 2016 Arun drew

a 3 months bill upon Varun for

` 6,000. On 3rd January, 2016

Arun discounted the bill with his

banker @ 6% per annum. The bill

was honoured on the due date.

a) Identify the drawer in the

above bill.

b) Record the necessary journal

entries in the books of Arun

and Varun.

14. . k¡S\ÿyyV Sc mO¨V  3,000

qPkpORa WOrvO WLe]¨OÐO.

. Rox]er] vL°]pfOoLp]

mÌRÕŸV RWLaO¾ Sv^yV 500

qPk Sv^yV A¨Tº]¤ Rcm]ãV

R\pVf]q]¨OÐO.

a) oOWt]¤ RWLaO¾]q]¨OÐ

CakLaOWt]¤ vqO¾]p

RfãOW¥ JfO fq¾]sOttRfÐV

f]q]\ÿr]pOW.

b) AfV f]qO¾OÐf]jOtt

I¢Na]W¥ SqXRÕaO¾OW.

15. 2016 ^jOvq] 1&LU f}pf] AqO¦ 3

oLyU WLsLvi]pOtt 6,000

qPkpORa m]¤ vqOe]R£ Skq]¤

fáLrL¨]. 2016 ^jOvq] 3&LU f]pf]

AqO¦ m]¤ mLË]¤ v¡x¾]¤

6%&¾]jV c]yV¨TºV R\pVfO.

WLsLvi] h]vyU m]¤

AUY}Wq]¨RÕŸO

a) oOWt]¤ kr´]q]¨OÐ m]¤

CakLa]Rs SNcLp¡ BRqÐV

WRº¾OW.

b) AqOe]R£pOU vqOe]R£pOU

mO¨]¤ Bvw|oLp S^¡e¤

I¢Na]W¥ SqXRÕaO¾OW.

(4)

(3)

(2)

(1)

(4)

(3)

(2)

(1)



K-816 6

650

16. ojOv]R£ W|LxV mO¨V 18,000 qOk

Rcm]ãV mLs¢yV WLe]¨OÐO.

W|LxV mO¨OU kLôV mO¨OoLp]

fLqfo|RÕaO¾OSÒL¥ fLRu

krpOÐ v|f|Ly°¥

WLeOWpOºLp].

a) 4,000 qPkpORa R\¨V

j¤W]pfV mLË]¤ CfOvRqpOU

yo¡Õ]\ÿ]Ÿ]sæ.

b) mLËV \L¡^yV 500 qPk kLyV

mO¨]¤ Rcm]ãV

R\pVf]q]¨OÐO.

c) 3,000  qPkpORa R\¨OW¥

mLË]¤ WtWVxjO v]ŸfV

CfOvRqpO WtWVaV R\pVf]Ÿ]sæ.

d) 3,500 qPk vLaW mLËV WtWVaV

R\pVfV A¨Tº]¤ NWc]ãV

R\áOWpOU R\pVfO.

i) W|LxV mO¨V mLs¢yOU

kLyV mO¨V mLs¢yOU

RkLqO¾RÕaO¾OÐf]jO

Svº] ojO fáLrL¨OvL¢

SkLWOÐ SðãVRo£]R£ SkqV

JRfÐV IuOfOW.

ii) AfV RkLqO¾RÕaO¾OÐf]

jOtt SðãVRo£V fáLrL¨OW.

17. mO¨OW¥ v|vzLqU R\áOÐ

SyfOv]R£ 2016 ^P¦ oLyR¾

CakLaOW¥ fLRu RWLaO¾]q]¨OÐO.

16. The cashbook of Manu showed a
debit balance of `18,000. On
comparing cashbook with
passbook, the following
differences were noted.

a) Cheque issued but not yet
presented for payment
` 4,000.

b) Bank charges debited in the
passbook ` 500.

c) Cheques sent to bank for
collection but not yet
collected ` 3,000.

d) Rent collected and credited
by bank ` 3,500.

i) Name the statement
Manu will prepare in
order to reconcile balance
as per cashbook with
passbook.

ii) Prepare that statement
to reconcile it.

17. Sethu a dealer in books had the
following transactions for the
month of June 2016.

(5)

(1)

(5)

(1)
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i) oOWt]¤ RWLaO¾]q]¨OÐ

CakLaOW¥ D\]foLp Sc

mO¨OWt]¤ SqXRÕaO¾OW.

ii) Cf]¤ CakLaV jÒ¡ (c)
SqXRÕaO¾OÐf]jOtt SyLuVyV

ScLW|ORo£V JRfÐV

f]q]\ÿr]pOW.

ARsæË]¤

fLRu fÐ]q]¨OÐ v]vq°t]¤

j]ÐOU KqO cm]¥ SWLtU W|LxV

mO¨V fáLrL¨OW.

 2016
 jvUm¡

1 KLÕe]°V mLs¢yV

W|LxV  (Dr.) 30,000
mLËV (Cr.) 12,000

2 yLij°¥ 8,000 qPk¨V vL°]\ÿO.

10 mLË]¤ 17,000 qPk RcSÕLy]ãV

R\pVfO.

15 yLsr] R\¨Lp] RWLaO¾O 5,000qPk.

18 15,000 qPkpORa yLij°¥ v]ãO.

30 mLË]¤j]ÐOU 3,000 qPk k]¢vs]\ÿO.

i) Record the above
transactions in the
appropriate day books.

ii) Identify the source document
for recording the transaction
no. (c) above.

OR

Prepare a double column

cashbook from the details given

below.

 2016

 November

1 Opening balance

Cash (Dr.) 30,000

Bank (Cr.) 12,000

2 Purchased goods for cash ` 8,000

10 Cash deposited into bank ` 17,000

15 Salary paid by cheque  ` 5,000

18 Sold goods for cash  ` 15,000

30 Cash withdrawn from bank ` 3,000

a) Purchased books on credit from Himalaya Publishers : –
100 copies of Accountancy Text for Class XI @ `  150 per text.
80 copies of Business Studies Text for Class XI @ ` 120 per text.

b) Purchased books on credit from Saradhi Books : –
90 copies of Accountancy Text for Class XII @ `  180 per text.
75 copies of Business Studies Text for Class XII @ ` 140 per text.
Trade discount allowed 5%.

c) Returned to Saradhi Books : –
8 copies of Accountancy Text for Class XII @ ` 180 per text.
15 copies of Business studies Text for Class XII @ ` 140 per text.

(5)

(1)

(6)

(5)

(1)

(6)
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Trial Balance as on 31/12/2016

Particulars Debit Credit
` `

Capital –    . 80,000

Opening stock 12,500 –    .

Salaries 3,000 –    .

Carriage 2,500 –    .

Commission –    . 4,000

Purchases 30,000 –    .

Bad debts 1,000 –    .

Returns outwards –    . 2,000

Sales –    . 41,000

Sundry debtors 24,000 –    .

General Expenses 2,000 –    .

Cash in hand 6,500 –    .

Sundry creditors –    . 8,000

Depreciation 1,500 –    .

Machinery 52,000 –    .

Total 1,35,000 1,35,000

Additional information :
a) Closing stock was valued at ` 10,000.
b) Carriage outstanding ` 500.
c) Commission received in advance ` 700.
d) Provide 5% of debtors for bad debts.

18. W]q¦ IÐ v|LkLq]pORa 2016

c]yUm¡ 31&LU f}pf]p]Rs Nap¤

mLs¢yV fLRu RWLaO¾]q]¨OÐO.

2016  c]yUm¡ 31&jV

AvyLj]¨OÐ v¡xR¾ SNac]°V

B¢cV SNkLl]ãV B¢cV SsLôV

A¨TºOU mLs¢yV x}ãOU

fáLrL¨OW.

Prepare Trading and Profit and

Loss account for the year ended

31st December, 2016 and a

Balance Sheet as on that date.

18. The following is the Trial
Balance of Kiran, a trader as on
31st December, 2016.

(8) (8)
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      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.
You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

     j]¡SÇw°¥ :

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU. CT
yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp v]j]opU
ja¾LSjL kLa]Š.

D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk S\Lh|°tOU
ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.

We V̈  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q SkÕr]¤¾RÐ
DºLp]q]¨eU.

Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Which one of the following

numeric coding system uses 16

bit representation?

a) ASCII

b) EBCDIC

c) ISCII

d) Unicode

2. Result of arithmetic and logical

operations are stored in ...........

register.

a) MAR

b) Accumulator

c) MBR

d) PC

3. Which one of the following

memory is nonvolatile?

a) ROM

b) Cache memory

c) RAM

d) All of these

1. fLRu RWLaO¾vp]¤ JfV SWLc]UYV

y]ðoLeV 16  m]ãV rNkyS£x¢

DkSpLY]¨OÐfV?

a) ASCII

b) EBCDIC

c) ISCII

d) Unicode

2. Aq]¾oã]WV, SsL^]¨¤ IÐ}

KLÕSrxjOWtORa r]y¤ŸV ..............

q^]ðr]¤ SðL¡ R\áOÐO.

a) MAR

b) Accumulator

c) MBR

d) PC

3. fLRu RWLaO¾vp]¤

SjL¦&RvLtãp]¤ RoÚr] JfV?

a) ROM

b) Cache memory

c) RAM

d) All of these

(1)

(1)

(1)

(1)

(1)

(1)
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4. Which command is used for

freezing rows and columns of

worksheet?

a) Format -> sheet -> freeze

b) Window -> freeze

c) File -> freeze

d) Data -> sheet -> freeze

5. Write the function used in

spreadsheet to find the lowest

value from a set of given

numbers.

6. Which one of the following view
shows thumbnail of each slide?

a) Normal view

b) Outline view

c) Slide sorter view

d) Handout view

7. Which one of the following tool
perform selection based on
colour similarities?

a) Lasso tool

b) Magic wand

c) Ellipse select

d) All of these

(1)

4. KqO v¡¨Vx}ã]Rs SrLWtOU

SWLt°tOU Nl}yV R\áL¢ JfV

WoL£LeV DkSpLY]¨OÐfV.

a) Format -> sheet -> freeze

b) Window -> freeze

c) File -> freeze

d) Data -> sheet -> freeze

5. fÐ]q]¨OÐ KqO WPŸU jÒrOWt]Rs

JãvOU R\r]p jÒ¡

WºOk]a]¨OÐf]jV yVRNkcVx}ã]¤

DkSpLY]¨OÐ lUYVxSjfV?

6. KLSqL RRyæc]S£pOU fÒVRjp]¤

WLe]¨OÐfV \OvRa

RWLaO¾vp]¤ JfV v|P BeV?

a) Normal view

b) Outline view

c) Slide sorter view

d) Handout view

7. Wt¡ y]o]sLq]ã] Aa]òLjoL¨]

RysWVx¢ ja¾OÐfV \OvRa

RWLaO¾vp]¤ JfV aP¥ BeV?

a) Lasso tool

b) Magic wand

c) Ellipse select

d) All of these

(1)

(1)

(1)

(1)

(1)

(1) (1)
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8. In 'Additive colour scheme',

presence of all colours gives  ........

a) Black colour

b) White colour

c) Red colour

d) No colour

9. Which one of the following

network crosses the limits of

continents?

a) WAN

b) LAN

c) PAN

d) MAN

10. Different network with

different protocols are

connected using .............

a) Bridge

b) Gateway

c) Switch

d) Router

8. Ac]ã}vV Wt¡ yVW}o]¤ IsæL WtrOU

S\¡ÐL¤ W]ŸOÐ WtrLeV ................ .

a) Black colour

b) White colour

c) Red colour

d) No colour

9. fLRu RWLaO¾vp]¤ JfV

RjãVv¡¨LeV v¢WqWtORa kq]i]

Wa¨OÐfV?

a) WAN

b) LAN

c) PAN

d) MAN

10. v|f|yVf SNkLSŸLS¨L¥

AjOyq]¨OÐ v|f|yVf

RjãVv¡¨OWRt mÌ]Õ]¨OÐfV

...................... BeV.

a) Bridge

b) Gateway

c) Switch

d) Router

(1)

(1)

(1)

(1)

(1)

(1)
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11. ........... is a text file created

during browsing that collects
private information about a
user.

a) Spam

b) Cookie

c) Worm

d) Dos

12. List any two e-learning tools.

13. Differentiate between data and
information.

14. Categorize the following devices
into two. Name each category.

Ploter, LCD, Joystick, OMR,
DMP, Microphone.

15. Write the meaning of the
following function in
spreadsheet.

= COUNTIF (B1 : B10," > =40")

16. "Slide transitions creates
attractive effects in
presentation".
What is slide transition? Give
two examples.

(2)

11. KqLtORa y~WLq| v]vq°¥

SqXRÕaO¾OÐ, NmTyV R\áOSÒL&

¥ yQxVa]¨RÕaOÐ RaWVðV

lpsLeV ...................... .

a) Spam

b) Cookie

c) Worm

d) Dos

12. JRfË]sOU qºV C&Sse]UYV aPtOW¥

s]ðV R\áOW.

13. cLãpOU C¢l¡SoxjOU fÚ]sOç

v|f|LyU IuOfOW.

14. fLRu RWLaO¾ DkWqe°Rt

qºLp] fqU f]q]¨OW. qºV

fq°¥¨OU Sk¡ j¤WOW.

Ploter, LCD, Joystick, OMR,

DMP, Microphone.

15. yVRNkcVx}ã]Rs fLRu RWLaO¾

lUYVxR£ A¡ÀU IuOfOW.

= COUNTIF (B1 : B10," > =40")

16. ""RRyæcV NaL¢y]x¢ NkyS£xj]¤

nUY]pOtt ClWVaV DºL¨OÐO'' &

IÍLeV RRyæcV NaL¢y]x¢? qºV

DhLzqe°¥ IuOfOW.

(2)

(2)

(1)

(2)

(1)

(2)

(2)

(2)

(1)

(2)

(1)
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17. ^]Ò]¤ Rsp¡ DkSpLY]¨OÐf]R£

YOe°¥ IRÍsæLU?

ARsæË]¤

^]Ò]Rs mæ¡ l]¤Ÿr]Rj

DhLzqe°tORa yzLpS¾LRa

v]vq]¨OW.

18. oL¨V ANcô]Rj WOr]\ÿ V

WOr]RÕuOfOW.

19. C£¡RjãOoLp] mÌRÕaO¾]

\OvRa RWLaO¾v v]vq]¨OW.

a) Li-Fi network

b) Phishing

20. WUk|PŸr]Rj j]¡vÿ\]¨OW. Cf]R£

yv]SwxfW¥ v]vq]¨OW.

21. sLUSY~^V SNkLyôrOWtORa

Bvw|RoÍV? v]v]ifqU sLUSY~^V

SNkLyôOrOW¥ v]vq]¨OW.

22. yVRNkcVx}ã]¤ Ry¤ Rrlr¢yV

IÐL¤ IÍV? AmVys|PŸV Ry¤

rlr¢y]UYOU r]Ssã}vV Ry¤

rlr¢y]UYOU fÚ]sOtt v|f|LyU

IuOfOW.

ARsæË]¤

17. Explain the advantage of using
layers in Gimp.

OR

Explain Blur filter in Gimp
using examples.

18. Write a note on MAC address.

19. Explain the following in
connection with internet.

a) Li-Fi network

b) Phishing

20. Define computer. Explain its
characteristics.

21. Why we need language
processors? Explain the
different types of language
processors.

22. What is cell reference in

spreadsheet? Differentiate

between absolute reference and

relative reference.

OR

(3)

(3)

(3)

(2)

(3)

(3)

(2)

(3)

(2)

(2)

(2) (2)

(2)

(2)
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OR

Explain autofilter facility
available in spreadsheet.

23. What is an action object?
Explain how to create an action
object in presentation.

24. Image editors are broadly
classified into raster graphic
editors and vector graphic
editors. Differentiate between
these two.

25. Write the uses of path tool in

Gimp. Explain how path tool is

used for aligning a text line to

the path.

26. Social media is the modern

trend of communication. Explain

the advantages and risks that a

person face in the social media.

27. What is e-governance? Explain

the benefits and challenges of

e-governance.

ARsæË]¤

yVRNkcVx}ã]Rs KLSŸLl]¤Ÿ¡

yTWq|U v]wh}Wq]¨OW.

23. BWVx¢ KLmV^WVaV IÐL¤ IÍV?

NkyS£xj]¤ BWVx¢ KLmV^WVaV

j]¡Ú]¨OÐfV I°Rj IÐV

v]vq]¨OW.

24. CSo^V Ic]ãrOWRt rLð¡ NYLl]WV

Ic]ã¡ IÐOU RvWVa¡ NYLl]WV

Ic]ã¡ IÐOU fqU f]q]\ÿ]q]¨OÐO.

Cv fÚ]sOtt v|f|LyU IuOfOW.

25. ^]Ò]¤ kL¾V aPt]R£ DkSpLYU

IuOfOW. kL¾VaP¥, RaWVðV

RRsj]Rj ARRs¢ R\áL¢

I°Rj DkSpLY]¨OÐO IÐV

v]vq]¨OW.

26. SyLx|¤ o}c]p, WÚ|Pe]S¨x

j]Rs kOf]p RNa¢cV BeV.

SyLx|¤ o}c]pp]¤ KqL¥

An]oOX}Wq]¨OÐ AkWa°tOU

SjŸ°tOU v]vq]¨OW.

27. C&YSve¢yV IÐL¤ IÍV?

C&YSve¢y]R£ SjŸ°tOU

RvsæOv]t]WtOU v]vq]¨OW.

(3)

(3)

(3)

(3)

(3)

(3)

(3)

(3)

(3)

(3)
(3)

(3)
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28. Explain the different

communication media used in

data communication.

[Draw the necessary diagrams.]

OR

Explain the different topologies

used in a computer network.

[Draw the necessary diagrams.]

29. What is the use of charts in

spreadsheet? Explain the

elements of chart and different

types of charts used.

28. cLãL WÚ|Pe]S¨xj]¤

DkSpLY]¨OÐ v]v]i

WÚ|Pe]S¨x¢ o}c]pW¥

v]vq]¨OW.

(Bvw|oLp \]Nf°¥ vqpV¨OW)

ARsæË]¤

WUk|PŸ¡ RjãVv¡¨]Rs v]v]i

SaLSÕLt^]W¥ v]vq]¨OW.

(Bvw|oLp \]Nf°¥ vqpV¨OW)

29. yVRNkcVx}ã]¤ \L¡Ÿ]R£ DkSpLYU

IÍV? \L¡Ÿ]R£ v]v]i ZaW°tOU

\L¡Ÿ]R£ v]v]i RRaÕOWtOU

v]vq]¨OW.(5)

(5)

(5)

(5)

(5)

(5)
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CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.
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SkÕr]¤¾RÐ DºLp]q]¨eU.

Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.
S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.
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1. Processed data is known as ........

a) facts

b) figures

c) information

d) raw material

2. USB port stands for ..............

a) Uniform Serial Bus

b) Universal Serial Bus

c) Uninterruptible Serial Bus

d) Updatable Serial Bus

3. Fill the missing block.

1. yUyVWq]¨RÕŸ cLãRp ................

IÐV krpOÐO.

a) facts

b) figures

c) information

d) raw material

2. USB ............ SkL¡Ÿ]Rj Nkf]j]iLjU

R\áOÐO.

a) Uniform Serial Bus

b) Universal Serial Bus

c) Uninterruptible Serial Bus

d) Updatable Serial Bus

3. fLRu RWLaO¾]q]¨OÐvp]¤

v]ŸOSkLpf]Rj kPq]Õ]¨OW.

(1)

Source Code Object Code

4. fLRu fÐ]q]¨OÐvp]¤ Ry¡\ÿV

Iµ]¢ AsæL¾fV JfV?

a) Google

b) Bing

c) Face book

d) Ask

5. ICT DkSpLYRÕaO¾]pOtt Syvj

°t]¤ BPO Nkf]j]iLjU R\áOÐfV

................ BeV.

4. Which one of the following is

NOT a search engine?

a) Google

b) Bing

c) Face book

d) Ask

5. In ICT enabled services BPO

stands for ......... (1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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6. for, while, do while are the

three looping statements in C++.

From these three loops which

loop will execute the loop body

at least once even though the

condition is false?

a) for loop

b) while loop

c) do while loop

d) do for loops

7. HTTP stands for ........................

protocol.

8. IDE stands for ........................

(1)

(1)

6. for, while, do while oOfsLpv

C++ Rs Bv¡¾]\ÿV Nkv¡¾]¨OÐ

j]¡Shw°tLeV. Cf]¤ JfV

j]¡ShwoLeV v|vò

RfãLReË]sOU loop Rs

j]¡Shw°¥ KqO NkLvw|RoË]sOU

yUyVWq]¨RkaOÐfV.

a) for loop

b) while loop

c) do while loop

d) do for loops

7. HTTP Nkf]j]iLjU R\áOÐfV

................................. SNkLSŸLSWL¥.

8. IDE Nkf]j]iLjU R\áOÐfV ...........

9. X , Y IÐ} \q°¥ qºV kP¡e

yUX|WRt yPƒ]¨L¢

DkSpLY]¨OÐO IÐ]q]¨RŸ.

A°RjpLReË]¤ fLRu

fÐ]q]¨OÐ C¢kOŸV j]¡Shw¾]Rs

RfãV f]qO¾OW.

cin<<X>>Y;

9. Let X and Y are two variables of

int data type, then correct the

following input statement.

cin<<X>>Y;

a) Integrated Development Environment

b) Information Development Environment

c) Inheritance Development Environment

d) Interactive Development Environment

(1)

(1)

(1)

(1)

(1)

(1)



K-824 4

652

10. In a flow chart, the terminal (an

ellipse) symbol is used to

indicate the ......... and .......... in

the program logic.

11. A ........ is a computer peripheral

that allows you to connect and

communicate with other

computers via telephone lines.

12. Differentiate or define the terms
Hard Ware (H / W) and Soft
Ware (S / W) in a computer
system. Give one example for
each.

13. a) Convert (1010.11)2 to

decimal.

b) Find the missing terms in the

following series.

1816, 1A16, 1C16, ......, .......

14. Predict the output of the

following operations.

x = –5 and y = 3 initially

a) –x

b) x/y

c) x%y

d) –x + –y

OR

10. KqO SlæL\L¡Ÿ]¤ ellipse \]zVjU

SNkLNYLU SsL^]¨]R£ ............ RjpOU

................ RjpOU Nkf]j]iLjU

R\áOÐO.

11. Ras]SlL¦ vprOWt]sPRa oãV

WUk|PŸrWtOoLp] mÌ]Õ]¨OÐ

f]jOU Bwp v]j]opU ja¾OÐf]

jOU yzLp]¨OÐ WUk|PŸrjOmÌ

DkWqeoLeV ...................... .

12. zL¡cVRvp¡ SyLlVãVRvp¡ IÐ}

kh°Rt j]¡v\]¨OW. KLSqL

DhLzqeU v}fU j¤WOW.

13. a) (1010.11)2 IÐ RRmjr]

yUX|Rp Rcy]o¤ yUX| B¨]

oLãOW.

b) fLRu fÐ]q]¨OÐvp]¤

v]ŸOSkLpf]Rj kPq]Õ]¨OW.

1816, 1A16, 1C16, ......, .......

14. x R£ BqUn v]s –5 DU y pORa

BqUn v]s 3 DU BReË]¤, fLRu

fÐ]q]¨OÐ NW]pW¥¨V SwxoOtt

D¾q°¥ IuOfOW.

a) –x

b) x/y

c) x%y

d) –x + –y

ARsæË]¤

(2)

(3)

(2)

(1)

(1)

(1)

(2)

(3)

(2)

(1)

(1)

(1)



Turn OverK-824 5

652

OR

Consider the following

statement.

int Length;

Then what is the difference

between (a) and (b)?

a) Length = 50

b) Length = = 50

15. Arrange the following memory

or storage devices on the base of

their operation speed in

ascending order.

a) Hard Disk

b) Cache

c) RAM

d) Registers

16. List the different stages in

programming.

17. Classify the following identifiers

valid or invalid. If invalid, give

a reason.

a) Length_1

b) _Length1

c) Length 1

d) 1Length

ARsæË]¤

fLRu fÐ]q]¨OÐ j]¡SÇwU

kq]Ye]¨OW.

int Length;

BReË]¤ fLRu fÐ]q]¨OÐ

j]¡SÇwU  (a) pOU  (b) pOU fÚ]sOtt

v|f|LyU IuOfOW.

a) Length = 50

b) Length = = 50

15. fLRu krpOÐ yUnqe

DkWqe°Rt AvpORa Nkv¡¾j

SvYfpORa Aa]òLj¾]¤

BSqLze NWo¾]¤ IuOfOW.

a) Hard Disk

b) Cache

c) RAM

d) Registers

16. SNkLNYLo]UY]Rs v]vi ZŸ°¥

IuOfOW.

17. fLRu fÐ]q]¨OÐ Apc£]lprO

W¥ AjOvhj}pU BSeL AsæSpL

IÐV WLqeyz]fU IuOfOW.

a) Length_1

b) _Length1

c) Length 1

d) 1Length

(3)

(2)

(2)

(4)

(3)

(2)

(2)

(4)
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18. A part of bio data of a student is

given. Identify the data types

which we can use to store and

process these data.

Roll_Number : 34

Age : 17

Sex : M

Mob_Number : 8181818181

Height_In_Cm : 152.8

Pincode : 690601

19. State weather the following
statement are true or false. If
false, give a reason.

18. KqO v]h|L¡À]pORa v|©]
v]vq¾]Rs \]s nLY°¥ \OvRa
S\¡¾]q]¨OÐO. CT ScãWRt
WUk|PŸr]¤ yPƒ]¨OÐf]jOU
yUyVWq]¨OÐf]jOU AjOSpL^|
oLp Scã RRãkOW¥ IuOfOW.

Roll_Number : 34

Age : 17

Sex : M

Mob_Number : 8181818181

Height_In_Cm : 152.8

Pincode : 690601

19. fLRu fÐ]q]¨OÐ j]¡Shw°¥

wq]pLSeL RfãLSeL IÐV

WLqeyz]fU IuOfOW.

(3)

20. URL Nkf]j]iLjU R\áOÐfV

pPe]SlLU r}SyL¡yV SsLSWã¡

IÐLeSsæL. C£¡Rjã]sOtt KLSqL

r}SyL¥y]jOU KqO JW}WQf URL
DºLp]q]¨OU A°RjRpË]¤ fLRu

fÐ]q]¨OÐ URL Rs ZaW°¥

Sv¡f]q]\ÿV IuOfOW.

http://www.dhsekerala.gov.in/
index.html

a) Network protocol (R£ SkqV)

b) Domain name  (R£ SkqV)

c) File name (R£ SkqV)

20. URL stands for Uniform
Resource Locator. Every
resource on the internet has a
unique URL. Then classify the
following URL on the basis of

http://www.dhsekerala.gov.in/
index.html

a) Network protocol

b) Domain name

c) File name

a) Break statement is essential in switch

b) For loop is an entry controlled loop

c) Do .......... while loop is an entry controlled loop

d) Switch is a selection statement.

(4)

(3)

(3)

(4)

(3)
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21. WAN, LAN Cv fÚ]sOtt v|f|LyU

IuOfOW.

22.  A = 5, B = 4, C = 3, d = 4,

21. How is a WAN different from a

LAN?

22. If A = 5, B = 4, C = 3, d = 4, then

what is the result in X after the

following operation?

X = a + b – c * d

OR

Is there any difference between

(a) and (b) by considering the

following statement?

char Gender;

(a) Gender = 'M';

(b) Gender = "M";

23. Your friend Ravi purchased a
new PC for his personal use.
Mention the components
required to connect this PC to
internet.

24. Compare the advantages and

disadvantages of implementing

e-Business.

25. Compare Dot Matrix Printer

(DMP). Inkjet Printer, Laser

Printer and Thermal Printer on

the basis of their working speed,

quality of printing and expense

for printing.

A°RjpLReË]¤ fLRu fÐ]q]&

¨OÐ NW]p¨V SwxU X Rs v]s

IÍLp]q]¨OU?

X = a + b – c * d

ARsæË]¤

fLRu fÐ]q]¨OÐ j¡ShwU

kq]Ye]¨OW.

char Gender;
A°RjpLReË]¤ (a) , (b) Cv

fÚ]sOtt v|f|LyU IuOfOW.

(a) Gender = 'M';

(b) Gender = "M";

23. j]°tORa yOzQ¾V qv] KqO kOf]p

WUk|PŸ¡ vL°]. ApL¥¨V CT

WUk|PŸr]Rj C£¡Rjã]Ss¨V

mÌ]Õ]¨OvL¢ Bvw|oLp

ZaW°¥ IuOfOW.

24. e-Business NkSpLY¾]¤

vqO¾OÐfORWLºOtt YOe°tOU

Sjq]aLvOÐ RvsæOv]t]WtOU

v]vq]¨OW.

25. fLRu krpOÐ Nk]£rOWRt

AvpORa Nkv¡¾j SvYf,

A\ÿa]pORa SoÓ, A\ÿa]¨OSvº]

vqOÐ R\svV CvpORa

Aa]òLj¾]¤ fLqfo|U R\pVfV

IuOfOW.

Dot Matrix Printer (DMP),
Inkjet Printer, Laser Printer,
Thermal Printer

(5)

(3)

(3)

(3)

(3)

(3)

(5)

(3)

(3)

(3)

(3)

(3)
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26. Rewrite the following code
using else if ladder.
#include<iostream>

using namespace std;

int main()

{

int colour;

cout<<"Enter a number

between 1 and 4:";

cin>>colour;

switch (colour)

{

case 1:

cout<<"Red";

Break;

case 2:

cout<<"Green";

break;

case 3:

cout<<"Blue";

break;

default:

cout<<"wrong input";

}

}

OR

Write a C++ program to find the
biggest number from 3 given
numbers.

26. fLRu fÐ]q]¨OÐ SNkLNYLU else if
DkSpLY]\ÿV oLã] IuOfOW.

#include<iostream>

using namespace std;

int main()

{

int colour;

cout<<"Enter a number

between 1 and 4:";

cin>>colour;

switch (colour)

{

case 1:

cout<<"Red";

Break;

case 2:

cout<<"Green";

break;

case 3:

cout<<"Blue";

break;

default:

cout<<"wrong input";

}

}

ARsæË]¤

fÐ]q]¨OÐ oPÐO yUX|Wt]¤

JãvOU vs]p yUX|

WRº¾OÐf]jOtt KqO C++
SNkLNYU IuOfOW.

(5)
(5)

(5) (5)



Turn OverK-852 1

653Reg. No. .......................................

Name ............................................

Part - III

MATHEMATICS (COMMERCE)

Maximum : 80 Scores
Time : 2½ Hours

Cool off time : 15 Minutes

653F.Y.
March 2017

      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.
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We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q

SkÕr]¤¾RÐ DºLp]q]¨eU.
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1. Let { }1, 2, 3, 4, 5, 6, 7, 8, 9U = ,

{ }1, 2, 3, 4A= and

{ }4, 5, 6, 7B=

a) A B∩ = .........

i) {1, 2, 3, 4} ii) {6, 7}

iii) {1, 2} iv) {4}

b) Find A – B and A′ .

c) Verify that A – B = A B′∩

2. Let A = {1, 2, 3} and B = {1, 3, 5}.

The relation :R A B→  is
defined by .......

( ){ }, : , ,x y x y x A y BR < ∈ ∈= .

a) R = ............

i) ( ) ( ) ( ) ( ){ }1,3 , 2,3 , 1,5 , 2,5R=

ii) ( ) ( ) ( ) ( ){ }1,1 , 5,1 , 3,2 , 5,3R=

iii) ( ) ( ) ( ) ( ){ }3,1 , 5,1 , 3,2 , 5,3R=

iv) ( ) ( ) ( ){ 1,3 , 1,5 , 2,3 ,R=

( ) ( )}2,5 , 3,5

b) Write the domain and range

of R.

c) Sketch the graph of the

function :f R R→  defined

by ( ) 3 2x xf = + .

1. { }1, 2, 3, 4, 5, 6, 7, 8, 9U = ,

{ }1, 2, 3, 4A= , { }4, 5, 6, 7B=
BpL¤ ............. .

a) A B∩ = .........

i) {1, 2, 3, 4} ii) {6, 7}

iii) {1, 2} iv) {4}

b) A – B , A′  Cv WLeOW.

c) A – B = A B′∩ BSeL IÐV

kq]SwLi]¨OW.

2. A = {1, 2, 3} , B = {1, 3, 5}.

:R A B→  IÐfV A p]¤ j]ÐV  B
p]Ss¨Ott mjVioLeV.

( ){ }, : , ,x y x y x A y BR < ∈ ∈= .

a) R = ............

i) ( ) ( ) ( ) ( ){ }1,3 , 2,3 , 1,5 , 2,5R=

ii) ( ) ( ) ( ) ( ){ }1,1 , 5,1 , 3,2 , 5,3R=

iii) ( ) ( ) ( ) ( ){ }3,1 , 5,1 , 3,2 , 5,3R=

iv) ( ) ( ) ( ){ 1,3 , 1,5 , 2,3 ,R=

( ) ( )}2,5 , 3,5

b) R R£ RcLRRo¢, SrµV Cv

IuOfOW.

c) :f R R→ , ( ) 3 2x xf = + .
IÐ lUYVxR£ NYLlV vq¨OW.

(1)

(1)

(2)

(3)

(2)

(2)

(1)

(1)

(2)

(3)

(2)

(2)
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3. a) Match the following.

       A       B

a) ( )xSin π + i) Cosx−

b) 2
xSin π +  

ii) Sinx

c) 2
xCos π −  

iii) Sinx−

d)
3
2

xSin π +  
iv) Cosecx

v) Cosx

b) If 2
3

Sec x −= and

2Cosecx =  then the

quadrant in which x lies .........

i) 1st quadrant

ii) 2nd quadrant

iii) 3rd quadrant

iv) 4th quadrant

4. Consider the statement

( ) ( ) 2:1 3 5 ......... 2 1n n nP + + + − = .
Prove the statement by the
principle of Mathematical
induction.

5. a) The multiplicative inverse of

1 ...........i+ =

i)
1

2
i+

ii)
1
2

i− +

iii)
1

2
i−

iv)
1
2

i− −

b) Write the polar form of the

complex number 1z i= + .

c) Solve : 2 2 2 0x x− + =

3. a) S\qOUka] S\¡¨OW.

       A       B

a) ( )xSin π + i) Cosx−

b) 2
xSin π +  

ii) Sinx

c) 2
xCos π −  

iii) Sinx−

d)
3
2

xSin π +  
iv) Cosecx

v) Cosx

b) 2
3

Sec x −= , 2Cosecx =

BpL¤ x ò]f]R\áOÐ

W~LNc£V .............. BeV.

i) 1&LU W~LNc£V

ii) 2&LU W~LNc£V

iii) 3&LU W~LNc£V

iv) 4&LU W~LNc£V

4. ( ) ( ) 2:1 3 5 ......... 2 1n n nP + + + − = .
IÐ NkyVfLvj kq]Ye]¨OW.

CT NkyVfLvj Nk]¢y]Õ]¥ KLlV
oL¾oLã]¨¤ C¢cWVx¢
DkSpLY]\ÿV Rft]p]¨OW.

5. a) 1 i+  pORa YOej v]kq}fU

..................... BeV.

i)
1

2
i+

ii)
1
2

i− +

iii)
1

2
i−

iv)
1
2

i− −

b) 1z i= +  IÐ SWLUkæWVyV jÒ¡

SkLtL¡ qPk¾]RsuOfOW.

c) j]¡iLqeU R\áOW:
2 2 2 0x x− + =

(1)

(1)

(4) (4)

(1)

(4)

(3)

(1)

(1)

(1)

(4)

(3)
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6. a) Consider the inequality

3 7 8x − > , where x is a real
number. Then the solution is ...
i) ( )5,∞ ii) [5, )∞

iii) ( )5,− ∞ iv) [ 5, )− ∞

b) Express the above solution
on a number line.

c) Solve the following system of
inequalities graphically

2 8
2 8

0
0

x y
x y

x
y

+ ≤
+ ≤

≥
≥

7. a) There are 15 persons in a
party and each person shakes
hands with another. Then the
total number of hand shakes
is ............
i) 15

2P ii) 15
2C

iii) 15! iv)
15!
2!

b) If 1
3 32 n nP P+=⋅ , then find

the value of n.
c) Find the number of 2 digit

numbers formed from the
digits 1, 2, 3, 4, 5 and 6, if the
repetition of the digits is
allowed.
How many of them are even
numbers?

OR
a) If 10 12

n nC C= , then the
value of n = ..........
i) 2 ii) 10 × 12

iii) 22 iv)
10 12

2
×

b) Given 5 line segments of
lengths 2, 3, 4, 5, 6 units. Then
the number of triangles that
can be formed by joining
these lines.

6. a) x SqX}p yUX| BW¾¨ v]iU
3 7 8x − >  IÐ Ayof
kq]Ye]¨OW. Cf]R£ oPs|U:

i) ( )5,∞ ii) [5, )∞

iii) ( )5,− ∞ iv) [ 5, )− ∞

b) oOWt]¤ WRº¾]p oPs|U yUX|L
SqXp]¤ AapLtRÕaO¾OW.

c) \OvRa RWLaO¾]q]¨OÐ
AyofWtORa y]ð¾]R£ oPs|U
NYLlV vq\ÿV WLeOW.

2 8
2 8

0
0

x y
x y

x
y

+ ≤
+ ≤

≥
≥

7. a) KqO kL¡Ÿ]p]¤ kRËaO¨OÐ 15
Sk¡ kqyVkqU Sx¨V zL¢cV
j¤WOÐO. BRW Sx¨V
zL¢cOWtORa I¹U ...............

i) 15
2P ii) 15

2C

iii) 15! iv)
15!
2!

b) 1
3 32 n nP P+=⋅  BpL¤ n R£

v]s WLeOW.

c) 1, 2, 3, 4, 5 , 6, IÐ} A¨°¥
DkSpLY]\ÿ V (A¨°¥
Bv¡¾]¨LU) INf qº¨
yUX|W¥ DºL¨LU?
Cvp]¤ INf yUX|W¥ CqŸ
yUX|W¥ Bp]q]¨OU.

ARsæË]¤

a) 10 12
n nC C=  BpL¤ n R£

v]s .............

i) 2 ii) 10 × 12

iii) 22 iv)
10 12

2
×

b) 2, 3, 4, 5, 6 pPe]ãV j}toOtt 5
SqXW¥ fÐ]q]¨OÐO. Cv
DkSpLY]\ÿV INf Nf]SWLe°¥
j]¡o]¨LU.

(1)

(1)

(2)

(1)

(1)

(1)

(2)

(3)

(2)

(1)

(1)

(2)

(1)

(1)

(1)

(2)

(3)

(2)
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c) Find the number of triangles

which can be formed from 12
points which are
noncollinear.
If the above 7 points are
collinear, how many
triangles can be formed?

8. a) The middle term in the

expansion of ( )441 x+  is ......
i) 21st term ii) 22nd term
iii) 23rd term iv) 24th term

b) If 21st and 22nd terms of the

expansion of ( )441 x+  are

equal, then find the value of x.

9. a) If pth term of an A.P. is 'q' and

qth term is 'P', then rth term is ...
i) q p r− + ii) p q r− +
iii) p q r+ + iv) p q r+ −

b) Sum of all terms of an infinite
geometric series is 5 times
the sum of odd terms. Then
find the common ratio.

c) In an A.P., 5 times the 5th

term is equal to 8 times the
8th term. Find 13th term.

OR

a) If a, b, c, d, e, f are in A.P.,

then e – c is equal to ..........

i) 2 (c – a) ii) 2 (f – d)

iii) 2 (d – c) iv)  (d – c)

b) If 10th term of a G.P. is 9 and

4th term is 4, then find 7th

term.

c) 7th term of an A.P. is 40, then

find the sum of first 13 terms.

c) RWLt}j]p¡ AsæL¾ 12
m]ÎO¨¥ DkSpLY]\ÿ V  INf
Nf]SWLe°¥ j]¡o]¨LU.
Cvp]¤ 7 m]ÎO¨¥ KSq
SqXp]¤ BpL¤ INf
Nf]SWLe°¥ j]¡o]¨LU.

8. a) ( )441 x+  R£ v]kOs}Wqe¾]

Rs oi| khU .............. .

i) 21&LU khU ii) 22&LU khU

iii) 23&LU khU iv) 24&LU khU

b) ( )441 x+  R£ v]kOs}Wqe¾]¤

21 DU 22 DU kh°¥ fOs|oLpL¤
x R£ v]s WLeOW.

9. a) KqO A.P pORa P&LU khU q DU

q&LU khU P DU BpL¤ r&LU khU.

i) q p r− + ii) p q r− +
iii) p q r+ + iv) p q r+ −

b) KqO C¢l]j]ãV S^|LoNa]WV
y}q}y]R£ IsæL kh°tORapOU
fOW KÐ]a v]Ÿ kh°tORa
fOWpORa 5 oa°]jV fOs|oLeV.
IË]¤ RkLfOYOeWU WLeOW.

c) KqO A.P pORa 5&LU kh¾]R£ 5
oa°OU 8&LU kh¾]R£ 8 oa°OU
fOs|oLeV. IË]¤ 13&LU khU
WLeOW.

ARsæË]¤

a) a, b, c, d, e, f  IÐ]v KqO A.P
p]Rs fOa¡\ÿpLp kh°¥
BpL¤ e – c IÐfV .............

i) 2 (c – a) ii) 2 (f – d)

iii) 2 (d – c) iv)  (d – c)
b) KqO G.P pORa 10&LU khU 9 DU

4&LU khU 4 DU BeV. 7&LU khU

WLeOW.

c) KqO A.P pORa 7&LU khU 40
BpL¤ Bh| 13 kh°tORa fOW

WLeOW.

(1)

(2)

(1)

(3)

(1)

(1)

(2)

(2)

(2)

(2)

(1)

(2)

(1)

(3)

(1)

(1)

(2)

(2)

(2)

(2)
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10. a) The slope of the line passing

through the points (–3, 6) and
(4, –5) is ...........

i)
11
7
−

ii)
7

11
−

iii)
7

11 iv)
11
7

b) A line is passing through
(2, 2) and is perpendicular to
the line 3 3x y+ = . Find its
equation.

c) Find the x intercept and y
intercept of the line
3 4 5x y+ = .

OR

a) The distance of the point
(x, y) from X axis is ..........

i) x ii) y

iii) x iv) y

b) Find the equation of the line
passing through (2, 3) and
the point of intersection of
the lines 3 5 0x y− =  and
6 7 0x y− = .

c) Find the equation of the line
parallel to the above line
and passing through the
point  (1, 1).

11. a) Find the equation of the
circle having radius 5 and
concentric with circle

2 2 6 4 3 0x y x y+ − − − = .

b) The equation of the parabola
with vertex at (0, 0), axis
along y-axis and passing
through the points (6, –3).

OR

10. a) (–3, 6),(4, –5) IÐ} m]ÎO¨&
t]sPRa WaÐO SkLWOÐ
SqXpORa SyæLkV ............ ..

i)
11
7
−

ii)
7

11
−

iii)
7

11 iv)
11
7

b) (2, 2)  IÐ m]ÎOv]sPRa WaÐO

SkLWOÐfOU 3 3x y+ =  IÐ

SqX¨V sUmvOoLp SqXpORa
yovLW|U WLeOW.

c) 3 4 5x y+ =  IÐ SqXpORa x
&C£¡RykVãV, y&C£¡RykVãV
IÐ]v WLeOW.

ARsæË]¤

a) X Aƒ¾]¤j]ÐV (x, y) IÐ
m]ÎOv]Ss¨Ott AWsU ............
BeV.

i) x ii) y

iii) x iv) y

b) 3 5 0x y− =  , 6 7 0x y− =  IÐ}

SqXWtORa yUYo m]ÎOvOU
(2, 3) IÐ m]ÎOvOU
SpL^]Õ]\ÿOºLWOÐ SqXpORa
yovLW|U WLeOW.

c) oOWt]¤ WRº¾]p SqX¨V
yoLÍqoLp] (1, 1) IÐ
m]ÎOv]sPRa WaÐO SkLWOÐ
SqXpORa yovLW|U WLeOW.

11. a) 2 2 6 4 3 0x y x y+ − − − =  IÐ

vQ¾¾]R£ SWNÎvOU BqU 5
DU Bp vQ¾¾]R£ yovLW|U
WLeOW.

b) (6, –3) sPRa WaÐOSkLWOÐfOU
(0, 0) Rv¡aWVyV BpfOU
y&AƒU BWVy]yV BpfOoLp
kqLSmLtpORa yovLW|U
WLeOW.

ARsæË]¤

(1)

(2)

(2)

(2)

(1)

(2)

(2)

(2)

(1)

(2)

(2)

(2)

(1)

(2)

(2)

(2)
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OR

a) Consider the ellipse
2 2

1
16 12
x y+ = .  Find the foci and

eccentricity of the ellipse.

b) Find the equation of the

hyperbola whose length of
latusrectum is 8 and

eccentricity is 3
5

.

12. a) A point in the 7th octant is .....

i) (2, 3, –5) ii) (–4, –2, 1)

iii) (–5, –4, –5) iv) (4, –2, 4)

b) The plane XOZ divides the

join of (1, –1, 5) and (2, 3, 4) in

the ratio :1λ . Find the value

of λ .

13. a) If 3 2 1y x x= − + , then find
dy
dx

.

b) Find the derivative of
Sin x by First Principle.

14. a) Find the component
statements of the following
compound statement.
' 5  is irrational or 3 is
rational'.

b) By the contradiction method,
prove that ' 2  is irrational'.

(2)

(2)

(2)

(1)

(1)

(3)

ARsæË]¤

a)
2 2

1
16 12
x y+ =  IÐ Is]kVyV

kq]Ye]¨OW. Is]kVy]R£

SlL¨yOW¥, IWVy¢Na]y]ã]

Cv WLeOW.

b) sLãyV RrWVã¾]R£ j}tU 8 DU

IWVy¢Na]y]ã] 
3
5

 DU Bp

RRzÕ¡SmLtpORa yovLW|U
WLeOW.

12. a) 7&LU KWVã£]sOtt m]ÎOvLeV
..............

i) (2, 3, –5) ii) (–4, –2, 1)
iii) (–5, –4, –5) iv) (4, –2, 4)

b) (1, –1, 5), (2, 3, 4) IÐ}

m]ÎO¨¥ SpL^]Õ]\ÿOºLWOÐ

SqX XOZ fsU :1λ  IÐ AUw

mjVi¾]¤ XeVc]¨OÐO. λ

pORa v]s WLeOW.

13. a) 3 2 1y x x= − +  BpL¤ 
dy
dx

WLeOW.

b) lðV Nk]¢y]Õ]¥ DkSpLY]\ÿV

Sin x  R£ Rcr]Svã}vV WLeOW.

14. a) \OvRa RWLaO¾]q]¨OÐ
SWLÒTºV SðãVRo£]R£
WSÒLe£V SðVãVRo£OW¥
WLeOW.

' 5  is irrational or 3 is
rational'.

b) SWL¦Nac]WVx¢ q}f]

DkSpLY]\ÿV 2  An]ÐWRoÐV

Rft]p]¨OW.(2)

(2)

(2)

(2)

(2)

(1)

(1)

(3)

(2)

(2)
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15. Consider the following data.

40, 60, 68, 78, 54

a) Find the median.

b) Find the mean deviation
about the median.

16. Consider the following data.

2, 4, 6, 8, 10

a) Find arithmetic mean.

b) Find the variance and
standard deviation.

17. a) The probability of an
impossible event is .........
i) 2 ii) 1
iii)

1
2 iv) 0

b) Consider the random
experiment of tossing 3 coins
simultaneously.
i) Describe the sample

space.
ii) Consider the events

E1 : Getting two heads
or two tails.

E2 : Getting at least two
heads.

E3 : Getting atmost two
heads.

Find ( ) ( ) ( )1 2 3, ,P E P E P E

and ( )1
1P E

(2)

(1)

15. \OvRa RWLaO¾]q]¨OÐ Scã

kq]Ye]¨OW.

40, 60, 68, 78, 54

a) o}c]p¢ WLeOW.

b) o}c]p¢ By×hoL¨] o}¢

c}v]Spx¢ WLeOW.

16. \OvRa RWLaO¾]q]¨OÐ Scã

kq]Ye]¨OW.

2, 4, 6, 8, 10

a) Aq]fVRoã]WV o}¢ WLeOW

b) Svq]p¢yV, ðL¢Sc¡cV

c}v]Spx¢ Cv WLeOW.

17. a) yLi|osæL¾ KqO Cv£]R£

SNkLmm]s]ã] ...................

i) 2 ii) 1

iii)
1
2 iv) 0

b) oPÐV jLep°¥ KSq yopU

SaLyV R\áOÐ rL¢cU

IWVyVkq]Ro£V kq]Ye]¨OW.

i) yLÒ]¥ Sy×yV IuOfOW.

ii) Cv£OW¥ kq]Ye]¨OW:–

E1 : qºV Rz¸OWStL qºV

SasOWStL W]ŸOW.

E2 : qºV RzR¸Ë]sOU

W]ŸOW.

E3 : kqoLvi] qºV

Rz¸OW¥  W]ŸOW.

( ) ( ) ( )1 2 3, , ,P E P E P E

( )1
1P E  Cv WLeOW.

(3)

(1)

(4)

(1)

(3)
(2)

(1)

(3)

(1)

(4)

(1)

(3)
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